BIHE 3
XMLZXBBA A &Z v & ({EBEFIZ £ME#E)

<7xml version="1.0" encoding="UTF-8"7>
CUCCT, TN200100LVEL ITSVersion="YML_). 0" xsi:schemalocation="urn:hlT-exg:v3 HCCI_TN200100UV0L. xsd” xmlns="urn:hl7-org:v3d” xmlnsixsi="http://wew, =3, org/
2001/XMLSchexa—instance”™>
¢id extension="N.1,2" root="2. 16.840. L. 113683.3.689.2.1.3.22"/>
¢i— N.1.2: Batch Number =)
<creationfime value="201012141516177/>
{i-- N.1.5: Date of Baich Tramsmission —>
(responsehodeCode code="1"/>
Zinteractionld extension="MCCI_IN200100UVOl” root="2. 16.840, 1. 113883, 1. 67/>
¢nape code="N, 1, 17 codeSystem="2. 16. 840. 1. 113883, 3.989.2. 1.1, 17/>
{1 N.1.1: Type of Messages in Batch —>
¢{1— Mossage #1 —>
{PORR_INO40016UV>
¢id extension="K. 2.r. 1" root="2.16.840.1 113883 3.986.2,1.3.1°/>
€l N.2.r. 10 Hessage Identifier —>
{creationTime valye="201012141516177/>
¢l—~ N.2.r.4: Pate of Message Creation —>
¢interactionld extension="PORR_ING49016UV" root="2, 16, 840. 1. 113883.1.6"/> .
{processingCode code="P"/>
(processingiodeCode code="T"/>
<aceeptAckCode code="AL"/>
¢receiver typeCode="RCV™>
<device classCode="DEV" determinerCode="ENSTANCE™>
<id extension="N.Z.r.3" root="2 16,840 1. 113883. 3. 989.2.1.3. 127/>
¢l-~ §.2.r.3: Message Receiver Identifier —>
</device? :
</receiver
<sender typeCode="SND™»
- <device classCode="DEV" determinerCode="ENSTANCE™>
<id extension="N. 2.1 2" root="2.16,840,1, 113883, 3.989. 2. 1. 3. 117/
<l-— N. 2.1 2: Message Sender Identifier —>
{/device>
{/sender>
{controiictProcess classCode="CACT” moodCode="EVN™>
eode code="PORR_TEO4D016LY” cadeSysten="2. 16, 840. 1, 113883, 1, 187/
¢!— HL7 Trigger Event 1D ——2
<effectiveTime value="201412141516177/>
¢l €. 1.2: Date of Creation »=>
<gubject typeCade="SUBI™>
CinvestigationEvent classCode="INVSTG” wmoodCode="EVN™>
<id extension="C, 1. 1% reot="2, 16, 840, 1, 113883, 3.969. 2. ..3. 17/
¢i— €. 1.1: Sender’ s {case) Safety Report Ynique Identifier —>
{id extension="C. 1. 8. 17 root="2. 15, 840. 1. 113883, 3,989, 2.1, 3.27/>
4w €.1.8. 17 Woridwide Unigue Case Identification Number -->
¢id extension="J2. 1b" root="2, 16,840, 1. 113883.3.989.5.1.3.2.3. 1"/
<t 22832 1b: EMES (ER) -
<code codes"PAT_ADV_EVNT™ codeSystem="2. 16, 840, 1. 113883, 5,47/
CtextPH, [</text)
{I-= . 1 Cuse Norrative Including Ciinical Course, Therspeutic Heasurcs, Outeome and Additional Relevant Informatien -->
{statusCode code="active™/>
e 881271 BT, RETER —>
{effectiveTine?
Clow value="260%0101"/>
¢l-- €, 1,4: Date Report ¥as First Reccived from Source —>
{feffectiveTima?
LavailabilityTime value="200901017/>
<l— C.1.5: Date of Most Recent Information for This Report —>
<reference typeCode="REFR™>
<document classCode="DOC" moodCode="EVN">
<code code="1" codeSysten="2, 16, 840, 1, 113883, 3. 989. 2. 1. 1. 27" displayName="documentsHeldBySender™/>
<titledC L6 L r 1</titlel
¢l=—— €, 1,6.1.r.1: Pocuments Held by Seander (repest as necessary) §1 —>
(text mediaType="application/pdf” representation="B64™>C. 1. 6. L. r. 2¢/text>
<l-— C. 1.6 Lr 2! Included Docunents #1 ~>
{/document>
{/reference>
{reference typeCode="REFR™>
<docunent classCode="DOC” moodCode="EVN™>
<code code="1" codeSyaten="2, 16, 840, 1, 113883, 3. 989. 2. 1. 1. 27" displayName="documentsHeldBySender™/>
<title>C. 1.6, L r. 1</titled
¢l— €, 1.6, 1.r. 1: Documents ileld by Sender (repest as necessary} §2 --»
¢toxt mediaType="image/jpeg” represeniation="B64” compression="DF >C. 1.6. L. r.2{/text?
¢l—- C.1.6.L.r.2: Included Documents H2 —>
</document
¢/reference>



{reference typeCode="REFR™>
<document classCode="DOC" moocdCode="EVN™>
Ceode code="2" codeSystem="2. 16, 840, 1. 113883, 3.989, 2.1, 1. 27" displayName="literatureReference”/>
<title>J2. 17, rd/title>
¢l @a8J2. 17. r B /MIRONE # —
{text mediaType="application/pdf” representation="B64">C. 4.r. 2{/text>
¢} C.4.r.2: Included Documents §1 —>
<hibliographicDesignationText>C. 4, r, 1</bibliographicDesignationText?
4~ C.4.r. 11 Literature Reference(s) #1 ——
<participation typeCode="AUT">
{assignedBntity classCode="ASSIGNED™>
{representedOrganization clasaCode="ORG” determinerCode="INSTANCE™>
{agloentedEntity classCode="LOCE™>
Clocation classCode="COUNTRY” determinerCode="INSTANCE™>
Ceode code="]2, 15, r” codeSystem="1,0,3166. 1.2.27/>
<I-- @88J2. 15 r A[E #1 —
</location>
{/asLocatedEntity>
</representedOrganization’
</assignedEntity>
{/participation>
{/document?
{/reference>
<referonce typeCode="REFR™>
{document classCode="D0C" moodCode="EVN™> .
¢code code="2" codeSysten="2. 16, 840, 1, 113883, 3. 989. 2. 1. 1. 27" displayName="1iteratureReference”™/>
{ritlerJ2. 17, réftithe>
<l Baay2. 17 r W /WMRONHE k2 —
{text mediaType="application/pdf” representation="B647>C. 4, 1. 2{/text>
¢l C.4.r. 2! Included Documents #2 —>
<hibliographicDesignationText>C, 4, r. 1<{/bibliographichesignationText?
<!— C.4.r. 1 Literature Refercnce(s} #2 —>
¢participation typeCode="AUT >
{assignedEntity classCode="ASSIGNED™
{representodOrganization classCode="0RG" determinerCode=" INSTANCE™>
{aslocatedEntity classCode="LOCE™>
<location clagsCode="COUNTRY” determinerCode="INSTARCE™>
Ccode code="J2, 15, r" codeSystem="1. 0. 3166. 1.2, 27/
(- B88J2, 16, r MEHE 2 —
{/locatieon?
{/asLacatedEntity>
</representedOrganizotiond
{fassignedEntityd
{/participation?
</document>
<{/referonce’
Ccomponent typeCode="COMP™>
(adversclventAssesszent classCode="INVSTG™ moodCode="EVN™>
{subjectl typeCode="SBJ™>
{primaryRole classCode="INVSR}™>
<playerl classCode="PSN” determinerCode="JNSTANCE™>
<name>D. 1</name>
¢l~— D.1: Patient (name or initials) —>
¢administrativeGenderCode code="D.5" codeSystem="1,0,52187/>
Clwm 0.8 Sex ——>
<birthTime value="200801017/>
<l-— 1.2, 1: Pate of Birth ~—>
¢deceasedTime value="200801017/>
<l-— 0.8.1: Date of Death —>
<asldentifiedEntity classCodes”IDENT™>
<id extension="D, I. L. 1" root="2. 16. 840, 1. 113883, 3.089.2. 1.3.7"/>
<[+ P.1.1.1: Patient Medical Record Number(s) and Source(s) of the Record Number (6P Medical Record Number) —>
<code code="1" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 4" dispiayName="GP"/>
</asIdentifiedEntity?
<asldentifiedEntity classCode="{DENT">
<id extension="D. 1. 1.2" rooct="2 16. 840, 1, 113883, 3. 989,.2,1.3.87/>
¢<l— D.1. 1.2 Patient Medieal Record Number(s) and Source(s) of the Record Number (Specisiist Record Number) —>
Ceode code="2" codeSystem="2, 16, 840, 1, 113883, 3. 989, 2. 1. 1. 4" displayName="Specialist™/>
{/asIdentifiedEntity>
¢asldentificdintity classCode="IDENT™>
<id extension="D. 1. 1. 3" root="2. 16, 840, 1, 113883, 3,989,2.1.3.9"/>
¢I— P, 1.1, 3: Patient Medical Record Number(s) and Source(s) of the Record Number (Hespital Record Number) ~>
<code code="3" codeSystem="2. 16, 840. 1. 113883, 3. 889, 2. 1. 1. 4" displayName="llospital Record”/>
{/asldentifiedEntity>
¢asldentifiedEntity classCode="IDENT">



¢id extension="D. 1. 1.4" reot="2.16.840, 1. 123883.3.989. 2. 1. 3. 10°/> .
¢lwe D.1. 1. 4¢ Patient Medical Record Number{z) and Source(s) of the Record Number (Investigation Number) —>
{code code="1" codeSystem="2. 16. 840, 1. 113883. 3. 088 2. 1. 1. 47 displayNane="Investigation”/>
{/asldentifiedEntity>
<role clpssCode="PRS">
¢code code="PRN” codeSystem="2. 16, 840, 1. 113883. 5. [117/>
<associatedPerson clasaCode="PSH™ determinerCode="INSTANCE™>
<name>D. 10. 1{/name>
{{-— D, 10, 1: Parent Edentification —%
{administrativeGenderCode code="D.10,8" codeSystem="1. 0. 52187/
{1-- D.10.6: Sex of Parent —2
<birthTime value="20080101"/>
{1-- [, 10.2.1: Date of Birth of Parent —>
{/asscciatedPersony
{subject0f2 typeCode="SB]™>
{chaervation classCode="0BS™ moodCode="EVN™>
¢code cade="3" codeSystem="2, 16, 840, 1. 113883, 3, 989. 2. L. 1. 18" displayName="age”/>
Cvalue xsiitype="PQ" value="10" unit="D.10.2.2b7/>
¢I-- 1. 10. 2. 257 Age of Perent {number) —->
¢fem D1, 10. 2. 2b: Age of Parent {unit) —>
¢/obgervation?
</sub ject0f2>
<subject0f2 typcCode="SB}™>
¢observation elassCode="085" moodCode="EVN™>
(eade cado="22" codeSystem="2. EG. B40. 1. 113682, 3. 989, 2. 1. 1. 9" disployName="lastMenstruaiPeriodDats”/>
¢value xeittype="T5" value="200901017/>
¢!~ D.10.3: Last Menstrual Period Date of Parent —>
{fobservation>
</sub ject0f2>
<sutbject{H? typeCodo="SB]">
{obzervation classCode="0B5" moodCode="EVN™>
(code code="7" codeSysten="2.16, 840, 1. 113883, 3. 685. 2. 1. 1. 19" displayName="bodyWeight”/>
<value xeiltype="PG” value="60" unit="kg"/>
<$— D, 10. 4! Body Weight {(kg} of Parent >
{/observation?
</sub joct0f2>
<subjectOf2 typeCode="5B]">
Cobservation classCode="0BS” moadCade="EVN">
¢eode code="17" codeSysien="2. 16. 840, 1, 113893, 3, 989. 2. 1. 1. 197 displayName="height™/>
{vatue xsittype="PQ" value="160" unit="cn"/>
<1-- D.10.5: Height (em) of Parent ——>
{/observation?
{/subject0f2>
¢subjectOf2 typeCode="SBI™>
(organizer ¢lassCode="CATEGORY" moodCade="EVN">
{code code="1" codeSystem="2. 16, 840. L. 113883. 3,989, 2. 1. 1. 20" dispiayName="TelevantMedicalllistoryAndConcurtentConditions"/>
<component typeCade="COMP™>
{observation e¢lsasCode="0BS" moodCode="EVN™>
¢eode code="D.10.7. L. r. 16" codeSysten="2. I6. 840, I, 113883, 6. 163" codeSystenVersion="D, 10.7. 1. x. La™/>
¢<l— [, 10, 7. 1. r. la: HedbRA Version for Medical History #1 —->
<l=- 0.10. 7. 1. r. Lb: Hedica)l Nistory (disease / surgical procedure/ etc.) (MedDRA code) #1 —>
<effectiveTime xsirtype="IVL_TS™>
¢low value="200901017/>
Clow 0.10.7. 1. x. 2¢ Start Dote 1 —>
<high value="200901017/
{l— D 10. 7. 1. . 4: End Date £1 ——>
</effectivetime>
<optboundReiationship? typeCode="COMP™>
<ohservation classCode="0BS" mooadCode="EVN™>
<code code="10" codeSystem="2. 16. B4C. |, 113883, 3,989, 2. 1. 1. 19" displayName="comment”/>
Cvalue xsiitype="ED73D. 10. 7. L. 1, 5</value?
Qo D10, 7. 1.1, B! Comments #1 —>
{/observation?
</outboundRelztionship2>
{inboundRelationship typeCode="HEFR™>
{ohservation clazsCode="0BS" moodCode="EVN™>
Ceode code="13" codeSystem="2, 16, 840, I, 113883, 3, U89, 2. 1. 1. 19" displayName="continuing”/>
Cvalue xsiitype="BL” value="true”/>
(Yo~ D 107 L1, 3: Continuing #1 —>
{/observation?
¢/inboundRelationship>
{/chservation?
{/component>
{component 1ypeCode="COMP™>
{observation ¢lassCode="0BS” moodCode="EVN™>



¢cade code="D.10.7.1.x. 1b” codeSystem="2. 16. 840, 1, 113883. 6. 163" codeSystemVersion="D. 10.7. L. 1. la"/>
¢I—— D.10. 7. L.r. 1a: MedDRA Verszion for Medical Histery 2 ——
¢l D, 1L 7. L. 1, 1b: Medieal History {(disease / surgical procedure/ ete.} (MedDRA code} #2 —>
LoffectiveTime xsi:type="IVL_TS™>
{low value="200901017/>
I=~ D.10.7. 1.r. 2! Start Date #2 —>
<high value="20090101"/>
<t— D. 10, 7.1, r, 4: End Date #2 ——> M
{/effectiveTine>
CoutboundRelationship2 typeCode="COMP™>
<observation classCode="0BS™ moodCode="EVN™>
{code codem"10" codeSystem="2. 16, B40. 1. 113883, 3. 985, 2. 1, 1. 18" disployName="comment”™/>
<value xsi:type="ED7>D, 10.7. 1. r. 5</value>
Clom D10, T, Lo r. 5! Comments #2 «>
{/observation>
¢/outboundRelationship2>
<inboundRelationship typeCode="REFR™>
{abservation ¢lassCode="0BS” moodCode="EYN">
<code code="13" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayNome="continuing”/>
Cvalue xsi:type="BL" volue="true”/>
<l— D.10.7. 1. 1. 3: Continuing #2 —>
</observation>
¢/inboundRelationship>
{/observation?
¢/component>
<component typeCode="COMP™>
{ohservation elaszsCode="0BS" moadCode="E¥NT>
<code code="18" codeSystem="2, 16. 840. 1. 113883, 3,989, 2. 1, 1. 19" displayName="historyAndConcurrentConditionText”/>
<value xsiitype="ED">D. 1C. 7. 2¢/value>
le= D, 10.7.2: Text for Relevant Medical History and Concurrent Conditions of Parent ——>
{/cbservation?
<fcomponent>
</organizer?
</subjectOf2>
<{subject0f2 typeCode="SBJ">
{arganizer classCode="CATEGORY™ moodCode="EVN™>
<code code="2" codeSystem="%2, 16, 840, 1, 113883, 3, 089, 2. 1. 1. 20" displayNeme="drughistory™/>
Ceomponent typeCodes"COMP™)
{substanceAdnministration classCode="SBADM™ moodCode="EVN™>
KeffectiveTime xsi!type="IVL_TS™
<low value="200801017/>
¢f— D, 10, 8. r, 4: Start Date #1 —>
<high value="20090k01"/>
4= D, 10,8.1. 5% End Date #l —>
{feffectiveTime>
{consumable typeCode="CSU™>
<instanceOfKind classCode="ENST™>
<kindOfPreduct classCode="¥MAT™ detcrminerCode="RIND™>
{zode code="D. 10.8.r. 2b" codeSystem="TBO-UPID" codeSystemVersion="D. 10.8, r. 2n"/>
<l=- D.10.8.r. 2a: MPID Version Date / Rumber #1 —>
&l 0, E0. 8. 1. 2b2 Hodicinal Product ldentifier (MPID) #1 —>
<pame>D, 10, 8. r. 1{/name>
v~ D I0. 8. 1. 1! Kame of Drug as Reported #1 —
£/kind0fPreduct>
</instanceQfKind>
{/congumable>
<outboundReiationship2 typeCode="RSON™>
Cobservation classCode="0B5" moodCode="EVN™>
{code code="19" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 197 displayName="indication™/>
<value xsi:type="CE” code="D. 10.8.r.6b" codeSystem="2. 16. 840, L. 113883, 6. 163" codeSystenVersion="D. 10.8.r.62"/>
<l== D. 10.8.r.6a: MedDRA Version for Indicatien #I —>
{I— D, 10.B.r, 6b: Indication (MedDRA code) #1 w->
{/chservation>
{/outboundRelationship2>
{outboundRtelationship? typeCade="CAUS™>
{observation elassCede="0BS" moodCode="EVN™>
{eode code="28" codeSystem="2. 16. 840. 1, 113883. 3. 989, 2. 1. 1. 197 displayName="reaction”/>
<value xsi:type="CE" code="D. 10.8.r. Tb" codeSystew="2. 16. 840, . 113883, 6. 163" codeSystenmVersion="D. 10.8.r.7a"/>
e~ D I0.B. 1. Ta® MedDRA Yersien for Reactien #1 —>
<l-- D.10.8.r.7b: Heactions (MedDRA code) #1 —>
</cheervation>
{/outhoundBelationship2>
</substanceddministration?
</component>
<component typeCode="COMP™>



<substanceAdministration ¢lassCode="SBADM™ moodCode="EVNT>
{offectiveTinme xsi:type="IVL_TS™>
Ciow value="200901C1%/> .
¢lw~ D.10.8.1.4: Start Date #2 —>
<high value="200901017/>
{t— 5, 10.8.r.5: End Date #2 -
{/effectivaTime>
{consumable typeCode="CSH">
¢instanceOfKind classCode="INST >
<kindOfProduct elsssCode="MAT determinerCode="KIND™>
<coda gode="D. 10. 8. 1. 35" codeSystom="TEB-PAPID” codeSysiemYersion="D, 10.8.x,327/>
¢l-— L 10, 8. r. 3a: PHPID Version Date / Number #2 —-2
<|— D.10.8.r. 3b: Pharmaceutical Product Tdentifier (PhPID) #Z ——>
<nawe>D. 10, 8, v, 1</namo?
<l— D, 18 8. r. 1 Hame of Drug as Reported 82 —>
{/kind0fProduct?
</instance0fKind>
{/consumsble>
<outhoundRelationship2 LypeCode="REON™?
Cobservation classCode="0UBS” moodCode="EVN™>
{code code="19" codeSyston="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 19” displayName="Indication”/>
¢value xsiitype="CE” code="D. 10. 8. r. 6b” codeSystem="2. 16. 840, L. 113883, 6. 163" codeSystenVersion="D. 10.8.r. 62"/
¢le= D.10.8.r.63: MedDRA Versien for Indication #2 —->
¢l— D.10.8.r.6b: Indicotion (MedDRA code) #2 —
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="CAUS™)
<observation classCode="0BS" moadCode="EVN™>
{cade code="28" codeSystem="2, 16. 840. 1. 1E3883. 3. 989, 2. L. . 19" displayName="reaction”/>
Cvalue xsiltype="CE” code="D. 10.8.r. 7b" codeSystem="2. 16. 840, 1. 113883, 6, 163" codeSystenVersion="D. 10.8.r. 7a”/>
<|-- D.10.8.1. 7Ta! MedDRA Yerzion for Reaction H1 —>
¢l— D.10.8. 1. Tb: Renctions (MedDRA code) H2 ~-D
{/ohservation?
</outboundRefationship2>
{/substancepdeinistration
{/component>
{forganizer?
</subjoctOf2>
</role>
</playerl>
<zubjectGfl typeCode="58J7>
(resenrchStudy classCode="CLNTRL" moodCode="EVN™>
<id extension="C.5.3" root="2 16.840. 1. 113883.3.585.2.1,.3. 87/
<1— C.5.3 Sponsor Study Number —>
Zeode code="C.5.4” codeSystem="2, 16.840. I. 113883, 3.989. 2. 1. L. 8"/>
1= C.5,4: Study Type Where Reacticn(s) / Event(s) Werc Observed --»
<titledC. 8. 2¢/titke> ’
l— C.5.2: Study Neme ——>
{authorization typeCode="AUTH™>
{studyRegistration classCode="ACT™ mocdCode="EVN™>
¢id extension="C.5. L.r. 17 root="2, 16,840, |, 13883, 3. 68%. 2. 1. 3.6"/>
¢l— C.5.1.r. 1: Study Registration Number #I -->
<puthor typeCede="AUT™>
{territorialAuthority classCode="TERR">
CgoverningPlace ¢lassCode="COUNTRY" determincrCodes”INSTANCE™
{code code="C, 5, | r. 27 codeSysten="1. 0. 3166. 1.2.27/>
<l— C.8. L.x,2: Study Registration Country R1 ——>
</governingPlace>
{/territorialAutherity>
{/author>
¢/studyRegistrationd
{/authorization>
Cauthorization typeCode="AUTH™>
<studyRegistration ¢lassCode="ACT” moodCode="EVi™>
<id exteasion="C.5, 1,r.1" root="2.16.840. 1. 113883. 3. 989. . L. 3.6" />
¢l— C.6 1, r, 1 Study Registration Bugher #2 —3
Cauthor typeCode="aAUT™>
<territorialiuthority clazsCode="TERR™>
<governingPlace cingsCode="COUNTRY” determinerCode="INSTANCE™
<code code="C,5,1.r.2" codeSystem="1.0.3166.1,2.27/>
luew C 5. 1.r.2: Study Registration Country §2 —>
{/gaverningPlace>
{/territorialAutherity?
</author>
¢/studyRegistration>



{/authorization>
{/researchitudy>
{/subjectDf1)>
¢aubjectOf2 typeCode="SBI™>
Cobservation classCode="0BS” moodCode="EVN™>
<code code="3" codeSystem="2. 16. B40. 1, 113863, 3,989, 2. 1. 1, 19" displayName="age"/>
<value x=ziitype="PG"” value="10" unit="D. 2, 2b"/>
¢}~ D.2.2a: Age at Time of Onset of Reactien / Event (number) —>
<1— b.2.2b: Age at Time of Onset of Reaction / Event (unit) —>
{fobservation>
{/subjoct0f2>
{subjectOf2 typeCode="SBJ">
{ehgervation classCode="0BS" mocdCode="EVN™>
¢eode code="16" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="gestationPeriod”/>
¢value xs5iitype="PQ” value="10" unit="D.2.2. 1t"/>
¢!— D.2.2. la! Gestation Period When Reaction / Event Was Observed in the Foetus (number) —>
<1~ D. 2.2 1h: Gestation Period When Reaction / Event Was Observed in the Foetus (unit) —>
{/observation>
¢/subject0f2>
(subject0f2 typeCode="SB]™>
{observation classCode="0BS" moodCode="EVN™>
¢code code="4" codeSystem="2, 16, 40, 1. 113883. 3. 989. 2. 1. 1. 19" disployNeme="ageGroup”/>
<value xsi:type="CE” code="D, 2, 3" codeSystem="2, 16, 840. 1. 113883, 3,689.2. 1. 1.97/>
¢l— 0. 2.3: Patient Age Group {os per reporter) —>
¢/obsnrvationd
¢/subject0f2>
{subjectDE2 typeCode="SB]™>
{cbservation elassCode="0BS” moodCode="EVN™>
{code code="7" codeSysten="2. 16, 840. 1. 113883, 3,989, 2. 1. 1. 19" displayNome="bodyWeight™/>
Cvalue xsiitype="PQ” value="48. 2" unit="kg"/>
¢l=- 1.3: Body Weight (kg) ——
{/observation>
</subjectOf2>
{subject0f2 typeCode="SB]™>
<observation clussCode="DB5" moodCede="EYN™>
<code code="17" codeSystem="2. 16. 840 1. 113883, 3. 089, 2. 1. 1. 19” displayName="height”/>
<value xsistype="PQ" value="152" unit="cm"/>
- D4t Teeight (om) —>
¢/observation>
{/subject0f2?
Cayubject0Of2 typeCode="5BJ">
<ohservatisn classCode="0BS” meodCodez"EYNT>
¢eode code="22" codoSystem="2. 16. 840, |, E13883, 3,989, 2, 1. 1. 19" displayName="lastMenstzualPoriodlate”™/?
Svolue xsi:type="T5" value="20080101"/>
¢l 1.6! Last Menstrual Period Date -3
</observation?
¢/oubjectOf2>
¢subject0f2 typeCode="S8]">
(organizer classCode="CATEGORY” moodCode="EVN™>
¢gode code="1" codeSystem="2. 16.840. 1. 13883, 3. 589, 2. 1, 1, 207 displayName="relevantfedicallistoryAndCencurrentCondi tisns”/>
{eomponent typeCode="COMP™>
{chservation classCode="0BS" moodCode="EVN">
¢code cede="D. 7. L. r. 1b" codeSystem="2. 16. 840. 1. 113883, 6. 163" codeSystemVersion="D.7. 1. r. la"/>
¢]— D 7. E.r. la: MedDRA Versien for Hedical Histery il ——>
<l— D, 7.L.r. 1b: Medical History (disense / surgical procedure / etc.) (MedDRA code) #1 -->
(effectiveTime xsiitype="IV[ 187>
<low value="200901017/>
¢!— D.7. 1L r.2: Start Date {1 —>
<high value="20090E017/>
<}— D.7.Lr.4: End Date #1 —>
</effectiveTime?
CouthoundRelationship2 typeCode="COMP™>
<observation clzzsCode="0BS" moodCode="EVN™>
¢cade code="10" codeSysten="2. 16. 840. 1. 113883, 3. 980, 2. 1. 1. 19" displayName="comment™/>
{vaiue xsi:types"ED"»D.7. 1. r. 5¢/value>
¢t— p, 7.1, r.5: Comments H1 —3>
{/observation>
</outhoundielationship2>
<authoundRelationship? typeCode="EXPL™>
{chservation classCode="0BS” moodCode="EVH™>
¢code code="38" codeSysten="2. 16. 840, 1, 113883.3.989. 2. 1. 1. 19" displayNome="fomilyHistory™/>
{value xsiftype="BL" value="true”/>
¢i— 0.7. L. r.6: Family Histery §1 —>
</observaticn>
</outboundRelationship2>



¢inboundRelaticnship typeCode="REFR™>
{observation classCodew"0BS” moodCode="EVN™>
(eode code="13" codeSystex="2.16. 849, 1. 113883, 3. 985, 2, 1, 1, 197 displayName="continuing™ />
¢value xsi:type="BL" value="true"/»
¢t-— p.7.1.r.3: Continuing &1 —>
</observation?
{/inboundRelationship>
{/observation?
</camponent>
{component typeCode="COMNP™)
{observation classCode="0B5" moodCode="EYN")
<code code="D.7.1.r. Ib” codeSystem="2, 16. 840, 1. 13883, B, 163" codeSystenVersion="D. 7. L.r. 1a"/>
I l=-D.7.1.r. 1a: MedDRA Version for Medieal History fi2 —>
i~ D.7.1. 7. Ib: Medical history {disesse / surgical procedure / ete.) (MedDRA code) #2 ~-
CoffectiveTime xsi:type="IVL_TS™»
<low value="200901017/>
l-— D, 7. Lr. 2 Start Date #2 —>
<high value="200901017/>
¢!— D,7.1.x.4: End Date #2 -->
{/effectiveTime
<outhoundBelntionship? typeCode="COMP™>
{ebaervation classCode="0B5" moodCode="EVN">
<coade code="10" codeSystem="2. 16, 840. 1. 113883, 3, 589, 2, 1. 1. 19” displayName="comment”/>
<value xsiltype="ED">D. 7. 1.r. 5</value>
¢4— D, 7.1, r. 5 Comments #2 ——>
</observationd
¢/outhoundftelationship2>
<outbounditelationship? typeCode="EXPL™>
{abservation classCode="005" moodCode="EVN">
Ccode code="38" codeSystem="2. 16, 840. 1. 113883, 3. 589, 2. 1, 1. 197 disployName="fanilyHistory™/>
<value xsi:type="BL” value="true”/>
e D, 7.1, 7.6 Fanily History #2 -
</observation?
</outboundRelationship2>
{inboundRelationship typeCode="REFR™)
{observation classCode="0BS" moodCode="EVN™>
<eade code="13" codeSystem="2. I5. 840. 1. 113883. 3,689, 2, 1, 1. 19" displayName="centinuing”/>
{value xsiitype="BL™ value="true”/>
<l— D.7.1.r. 3! Continuing #2 —>
{/obgervation?
{/inboundRelationship>
¢{/ohservation)?
¢/component?
<component typeCode="COMP™>
Sohservation classCode="0DS” mocdCode="EVN™>
Ceode code="18" codeSystem="2. 16. 840, 1, 113883, 3, 985, Z, 1. 1. 19" displayName="historyAndConcurrentConditionText™/?
<value xsi!type="ED"»D. 7. 2{/value>
¢1—- I 7.2: Text for Relevant Medical History and Concurrent Conditions (rot including reaction / event) ——>
{/observation>
{/compenent?
{component typeCode="COMP™>
{ohsorvation classCode="GHS” moodCode="EVH™>
¢code code="1%" codeSysten="2. 16 840, 1, 1£3883, 3, 985, 2, 1, 1, 197 displayName="concomitantTherapy />
<value xsiitype="BL™ value="true”/>
¢f— D.7.3: Concomitant Therapics -->
{/observation>
{/component?
</organizer>
</subjectiz>
<subjectOf2 typeCode="SBJ™>
{organizer classCode="CATEGORY™ moodCede="EVN™>
<code code="2" codeSystem="2. 16, 840, 1, 113883, 3. 989. 2. 1. 1. 20° displayName="drugflistory”/>
<compenent typefode="COMP™>
{substancefdministration classCode="SBADY" moadCode="EVN™>
CoffactiveTime xsi:type="1VL_T§">
{low value="200901017/>
<l— D.8.r.4: Start Date #1 ~—>
<high value="200901017/>
¢{1-- D, 8 r.5: End Date #1 —>
</effectiveTime>
<eonsumshle typeCode="CSU">
<instanceOfKind c¢lassCode="INST™>
<kindOfProduct classCode="MMAT" determinerCede="KIND™>
¢code code="D, 8,1, 2b" codeSysten="TBD-MPIL" codeSystewVersion="D. 8.r.2a"/>
¢|— 1,8 r, 2a: MPID Version Date / Number #1 —>

w T



{l-- 0,8 1, 2b: Medicinal Product Identifier (MPID} #1 —>
{name>D, B, r. 1{/nane> '
(I D.8.r. 1! Nome of Drug as Reported §1 -
</kindOfProduct)
</ingtanceQfKind>
</consumable>
{outbeundRelationship2 typeCode="RSON™>
Cohservation classCode="0BS" woodCode="EVN™>
Ceode code="19" codeSystem="2. 16. 840, }. 113883, 3.989. 2. 1, 1. 19" displayName="indication™/>
Cvalue zsistype="CE” code="1. 8. r.6b" codeSystem="2, 16, 840, 1, 113883. 6. 163" codeSystenVersion="D.8.r, 6a"/>
¢!—- D.8 r.6a: MedDRA Version fer Indication #1 ~—>
¢te— D8 1. 6b: Indication (HedDRA code) #1 —>
{/observation>
¢/outboundRelationship2?
<outboundReiationship? typeCode="CAUS™>
Cobgervation classCode="0BS™ moodCode="EVN™>
Ceode code="29" codeSysten="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName="reaction”/>
¢value xsiitype="CE” code="D.B.r.7b" codeSystem="2.16.840. L. 113883, 6. 163" codeSystemVersion="D.B. 1, Ta"/>
¢l— D.8.r. 7a: MedDRA Version for Reaction #1 —>
¢l— 0.8 1.Tb: Reaction (YedDRA code} #I —>
</ohservation)
</autboundRelationship2>
</substanceAdninistration>
{/eomponent?
<component typeCode="COMP™>
{substanceAdministration classCode="SBADY" moodCode="EVN™>
<effectiveTime xsiitype="IVL_TS™>
<low value="20090E017 />
¢l— 1. 8. r. 4: Start Date #2 —>
<high value="200801017/>
¢l-— .8 r.5: End Date #2 —>
{feffoctiveTime>
{consumable typeCode="CSM">
<instonceOfKind cinssCode="INST™>
CkindOtProduct ¢lagsCode="MAT” determinerCode="KIND™>
{code code=”D. B.r. 3b” codeSystem="TBD~PhPID” codeSystemVersion="D.B.r. 3a"/2
{i== D 8.r. 32 PhPID Version Date / Number —-=>
{1~ D 8.r. 3h Pharmaceutical Product [dentifier (PhPID} H2 —>
<namedD, 8, . 1</name>
Clew 0,81, 1! Name of Drug as Reported #2 -->
</hind0fProduct>
</instanceOfKind>
</consumabled
<ouibecundRelationship2 typeCede="RSON™>
Cobservation classCode="0BS" moodCode="EVN™>
{code sode="19" codoSyston="2, 16. B40. 1. 113883. 3. 989, 2. 1. L. 19" displayName="indication™/>
<value xsi:type="CE" cade="1 8. r. 66" codeSystem="2, 16. 840, I, 113883. 6. 163" codeSystenVersion="D, 8. r. 627/
¢I-- D.8.r.6a: MedDRA Version for Indication #2 -->
l-- D, 8 r.6b: Indication {(ModDRA code) #2 —>
{/observation>
¢/outboundRelationship2>
<outboundRelationship? typeCodes"CAUS™
{chaervation classCede="0BS" mocdCode="E¥N">
¢code code="20" codeSystem="2. 16, 840. 1. 113883, 3,589, 2, 1, 1. 19" displayName="reaction”/>
¢value xsi:type="CE” code="D. 8 T.7b" codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="D. 8. r. Ta"/>
¢tee I8 1. To: MedDRA Version for Resction #2 —>
<f— .8 1. 7b: Reaction {(HedDRA code) #2 —>
<¢/abservation>
</outboundRelationship2>
</substanceAdninistration?
</eomponent)
&forganizer>
£/subjectOf2>
{subjectDE2 typeCode="SBJ">
Cobservation elassCoda="0B5" moodCode="EYN™>
{code code="32" codeSystem="2. 16. 840, 1, 113883, 3. 989. 2. 1. }, 19" displayName="reportedCauze0fDeath”/>
¢value xsittype="CE” code="D. 9. 2.1. 1b" codeSystem="2, 16. 840. 1. 113683, 6. 163" codeSystemVersion="D.9.2.r, 1a">
<I— [, o 2,1 1a: MedDRA Yersion Tor Reporicd Cause{s) of Death #1 —>
¢t-- 0.9, 2. r. 1b: Reported Cause(s) of Death (MedDRA code} #1 —>
CoriginalText>D. 0. 2. r. 2¢/originaiText>
{lew D.G.2.1r. 2 Reported Cause{s) of Death (free text) #i —>
</value
</observation>
</subjectCf2>
{subjectDf? typeCode="5B]">



¢observation ¢logsCode="0BS” moodCode="EYN™>
{code code="32" codeSystem="2. 16. 840. [. F13883.3.089. 2. 1. 1. 19" displayName="reportedCause0fDeath”/>
Cvalue xsiitype="CE” code="D.9.2.r. Ib” codeSysten="2. 16, B40, 1, 113883, 6. 1637 codeSystemVersion="D.8.2.x. 1a™>
¢l-- D.8.2.r. la: HedDRA Yersion for Reported Cause(s) of Death #2 —>
¢I—~ 0.9, 2.r. [bI Reported Couse(s) of Death (MedDRA code) #2 —>
CoriginalText>D 9, 2. r. 2¢/originalText>
¢I—- 0,9,2,r.2: Reported Cause(s) of Death (free text) H#2 —>
¢fvalue>
</observation>
£/subject0f2>
CauhjectH2 typeCode="SH]">
{observation classCode="0BS" mocdCade="EVN™>
{code code="8" codeSystem="2.16. §40. 1. 113883, 3,989, 2. 1. 1. 19" displayName="autopsy”/>
<value xsiltype="BL" value="true”/>
<l—D,9.3 Was Autopsy Done? -->
<outboundRelationship2 typeCode="DRIV™
<observation classCode="0BS" mocdCode="EVN™>
¢eode code="8" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19”7 displayNome="cause0fDeath™/>
¢value xsi:type="CE” £ode="D.9.4. r.1b" codeSysten="2. 16. 840, 1. 1138B3. 6. 163" codeSystemVersion="D.9. 4. r. 1a™>
¢l-— 1,94, r. 1a: MedDRA Version for Autopsy-determined Cause(s) of Death #1 —>
¢l 1,9, 4. 1. 1b Autopsy-determined Couse{s) of Death (MedDRA code) #1 -->
<originalText?D. 9. 4. r. 2¢/originalFext>
¢lw- D.9.4.r.2¢ Autopsy-determined Cousc{s) of Death {free text) H1 —>
{fvaluer !
{/obgervationd
</outboundReiationship2>
CoutboundRelationship2 typeCode="DRIV™)
<observation classCode="0BS" moodCodes"EVN™>
(eade code="8" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" displayName="causeOfDeath™/>
<value xsiitype="CE™ code="D. 8. 4.r. [b” codeSysten="2. 16, 840, 1. 113883, 6. 163" codeSystenVersion="D, 9. 4. r. 1s">
¢l— P, 9. 4.r.1a: HedDRA Version for Autopsy-determined Cause(s) of Death #2 ~—>
<lww 0,9, 4.1, 1b Autepsy-determined Cause(s) of Death (MedDRA code) #2 -->
CoriginaiText?D. 9. 4.r. 2{/originalText>
<t 0.9, 4.1, 20 Autapsy-determined Cause(s) of DPeath (free text) #2 —J
<Svalued
{/observation?
{/outboundRelationship2>
{/ohservation?
</zubjectOf2>
<subjectDf2 typeCode="SB}™>
{observation classCode="0BS” moodCode="EVN">
¢id root="154cb88G-958b-45{2-a02f~42d4d6 4657 />
(eode code="29" codeSyslen="2, 15, 840, 1, 113883, 3.985. 2. 1. 1. 19" displayName="resction”/>
<effectiveTine xaiitype="IVL_ T8™>
{low values"200901017/>
(|-~ E.i.4: Date of Start of Reaction / Event #F —->
<high value="20000102"/>
¢l— B, i.5: Date of End of Reaction / Bveny H1 —>
{feffectiveTime>
Cvalue xsiitype="CE™ code="E. 1.2, 1b" codeSystea="2, 16, 840, 1, F13883. 6. 1637 codeSystenVersion="E. 1. 2. 1a™>
¢~ B. 1.2 1a7 MedDRA Version for Roaction / Event #1 —>
¢1-- B, i, 2. 1b: Reaction / Event {MedDRA code) #I ~>
{originaiText language="E. i. 1. 1b"E. i, 1. la</originalText>
¢i-— E.i.1.1a® Reaction / Event ns Reported by the Primary Soutrce in Native Language #1 —
¢t-—— E.i. 1. 1b: Renction / Event as Reported by the Primary Source Language #1 —-—>
Sealued
¢location typeCode="LOC™>
ClocatedEntity clussCede="LOCE™
ClocatedPlace classCode="COUNTRY® determinerCode="INSTANCE™
{cade cedes"E, 1,9 codeSysten="1.0.3166.1.2,2%/>
¢l»~ £.i.9 Identification of the Country ¥here the Reaction / Event Occurred #1 —>
¢/locatedPlace?
£/1ocatedEntity?
{/lecation?
{outboundRelationship2 typeCode="PERT™>
{ohservation classCade="0BS" moodCode="EVN™>
<code code="30" codeSystew="2, 16, 840, 1, 113883, 3. 989. 2. 1. 1. 197 displayName="reactionFerTranslation”™/>
<value xsiitype="ED™E i, 1, 2<¢/valued
¢<l—— F. 1.1, 2: Reaction / Event as Reported by the Primary Source for Transiation i -
{/observation>
¢/outhoundRelationship2>
CouthoundReiationship2 typeCode="PERT™>
Cobservation classCode="0BS" moodCodex"EVN™>
<eode code="37" codoSystem="2. 16. 840. 1. 113883, 3. 989, 2, 1. 1. 197 displayName="termllighlightedByReporter™/>
¢value xsi:type="CE” cede="E.i.3.}" codeSystem="2. 16. 840. I, 113883, 3,989.2, . L. 10"/>
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¢I— E.i.3.1: Tern Highlighted by the Reperter #l —>
</obzervation>
¢/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
Cobservation elassCode="0BS” moodCode="EVN™>
{cade code="34" codeSystem="2. 16. 840, 1. 113883, 3,989. 2, 1, 1. 18"
{value xsi:type="BL™ value="true”/>
¢i1-- B.i.3.2a! Results in Death #1 ==
¢/cbservation>
</outbeundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{eode code="21" codeSystem="2. [6. 840. 1. 113883, 3.989.2.1,1. 19"
<value xsi:type="BL" nullFlaver="NI"/>
(I~ E.i.3.2b: Life Threatening 81 —>
{/ohservation?
</outboundRelationship2>
<outboundftelationship2 typeCode="PERT™»
{ohservation classCode="0BS" moedCode="EVN™>
Ceode code="33" codeSystem="2. 16.840. 1. 113883. 3. 989. 2, 1, 1, 197
<value xs5iitype="BL" wvalue="true”/>
€l-- E.i.3.2c: Caused / Prolonged Hospitelisation #1 «->
{/observation>
</outboundRelationship2>
{outbpundRelationship? typeCode="PERT™>
{chservation classCode="0BS" moodCode="EVN">
{code code="35" codeSystem="2, 16. 840, 1.113883,.3.989.2.1.1. 19"
{value xsiitype="BL™ nullFlavor="NI"/>
{l-- E, i.3. 2d: Disabling / Incapacitating #i1-—>
</fobservation?
</outboundRelationshin2s
¢outboundRelationship2 typeCode="PERT™>
<cbservation classCode="0BS" moodCode="EVH™>
Ccode code="12" codeSystem="2. 16, 840, 1. 113883, 3, 989, 2, 1, 1. 19"
¢value xsiltype="BL" nullFlavor="RI"/>
¢I-~ E.i.3.2¢: Congenital Anomaly / Birth Defect #1 -->
</observation?
¢/outboundRelationship2>
<outboundRelst ionzhip? typefode="PERT™>
{obgervation classCode="0B5" moodCode="EVN™>
{eode code="35" codeSysten="2. 16, 840, 1. 113883, 3,989, 2. 1. 1. 197
Cvalue xsi:type="BL" valuez"true™/»
¢I-- E i, 3 2f: Other Nedically lmportant Condition #1 >
</observation>
</outboundlelationzhip2>
<outbeundRelationshin? typeCode="PERT™>
<observation classCode="0BS" moodCode="EYN™>
{code codo="27" codeSystem="2. 1§, 810, 1. 113883, 3, 988, 2. 1, 1. 197
¢yalue xsiitype="CE™ code="E. i, 77

displayName="resultsEnDeath™/>

displayName="isLifeThreatening™/>

displayName="requiresInpatienttospitalization™/>

displayName="resultsInPersistentOrSignificantDisability™/>

displayName="congeni talAnomalyBirthDefeet”/>

displayName="otherdedicallylrportantCondition™/>

displayName="putcome”/>

codeSystem="2, 16, 840. 1. 113883. 3. 98%. 2. 1. 1. 11"/>

¢t-— B.i.7: Outcome of Reaction / Event at the time of Last Observation #l —>

</observation»
</outhoundRelationship2?
{otttboundRelationshin? typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN™>
{code code="24" codeSysten="2, 16, 840. 1. £13883, 3. 089, 2. 1. 1, 18"
Cvatue xsittype="BL" value="true”/>

displayNome="nedicalConfirmationByHealthProfessional”/>

¢i-—~ E. i.8: Medical Confirmation by Healthcare Professional #1 —=>

{/chaservation>
¢/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
Cohservation classCode="0BS” moodCode="EVN™>

{code code="11" codeSystem="2. 16.B840. 1, E13883. 3.989.5. 1. 3.2, 1.

167 displayName="2:4) - BEHI7/>

{vatue xsi:type="CE™ code="J2.14.1" codeSysten="2. 16,840, 1, 112883.3.989.5.1.3.2. 1.87/>

I— 888J2. 14. 1 k4 - BEdm #1 —
{/abgervation?
{/outboundlelationship2>

{/observation>
</subjectOf2>
<{subjectOf2 typeCode="5B]">
<observation classCode="0B5S" moodCode="EV¥N™>

<id reot="2bna28d6-c9e8-1e6c-93c9-5b860b314220% />

Ceode code="29" codeSysten="2., 16, 849, 1, 113883, 3,989, 2, 1. |, 197 displayName="reaction™/>

<effoctiveTime xsi:type="IVL_TS™>
<low value="200901017/>
l— E.1i.4: Date of Start of Reaction / Event #2 —>
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¢width value="24" unit="E. i.6b"/>

¢l—— E.i,6a: Duration of Reaction / Event (nuzber) #2 —>

¢lww E. i.6h! Duration of Reaction / Event (unit) #2 =>
SeffectiveTine?

<valte xoi:type="CE” code="E. i. 2. 1b" codeSysten="2. I5. 840. 1. 113883, 6. 163" codeSystenVersiens"E, 1. 2. 1a">

¢t~ E.i.2. 1a: ¥edDRA Yersion for Reaction / Event #2 —>
¢I— E.i,2.1b: Reaction / Event (MedDRA code} #2 —
¢originalText language="E. 1. 1. Ib">E. i. L. 1a</originaiText>

¢t-— E.i. 1. la! Reaction / Event as Reported by the Primary Source in Mative Language 82 —->
¢le— E.i. 1. 1b: Reaction / Event as Reported by the Primary Source Langusge 32 —>

{/value»
{location typeCode="LOCT>
ClocatedEntity classCode="LOCE™>

<locatedPlace ¢lassCode="COUNFRY™ detorminerCode="INSTANCE™>

¢eode code="E, i. 8" codeSystem="1.0.3166.1.2,2°/>

¢3-- £.1.9: Identification of the Country Where the Reaction / Event Occurred 2 —>

{/locatedPlace?
{/locatedEntity>
</locationd
CouthoundRelationship2 typeCode="PERT™>
¢observation ¢lassCode="085" moodCade="E¥N ">

¢eode code="30" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1, 197 displayName="reactionForTranslation™/>

Cvalue xsi:type="ED">E. i. L 2<¢/value>

¢i— £.1.1.2: Revction / Event as Reported by the Primary Source for Translation #2 —>

¢/observation?
{/outboundRelationship2»
{outhoundfielationship2 typeCode="PERT™
{observation clossCode="085" moodCode="E¥N">

<code code="37" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. &, 1. 48" displayName="teraflighlightedByRteporter™/>
Cvafue xsiltype="CE” code="E.1,3.1" codeSysten="2. 16, 844, 1. 113883, 3.989. 2. 1. 1. 107/>

¢i— E,i. 3 1:Term Highlighted by the Reporter #2 ~->
{/observation>
</outboundRelationship2>
<outboundRelationshipZ typeCode="PERT™>
<observation classCode="0BS" moodCode="E¥YN™>
{code code="34" codeSystem="2.16.840. 1. 113883.3.989. 2. L. 1.
Cyplue xsittype="BL" value="true”/>
¢<I—— E.i.3.2a: Results in Death #2 ——>
</observation?
</outboundRelationshipZ>
ZoutboundRelationship? typeCode="PERT™>
{ohservation ciassCade="0BS” moodCode="EVN™>
Ccode code="21" codeSysten="2. 16, 840, 1. 113883. 3. 989. 2. 5. 1.
¢value xsiitype="BL" nullFlavor="NI"/>
¢I—- E, £, 3.2b: Life Threatening 2 —>
{/observation?
</outboundRelationship2?
<outbeundReiationship2 typeCode="PERT™>
{ohservation classCode="0BS™ moodCode="EVN™>
{eode code="33" codeSystem="2, 16,840, 1, 113883, 3.989.2, . 1.
Cvalue xsiitype="BL™ value="true”/>
¢l— E, i,3.2c: Caused / Prolonged llospitalisation #2 ——>
{/observation>
</outboundRelationship2>
CoutboundRelationshin? typeCodes”PERT™>
{observation classCode="0B5" mocdGode="EVN™>
<code code="35" codeSystem="2, 16. 840, 1. 113883.3.989. 2. 1. 1.
<value xelftype="BL” nuliFlaver="NI"/>
¢i— E.i.4.2d: Disabling / Tncapacitating 82 —>
{/observation>
</outhoundRelationship2>
<outboundRelationship? typeCode="PERT™>
{obgervation ¢lassCode="085" moodCode="EVN">
{code code="12" codeSystem="2. 16.840. 1. E13883,3.989. 2. L. L.
<value xsi:type="BL™ nullFlaver="NI"/>
¢]— E.i.3.2c: Congenital Ancmaly / Birth Defect §2 —
{/obzervation?
{/outboundRelationship2>
{outboumdRelationship2 typeCode="PERT">
{observation classCode="0BS™ moodCode="EVN">

<code code="26" codeSystem="2. 16, 840, 1. 113883, 3,969, 2,1, 1,197

<value xsi:type="BL” value="true™/>
<l— E.i.3.2f: Other Hodically Important Condition §2 —2
{/ohservation?
</outhounditelationship2y

w 1] -

15"

15"

19”7

19

19"

displayName="resultsInDeath” />

displayName="1isLiFeThreaterning”/>

displayName="requiresinpatientloapitalization™/>

displayName="resultsinPersiztentOrSignificantBisability™/?

displayName="congenitalAnomalyBirthDefect™/>

displayName="otherMedicallyIxportantCondition™/>



{outhoundRelationship2 typeCode="PERT™>
{chservation classCode="0BS” mcodCode="EVN™>
<code code="27" codeSystew="72. 16,840, 1. 113883, 3. 989. 2. 1. 1. 19" displayName="outcome”™/>
¢value xsi:type="CE" code="E.i.7" codeSystewm="2. 16, 840, 1. 113883, 3,989.2.1. L. 11"/>
¢l-— B, i.7: Outcome of Reaction / BEvent at the Time of Last Observation #2 ——
{/observationd
</outboundRelationship2>
{outbotndRelaticnzhip? typeCodo="PERT™>
<observation classCede="0BS” mocdCode="EVN™>
(code code="24" codeSystem="2. 16. 840, [. 113883, 3,689, 2. 1, 1. 197 displayName="medicalConfirmationBylleal thProfessicnal”/>
<value xsiitype="BL" value="true™/>
{1— E.i.8: Medical Confirmation by Healthcore Professicnal #1 ——>
{/chsorvation>
¢/outboundRelationship2?
CoutboundRelationship? typeCodo="PERT™>
{obgervation classCede="0BS" moodCode="EYN">
¢code code="11" codeSystew="2. 16. 840. 1, 113883, 3,989, 5. 1. 3. 2. 1. 10” displayName="3c4m - BE&™/>
¢value xsi:type="CE” code="J2.14.1i” codeSysten="2.16.840. 1. 113883, 3.989.5. 1. 3.2, L 8"/>
<I-- @28]2. 14,1 #Hdp - E #2 >
{/observation>
{/outbounditelationship2>
</observation?
</subjectDfF2>
{subjectOf? typeCode="SBI™>
{observation ciassCode="0BS™ moodCode="EVN™>
{id root="3a8426cb-0f1b-dea8-8p0f-c0fF34430adf" />
{code code="29" codeSystem="2, £6.B40. 1. 13883, 3. 089, 2. 1. i, 19" displayName="reaction”/>
CeffectiveTime xsi:type="IVL_TS™>
{width value="24" unit="E. i.6b"/>
¢lw- E.i.6a: Duration of Reacticn / Event (number} #3 —>
¢l— E.i.6b: Duration of Reacticn / Event (upit) #3 —>
¢high value="20E012017/>
{l-- E, i.5: Date of End of Reaction / Event #3 —>
{/effectiveTime>
¢yalue xsiltype="CE™ code="E. i.2.1b" codeSystem="2. 16, 840. 1. 113883, 6, 163" codeSystemVersion="E. {. 2. 1a">
¢l-- B.i.2.1a: MedDRA Yersion for Reaction / Event #3 —->
(lew B i.2.1b¢ Reaction / Event (MedDRA code) #3 -
CoriginalText language=TE. i, 1, Ib™E. i. 1. Ia</originalText?
¢t— E.i. . la: Reaction / Bvent as Reported by the Primary Source in Native Lanpuage #3 —>
¢I— E, i. 1. lh: Beaction / Event az Reported by the Primary Source Language #3 —>
</valued
{lecation typeCode="LOCT>
{togutodEntity classCodes"LOCE™>
{lozatedPlace classCode="COURTRY" determinerCode=" INSTANCE™>
Zeode code="E, i.9" codeSyster="1. 9. 3166.1.2. 27/>
¢l E i,9: Identification of the Country Where the Resction / Event Occurred 3 -->
¢/lacatedPlace>
¢/locatedEntity?
¢/location?
<outhoundRelationship2? typeCede="PERT™>
{observation classCode="0BS" moodCode="EVN™>
¢code code="30" codeSystem="2. 16, 840. 1. 113883. 3. 985, 2. L. 1. 19" displayName="reactienForTranslation™/>
{value xsiitype= ED7E. i, 1. 2¢/value
¢l— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #3 —>
¢/observation>
</outboundRelationship??
¢outboundRelationship2 typeCode="PERI™>
{observation ciassCode="0BS" moodCode="EVN™>
¢code code="37" codeSystew="2. §6, 840, 1. 113883, 3. 989. 2. 1. 1. 1¢” displayName="tersHighlightedByReporter™/>
¢value xsi:type="CE" code="E,i.3.1" codeSystem="2. 16, 840. 1. 112883, 3,989,2. 1. 1.10°/>
¢!— E i3 1:Term Mighlighted by the Reporter $3 —>
{/observation)
</outboundRelationship2>
CoutboundRelationship? typeCode="PERT™>
{observation ckassCode="0B5S" moodCade="EVN">
(code code="34" codeSystem="2. £6. B40. 1. 113883, 3, 089. 2. k. 1. 16" displayName="resultsInDeath”/>
{value x5i:type="BL” value="true”/>
{{— E.1.3.2a: Results in Death #3 ~—>
{/chservation>
</outhoundRelationship2>
{outboundReiationship2 typeCode="PERT™>
<observation classCode="0BS" mogdCode="EVN">
¢code code="21" codeSysten="2. 16. 840, 1. 113883, 3. 989, 2. 1. 1. 19" displayName="isLifeThreatening™/>
{value xsi:type=”BL™ nullFlovor="NI"/>
{l— E, i, 3.2b: Life Threatening #3 —> »
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{fobservation>
{/foutbounditelationship2>
<autboundRelationship? typeCode="PERT™>
<observation cinssCodes 0BS” moodCode="EVN™»
¢code code="33" codeSystex="2. 16. 840. 1. 113883, 3,989, 2, 1, 1. 197 displayName="requirezInpatientHospitalization”/>
{value xsi:type="BL™ value="true”/>
<l— E.i.3.%: Caused / Prolonged Hospitalisation H#3 —)
{/ohdervation?
</cutboundielationship2>
{outhoundRelationship? typeCode="PERT™>
{observation claszCode="0BS" moodCode="EVN™>
<code code="35" codeSystem="2, 16. 840. 1. 13883, 3. 989, 2. 1. 1, 19" displayName="resultsInPersistentOrSignificantDisabilicy”/>
Svalue xsi:type="BL" nuliFlavor="NI"/>
¢l-- E.i.3.2d! Disabling / Incopacitating #3 —>
¢/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation clagsCode="0DS" moodCode="EVN™>
<code code="12" codeSystem="2. 16. 840. 1. £13883. 3.989. 2. 1. 1. 19* displayNawe="congenitalAnomalyBirthDefect”™/?
Cvalue xsi:type="BL” nullFlavor="NI"/>
¢lew B i.3.2¢: Congenital Anomaly / Birth Defect §3 —->
¢/observation> -
{/vutboundRelationship2>
<outboundRelationship? typeCode="PERT >
{ohservation classCode="0BS" moodCode="EVN™>
¢code code="26" codeSystem="2. 16, 840, 1, 113883, 2,989. 2. 1. 1. 19" displayName="otherdedicallylzportantCondition™/>
{value xsi:type="BL” value="true”/>
<l— E.i,3.2f: Other Medically Ieportant Condition #3 —>
{/chservation?
</outboundflelationship2?
CouthoundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
<code code="27" codeSystew="2. 16. 840, 1, 113883, 3,989. 2. 1. L. 197 dizplayName="outcome”/>
¢value xsiltype="CE” code="E. 3,7" codeSysten="2.16.840. 1. 113883.3.989, 2. 1. 1. 11°/>
¢1-- B.i.7: Outcome of Reaction / Event at the Time of last Observation #3 —->
¢/observation?
</outboundielationship2>
<outbeundRelationshin? typeCode="PERT™>
{observation ciassCode="0BS™ moodCode="EYNT>
{code code="24" codeSystem="2. 16, 840. [. 113883, 3, 989. 2. 1. 1. 19" displayName="medicsiConfirmotionByfleal thProfessional />
<vaiue xsiitype="BL" value="true”/>
¢3— E.i. 87 Hedical Confirmation by llealthcare Professionat #3 —>
{/ohservationd
</ouiboundRelationship2>
CouthoundRelationship? typeCode="PERT™>
Cobservation clagsCode="0BS" moodCode="EVN™>
<code codes"F1” codeSystem="2. 16. 840. 1, 113883, 3,989, 5. 1. 3,2, I, 10" displayName="384n - BE0"/>
(value xsiftype="CE” code="J2. 14. 1" codeSystom="2, 16.840. 1. 113883, 3.980.5. . 3.2. 1.§°/>
¢I— g2aJa. 14, i shin - BB 43 —>
¢/obgervationd
</outboundRelationship2>
</observation?
{/subject0£2>
<gubiest0f? typeCode="SBI">
<observation classCode="0B5" moodCode="EVN™>
{id reot="2e99840f-08b4-400¢c~B0ff-Jd8415£418a5"/>
{code code="29" codeSystem="2. 16, 840, 1. 113883. 3. 089, 2. 1. 1. 19" displayName="reaction™/>
CeffectiveTime xsiitype="SKPR_TS™>
Scomp xs5i:type="IVL_T5">
¢law value="20090101"/>
{!— EB.i.4: Date of Start of Reaction / Event &1 —>
<high value="201012017/>
¢}~ E.i.5: Date of End of Reaction / Event #4 -
</conp>
{comp xsi!type="IVL_TS" operator="a">
{width value="24" unit="E, i. 6b"/>
<I— E.i.6a: Duration of Reaction / Bvent (number) #4 —>
(|« E.i.6b: Duration of Reaction / Event (unit) #4 —>
{/conp>
</effectiveTimed
<value xgiltype="CE™ codes”E. i. 2, 1b” codeSystem="2. 16. 840. 1. 113583, 6. 1637 codeSystenVersion="E. i.2. 1a™>
{l— B.i.2 la: ModDRA Yersion for Reaction / Event #4 —->
¢l— E.{i.2.1b: Reaction / Event {ModDRA code) H4 —>
doriginalText language="E.i. 1. 1b™>E. i. L. 1a</originalText>
¢1— E.i.1.1a! Reaction / Event as Reperted by the Primary Source in Native Language #4 —>
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¢l E_ i, 1. 1b: Reaction / Event as Reported by the Primary Source Language #4 —)

{/valued
¢ipcation typeCode="LDC™>
{locatedEntity classCode="LOCE™>

ClocatedPlace classCode="COUNTRY" determinerCode=" INSTANCE™>

Ccode code="E.i.9" codeSystem="1.0.3166.1.2.27/>

I~ [, i.9: Identification of the Country Where the Resction / Event Qccurred #4 >

<{/locatedPlace>
</locatedEntity>
{/lecation?
<outhoundRelationship? typeCode="PERT™>
<chservation classCode="0BS" moodCode="E¥N™>

Ccode code="30" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 19" displayName="resctionForTranslation™/>

{volue xsi:type="ED7)E.i. L. 2¢/value>

{i— E.i.1.2: Reaction / Event a3 Reported by the Primary Source for Translatien #4 ——

</observation?
{/outbeundReiationship2>
<pythoundRelotionship? typeCode="PERT™>
{observation classCode="0BS™ moodCode="EVN™>

<code code="37" codeSysten="2, 16. B40, |, 113883. 3. 989. 2. 1. 1. 19" displayName="tcrrllighlightedByReporter™/>
Cvalue xsiitype®"CE” codes"E, i.3. 1" codeSystem="2. 16, 840. 1, 113883, 3,088, 2, 1. L. HO"/>

<l— E.i.3.1:Term Highlighted by the Reporter #d4 —>
</chservation>
</outhoundRelationship2>
{eutboundRelationship? typeCode="PERT™>
{ohservation elassCode="0BS" moodCode="EVN™>

{code code="34" cedeSystem="2. 16, 840, 1, §13883, 3,989, 2, 1. L.

<value xsitype="BL" valuc="true”/>
¢l~~ E.i.3.2a: Resukts in Death #4 ——>
</ohsorvation>
¢fautboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moadCode="EVN™>

<code code="21" codeSystem="2.16. 840, 1. 113883,3.989. 2. L. ).

<value xsi:type="BL™ nullFlavor="NI"/>
<l— B, i.3.2b: Life Threatcning #4 —>
{/obgervatinon>
¢/outboundRelationship2®
<outboundRelationship? typeCode="PERT™>
Cobservation ¢lassCode="DBS” moodCode="EVN™>

{code code="33" codeSystem="2. 16, 840, 1, 113883, 3. 98%. 2. 1. 1,

Cvalue xsi:type="BL™ value="true”/>
¢1— B, i.3. 2¢: Gaused / Prolonged Hospitalisation #4 -2
{/observation>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="FERT">
{observation classUode="0BS" moodCode="EVN™>

{code code="35" codeSystem="2. 15, 840. 1, 113883, 3.989. 2. 1. 1.

<value zsi:type="BL" nullFlaver="NI"/>
{l— E.i.3.2d: Dizabling / Incapacitating #4 >
{/observation>
¢/outboundRelationship2>
CouthoundRelationship2 typeCode="PERT™>
{observation clossCode="0BS” moodCode="EVN™>

{code code="12" codeSystem="2. 16.840. 1.113883.3, 989.2, 1, 1.

{value xsi!type="BL™ nullFlaver="RL"/>»
<!— B.i.3.2e: Congenital Anomaly / Birth Befect #4 -3
{/obgervation>
{/outboundRelationship2»
¢outboundRelationship2 typeCode="PERT">
{observation classCode="005" wmoodCode="EVN">

<code code="26" codeSystem="2. 6. B40. 1. 113883. 3. 989.2.1. 1.

Cyalue xsistype="BL” value="true”/>
€I~ E.i.3.2f: Other Medically Important Condition #4 ~~>
{/observation®’
¢/outboundRelationship2>
{outboundRelationship? typeCode="PERE™>
{ohservation classCode="0BS" moodCode="EVN">

{code cede="27" codeSystem="2, 16. 840, 1, 113883,3, 089, 2. 1. L.

e
=1

19"

19"

197

19"

19"

18"

* displayName="resultsInDeath”™/>

displayName="islifeThreatening”/?

displayNames"requiresInpatientllospitalization™/>

displayName="resultsInPersistentOrSignificantDisubility™/>

displayName="congenitalAnomalyBirthDefect”/>

¢izplayName="otherModical bylmportantCondition”/>

displayNeme="outcome” />

<yalue xsiltype="CE” code="F. i, 7" codeSystem="2. 16. 840. 1, 113883. 3. 98%. 2. L. L. I1”/>
¢!— E.i.7: Outcome of Reaction / Event ai the Time of Last Observation f#4 —>

¢/obzervation?
</outhoundRelationship2>
CoutboundRelationship? typeCode="PERT™>
{observation classCode="0BS™ moodCode="EYN">
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{code code="24" codeSystem="2, 16, B40. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="medicalConfirmationBylealthPrefessional”/>
{vslue xgiitypes"HL™ value="true”/>
{l— E.i.8: Medical Confirmation by Healthcare Professional #4 —>
{/ohservation>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{obaervation ¢lassCode="0RS” moodCode="E¥N >
<code code="11" codeSystem="2. 16. B40. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="3kn - [E&R"/>
{value xsiitype="CE™ cede="]2.14.1" codeSystem="2. 16,840, 1. 113883.3.989.5.1.3.2. 1.87/>
<I1— @8872. 1.1 R¥A - BE4R B4
{/cbservation>
¢/outboundRelationship2>
{/observation?
</suh ject0f2>
<{zubjectOf2 typeCode="SB]™>
{chservation classCode="08S" moodCode="EVN">
<id root="1071064c-cf10~-4alb-03c1-34f2ddbTentd />
<code code="29" codeSystew="2, £6, 840, 1, 113883, 3,989, 2. 1. 1. 19" displayName="reaction”/>
CeffoctiveTime xsiltypes”IVL_TS™>
<low value="2008010L"/>
¢I— E.i.4: Date of Stort of Reaction / Event §5 —>
{/effectiveTime?
<value xsi:type="CE” code="E.i.2.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="E. i, 2. 1a™>
¢I-— E. i.2. 1a! WedDRA Version [ar Reaction / Bvent #5 —»
¢l-~ E. i, 2. 1b: Reaction / Event {MedDRA code) #5 ~->
{originalText language="E, i, 1, Ib™E..i. l. fa</originalText>
¢lew E. 1. 1. la: Reaction / BEvent as Repoerted by the Primary Source in Mative Language #5 ->
€l-— E.i. 1 1b: Reaction / Event s Reported by the Primary Seurce Language #5 -->
{/value?
<location typeCode="10C">
{loeatedEntity classCode="LOCE™>
(locatedPlace classCode="COUNTRY” determinerCode="INSTAKCE™>
¢eode code="E, i.9" codeSystem="1,0, 3166.1.2.27/>
¢l— E, i,9: identification of the Cotntry Where the Reaction / Event Qecurred #5 —>
{/locatedPlace?
{/locatedEntity>
</lacotion}
<outboundRelationship? typeCode="PERT™>
{observation classCode="085" moodCode="EVN™>
{code code="30" cedeSysten="2. 16, B40. 1. 113883, 3,989, 2, 1, 1, 19”7 displayName="reactionForTranslation™/>
Cvalue xsi:type="ED">E i. 1. 2¢/value>
{l— E,i,1,2: Reaction / Event as Reported by the Primary Source for Translation #6 ——>
{/obgervation>
{/cutboundRelationship2>
¢outboundRelationship? typeCode="PERT™>
<obsgrvation classCode="0B5" moodCode="EYN™>
¢eode code="37" codeSysten="2, 16. 840 1, E13883. 3. 98%. 2. t. 1. 1% displayName="terullighlightedByReporter™/>
<value xsiztype="CE” code="F.i.3.1" codeSyston="2. 18, 840, 1. 113883, 3.98%. 2. k. 1. 107 />
¢l— E.i.2 1:Term Highlighted by the Reporter 5 -->
{/observation>
{/outheundRelationship2>
<outboundRelstionship? typeCode="PERT™
<chservation ¢lassCode="0HS™ moodCode="EVN™>
{code code="34" codeSystem="2. 16, 840, 1. 113883, 3, 989. 2. L. L. 197 displayName="resultsIndeath™/>
¢value xsiitype="BL™ value="true™/>
<l—— E.1.3.2a' Results in Death #5 -->
</observation?
</outboundRelalionshkip2>
<outboundRelationshipZ typeCode="PERT”>
{observation classCode="0BS" moodCode="EVN">
{code code="21" codeSystem="2, 15. 840, 1. 113883, 3. 989. 2. 1. 1. 19" displayName="isLifeThreatening™/>
<value xsi:type="BL" nullFlavor="NI"/>
{!— E. {.3.2b: Life Threatening #5 —>
{/observation>
{/outboundRelationship2?
<outboundfielationship? typeCode="PERT™>
{aobservation classCode="0BS" moodCode="EVN">
<code code="33" codeSystem="2, 16, 840, 1. 113883, 3. 989, 2. 1. 1. 19
Svalue xsi:itype="BL” value="true”/>
¢l— E.i.3.2cI Coused / Prolonged Hospitalisation #5 —>
¢/ohservation»
¢/outboundRelationshipZ>
<outhoundRelationship? typeCode="PERT™>
Cobservation classCode="0BS" moodCode="EVN™>
¢code code="35" codeSystem="2, 16, 840, 1. 113883, 3, 989. 2, |, 1. 19" displaoyNeme="resultsInPersistentOrSignificantDisability”/>

displayName="requiresInpatientHospitalization™/>
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<value xsiitype="BL" nullFlaver="NI"/>
¢!— E. 1.3 2d: Disabling / Incapacitating #5 —>
¢/observation?
¢/outboundfiielationshin2>
{outboundRelatfanshin? typeCode="PERT™>
<ohservation classCode="0BS” moodCode="EVN™>
¢eode eode="12" zodeSystem="2. [6. 840, 1. 113883, 3, 989, 2, 1. 1. 197 displayName="congenitalAnomalyBirthDefect™/>
¢value xsi:type="BL” nullFlaver="N1"/>
¢t E.i.3.2e! Congenital Anomaly / Birth Defect #5 —
</observation?
{/outboundRelationship2>
<guthoundReintionship? typeCode="PERT™>
(observation classCode="0BS" moodCode="EVN">
Ceodo codew26" codeSysten="2. 16.840. 1. 113883, 3, 989. 2. 1. 1. 19" displayNawe="ctherMedicallylmportantConditien”/>
<value xsi:type="BL" value="true”/>
¢lew E. i.3.2F: Gther Medieally Impertant Condition #5 —
{/observation?
¢/outboundRelationship2>
CouthoundRelationship? typeCode="PERT™>
{ehservation classCode="085" moodCode="EYN">
Coode code="27" codeSyster="2. 16. B40. I. 113883, 3. 988, 2, 1. 1, 137 displayNeme="cutcone™/>
¢value xsistypes CE” code="E.i.7" codeSystem="2. 16. B40. L. [13883.3.969.2. L. 1. 11"/>
' ¢]— E.1i.7: Qutcome of Reaction / Event at the Time of Last Cbservation #5 ——>
{/observation?
</outbonndRelationship2>
<outboundRelationship2 typeCode="PERT™> .
{chservation classCode="0BS" moodCode="EVN™>
{eode code="24" codeSysten="2, 16. 840. 1. 113883, 3. 989. 2, 1.1, 19" gisplayNome="nedicalConfirnn tionByHeal thProfessional”/>
<value xsiitype="BL" value="true”/>
¢t [, §.8: Medical Confirmation by Healthcare Professional #5 —>
{/observation>
{/autboundRelationship2>
<puthoundRelationship? typeCode="PERT™>
{observation classCode="0BS" roodCode="EVN™>
Ceode code="FH” codeSystem="2, 16, 840. 1. 113883. 3. 989. 5. §. 3. 2. 1, 107 displayName="53® - LT40"/>
Cvalue xsiltype="CE" codes”J2. 141" codeSystem="2, 16. 840, 1. 113883.3.980.5.1.3.2.1.8"/>
<l @88J2. 14,0 Ran - BER H5
¢/observation>
<{/outboundieiationship?>
¢fobservationd
</subject8f2>
<subjectDfZ typeCade="5B]">
{observation cluzsCode="0BS” moodCode="EVN>
<id reot="1{927293-10b6-4334-9d43-c925640fb18L" />
¢eode caden™20” codeSysten="2. [6. 840, |. [ 13883, 3. 986. 2. 1. 1. 19" displayName="reaction”/>
<offectiveTime xsi:type="IVL 157>
<high value="2009010F7/>
¢<l— E.j.4: Date of Start of Reaction / Event H#6 ~>
¢/effectiveTime>
¢value xsiitype="CE” code="F. i.2. 1b" codeSystem="2. 16, 840, L. 113883, 6. 163" codeSystemVersion="E. 1.2, 1la™>
¢le- E.i.2 ka: MedDRA Version for Reaction / Event #6 —>
¢l— €, i.2. tb: Reaction / Event {(MedDRA code) #6 —>
CoriginalText language="E.i. 1. 1b73E i, k. la¢/originalText>
¢l— E.i. 1 1n: Reaction / Event as Reported by the Primary Source in Native Language 6 —>
¢t E, i, 1, 1b: Beaction / Lvent as Reported by the Primary Sottrce Language #6 ——3
{fvalued
¢location typeCode="LOC™>
<locoLedEntity classCode="LOCE™>
¢locatedPlace classCede="COUNTRY" determinerCode="ENSTANCE™>
{code code="E. §i.9" codeSysten="1.0, 3166.1.2.27/>
¢<1— £.1.9: Identification of the Country Where the Repetien / Event Occurred #6 —3
{/locatedPlace?
</locatedEntity>
</location>
{outboundRelationship? typeCode="PERT™>
<observation vinsaCode="0B5" mocdCode="EVN™>
Ceode code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="reactionForTranslation™/?
{value xsittype="ED7SE, 1. L 2{/valued
<l— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation H#6 —>
</observation?
</outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
Ceode code="37" codeSystem="2, 16. 840. 1. 1E3883. 3. 989. 2, 1, 1. 197 displayName="tercHighlightedByReporter™/>
¢value xgiltype="CE” code="E. 3.3.17 codeSystem="2, 16, 840, 1. 113883, 3. 980. 2. L. 1. 10" />
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{}-= E.i.3. 1:Term Highlighted by the Reporter k6 —>
{/observation’
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0B3" mocdCode="EVN™>
<code code="34" cadeSysten="2. 16, 840. 1, 113883, 3, 089, 2. 1. 1. 19" displayName="resultsInDeath™/>
<value xsiitype="BL" vaiue="true”/>
¢!— E.i.3 2a: Results in Death #6 —>
{/observation®
¢{/eutboundRelationship2?
<outboundRelationship? typeCode="PERT™>
{ebaervation ¢lassCode="085" moodCode="EVN">
<cade code="21" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2,1, 1. 19" displayName="isLifeThreatening />
<value xsi:type="BL” nullFlaver="NI"/>
{I— E.i,3.2b: Life Threatening H6 >
{/observation>
¢/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
<observation classCode="0BS™ moodCodex="EVN™>
<eode code="337 codeSysten="2. 16.840. 1. 1153883, 3,989, 2, 1. . 19
{value xsi:type="BL" value="true”/>
<i— E.{.3.2¢! Coused / Prolonged Hospitalisation #6 —>
{/observation>
<AoutboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
lobservation ¢lossCode="085" moodCode="EVN™>
{eode code="35" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19
<value xsi:type="BL” sullFlaver="RI"/>
<I-- £.1,3. 2d: Disabling / Incapacitating #6 ——>
</chzervation?
</outhoundRelationship2>
{outbaundRelationship? typeCode="PERT"»
<observation classCode="0BS" moodCode="FVN™>
Zeode code="127 codeSystems”™2. 16. 840. 1. 113883, 3. 989, . L. £, 19
<value xsi:type="BL” nullFlavor="HNI"/>
¢l E.1i.3.2¢: Congenital Anomsly / Birth Defect #6 —>
¢/ohservation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{abservation classCode="0BS" moodCode="EVN">
<code code="26" codeSysten="2. 16. 840, 1, F13883, 3.989. 2. 1. 1. I9” displayName="otherHedieallyImportantCondition™/>
<yalue xsiitype="RE" values"truc™/>
<l—- E, i.3.2f: Other Medically lmportant Condition H#6 —>
{/observation?
¢/outhoundRelationship2?
<outboundRelationship? typeCode="PERT™>
{ohservation classCode="0BS" mocdCode="EVN">
Ccode code="27" codeSysten="2, 16, 840. 1. 113883, 3, 989. 2. [, 1. 19" displayNome="outcome”™/>
Cvalue xsitype="CE” code="E.i,7" codeSystem="2.16.840. 1, 113883.3.989.2. L. 1. 117/>
¢l-- B.i.7: Cutcome of Reaction / Event at the Time of Last Obzervation #6 —>
{fobservation>
¢/otithoundRelationship2?
<cutboundRelatienship? typeCode="PERT™>
<ohgervation classCode="0BS”" moodCode="EVN™>
Ccode code="24" cadeSystem="%. 16, 840, 1. 113883, 3, 989, 2. L. k. 187 displayName="mediczlConfirmationfiyilealthProfessional />
<vaiue xsiitype="BL™ value="true”/>
¢t— BE.1.8: Medical Confirmation by Healthcare Prefessional #6 —-»
</ohservationd
</outhboasndReiationship2>
CouthoundRelationship2 typeCode="PERT™>
{obzervation classCode="0BS™ moodCode="EVN™>
<code code="11" codeSystems™2. 16. 840. 1. 113883. 3. 989, 5. 1. 3. 2. 1. 107 displayName="3k40 « [ES0°/>
<value xsi:type="CE" code="J2.H4.1i" codeSystem="2. 16,840, 1, 113883, 3,989,5.1.3. 2. L.87/>
<l-- g28J2. 14. § A - BT HE —
{/observation?
{/outboundRelationship2>
</fobservation
¢/subjectf2>
{subject0f2 typeCade="SB]">
Cobservation classCode="0BS" moedCode="EVN™>
<id reot="00342969-38be-423f-b6bb~ce1dbc279dBe™ />
{code code="29" codeSystem="2. 16.840. 1. 113883, 3.985. 2, L. 1. 19" displayMame="reaction™/>
SeffectiveTime xsi:type="IVL_TS™>
<width value="24" unit="E.1i.6b"/>
¢!—— E.i.Ba: Duraticn of Reaction / Bvent {number} #7 ——>

dispiayName="requiresinpaticntHospitalization™/>

displayName="resultsinPersistentOrSignificantDisabilivy™/>

»

displayName="congenitalAnomalyBirthDefect”/>
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¢!~ E.i.6b: Durstion of Reaction / Bvent {unit) #7 —>
{feffectivetime
<value xsiitype="CE” code="E.i. 2 1b" codeSystem="2, 6. 840. 1. 113883. 6. 163" codeSystenVersion="E. 1.2.1a™>
{{mn E.f.2. 1o MedDRA Version for Reaction / Event #7 -
¢l-— E. 1.2 1h: Reaction / Event {(MedDRA code) #7 —>
CeriginalText language="E. 1. 1. tb™3E. i. 1. la¢/originalText>
¢l— E.i.1. la: Reaction / Event nz Reperted by the Primary Source in Native Language §7 —>
¢|-- E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #7 -
{fvaluer
¢location typeCede="L0C™>
{lecatedEntity classCode="LOCE™
ClocatedPloce ¢lassCode="COUNTRY™ determinerCode="INSTANCE™>
<code code="E, i.9” codeSystewm="1.0.3166.1.2.27/>
{1-~ E.i.9: Identification of the Country Where the Reaction / Lvent Qecurred #7 ——>
</locatedPlace>
¢/locatedEntity>
</lecation?
<outboundfelationship? typeCode="PERT™>
{observation clazsCode="0BS" moodCode="EVN™>
<code code="30" codeSystem="2. 16. 840, k. 113883, 3. 989, 2. 1 1. 19 displayNome="reactionForTranslation”/>
<value xsi:type="ED7E. i. 1. 2{/voluel
¢~ E. i.1.2! Reaction / Event as Reported by the Primary Seurce for Translation H7 =
{/obscrvation>
{/outboundRelationshipZ>
CouthoundRelationship? typeCode="PERT™>
{abservation classCede="0BS" moodCode="EVN™>
¢code code="37" codeSystem="2, 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19” displayNape="teraHighlightedByReporter”/>
¢value xsi:type="CE™ code="E.i.3.1" codeSystem="2. 16. 840, 1. 113883.3.989.2. 1. 1.10°/>
{#— E, i,3.1:Ternm Highlighted by the Reporter &7 —>
{/observation>
</outboundReiationship2>
<putboundRelationship? typeCode="PERT™>
<obgervation ciassCode="0BS" mocdCode="EVN™>
¢code code="34" codeSystem="2. 16. 849, 1. 113883, 3. 989. 2. 1. 1. 19" displayName="resultsInDeath™/>
<value xsittype="BL” value="true”/>
€1~ E, i.3 2a: Results in Death #7 —>
{/observation?
</outboundRelationship2>
<outboundiielationship? typeCode="PERT™>
{chservation classCode="0BS" moodCode="EVN™>
¢oade cade="21" codeSysten="2, 16,840, |, 113882, 3, 989, 2. 1. 1. 197 displayNeme="isLifeThreatening”™/>
Cvalue xsiitype="BL” nullFlavor="NI"/>
<1~ £ i.3.2b: Life Threatening #7 —>
{fobservationd
¢/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{chservation classCode="0BS" moodCode="EYN™>
{code code="33" codeSystem="%. 16, 840, I, 113883, 3. 989. 2. 1. 1. 19" displayNome="requiresInpatientllospitalization™/>
<value xaiitype="BL” value="true”/>
{l=~ B, 1,3, 2c: Caused / Prolonged Hospitalisation #7 —>
{/observation”
¢/outhoundRelationship2>
<putboundRelationship? typeCode="PERT™Y
{observation classCode="0BS" moodCode="EWN">
<code code="35" codeSysile="%, 16. 840, 1. 113883, 3,989. 2. 1. 1. 197 displayName="resultsInPersistentOrSignificantDisability™/>
<value xsi!type="BL” nuliFlavor="NI"/>
<l—= E.i,3.2d: Disabling / Incapacitating #7 —>
¢/observation?
¢/outboundBelationship2’
¢outboundRelationship? typefode="PERT™>
Cobservation clrssCode="0BS" moodCode="E¥YN">
{code code="12" codeSystem="2. 16. 840. 1, 113883, 3, 989, 2. 1. 1. 19" displayNane="congenitalinomalyBirthDefect™/>
<value xsi:type="BL" nuliFlavor="NI"/>
¢t—— B.i,3 207 Congonital Anomaly / Birth Defect #7 —>
{/observation
<fouthoundRelat ionship2s
¢outboundRelationship? typeCode="PERT™>
Cobservation classCode="0BS" moodCode="EVN™>
{code code="26" codeSystem="2, 6. 840. 1. 113883, 3, 989. 2. L. L, 18" displayName="otherMedicallyImportantCondition™/>
<value xsi:type="BL" value="true"/>
<l E.i.3.2f: Other Medically Impertant Condition H#7 -
{/observation>
</outboundRelationshipZ>
LoutboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="BVN">
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¢code code="27" codeSystem="2. 16. 840, L. 113883, 3, 989, 2. 1. 1. 19" displayName="outcome™/>
Sralue xgiitype="CE” code="E.i.7" codeSystem#2. 16, B40. 1. 113885.3.989.2. 1. L.11°/>
1=~ E. i,7: Cutcome of Reaction / Bvent at the Time of Last Chservation #7 —>
4/observation?
</outhboundfelationship2>
<outboundhelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™)>
Coode code="24" codoSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. L. 19" displayName="medicalConfirmation8yHealthPrefessional”/>
<value xsiitype="BL" value="true”/>
¢l E. i.8: Medical Confirmation by Healthcare Professional #7 -
{/observation>
¢/outboundRelationship2?
CouthotundRelationship? typeCede="PERT™>
{observation classCode="0BS" mcodCode="EYN">
Ceode coder”11" codeSysten="2. 16. 840, 1. 113863, 3, 980. 5. 1. 3. 2. 1. 10" displayName="3R%0 - BEXN"/>
¢value xsi:type="CE" code="J2.14.1" codeSystom="2. 16, 840. 1. 113883, 2,980,5,1.3.2.1.87/>
<1-- 68872, 14, 1 Fin - BEdn §7 -
{/observation>
</outboundRelationship2>
{/observation?
</subject0f2>
{subject0f2 typelode="SB]">
<ohservation classCode="0BS" moodCode="E¥N™>
<id reoot="nl5be092-8070-126d~af04~E863263443c07/>
Ceado code="29" codeSystem="2. 16. 840, 1, 113883, 3,980, 2. L. 1, 18" displayName="reaction”/>
CoffectiveTime xsi:type="SKPR_TS™>
{comp xsi:type="IVL_TS">
Clow value="200801017/>
{l-- E.i.4: Date of Start of Reaction / Event U8 —->
<width value="24" unit="L, 1. 64"/
¢I-- E.i.6a: Duration of Reaction / Event (number) #8 —>
¢l-~ E. i,6b: Duration of Reaction / Event (unit} #8 —>
{feonp?
<comp xsi:type="1VL_TS" operator="A">
<high value="201052017/>
¢l— E.i.5: Date of End of Reaction / Dvent #§ —>
{/compy
{/effectiveTime)
Cvalue xsitype="CE” code="E. 1,2, 1b” codeSystem="2. 16. 840, 1. 113883, 6. 163° codeSystemVersion="E. i. 2. Fa™>
¢l E. i.2 la: HedDRA Version for Reaction / Bvent #8 —>
¢{l-- E.i.2 1b: Reaction / Event {(MedDRA code) #8 —>
{originalText language="E. 1. L Eb7OE i, 1. la¢/originalText>
1= E. 1. 1. 1a: Resstion / Event as Reported by the Primary Seurce in Native Language #8 ——2
¢l E.i. 1. 1b: Reaction / Event as Reported by the Primary Seurce Language 58 —>
<fralued
{lpcation typeCode="LOC™>
<locatedEatity classCodes"LOCE™
(locatedPlace ciassCode="COUNTRY™ determinerCode="INSTANCE™>
<code code="E.i.9” codeSysten="1, (. 3166. 1.2, 27/> .
¢l—— E. 1,91 Identification of the Country Where the Reaction / Event Occurred #8 -3
{/locatedlace?
<{/locatedEntity>
<{/iocation>
<puthoundRelationship? typeCode="PERT™>
{obaervation ¢lnssCode="085" moodCode="EYN™>
Ceade code="30" codeSystem="2. 16 840. £, 113883, 3,989, 2, 1,1, 197 displayName="reactionForTranslation™/>
<value xsi:type="EIF>E. i. L 2</value>
¢I— [, i.1.2: Reaction / Event as Reported by the Primary Source for Translation #8 -—>
<{/observatian?
</outboundRelationship2>
<outboundReiationship? typeCede="PERT”>
¢ohservation classCode="0BS"™ moodCode="EYN™>
Lcode code="37" codeSystem="2. 16. 840. I. 113883, 3, 980, 2. 1. 1. 197 displayName="ternllighlightedByReporter™/>
Cvalue xsi:type="CE" code="E.1.3.1" codeSystem="2. 16,840, 1, 113883. 3. 980. 2. L. L. i0"/>
Kl E.i.3.1:Term Highlighted by the Reporter 8 -)
{/observation>
{/outboundRelationship2>»
<autboundReiationship? typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">
<rode code="34" codeSystem="2.16.840. 1, 113883, 3. 989, 2. 1. 1. 19" displayName="resultsInDeath™/>
<value xsi:type="BL" value="true"/>
{l— E.i.3.2a: Results in Death #8 ~>
{/observation>
</outboundRelationship2>
<outhoundRelationship2 typeCede="PERT™>
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<abservation elassCode="0BS" mocdCode="EVN™>
¢code code="21" codeSystem="2. 16. 840. 1. 113883. 3. 985, 2. 1. 1. 19" displayNome="1isLifeThreatening”/>
<value xsi:type="BL” nulilFlavor="NI"/>
¢l— E,i.3.2b: Life Threatening #8 —>
¢/observation?
</outboundRelationship2>
<outboundRelationship2 typeCode="FPERT™>
{observation classCode="0BS" moodCode="EVN™>
<code code="33" codeSysten="2. 16, 840. 1. 113883, 3, 989. 2. 1. 1. 19" displayNsme="requiresInpntientHospitalization”™/>
{value xgiltype="BL” value="true”/>
¢l— E.i.3.2c: Caused / Prolonged Hospitalisation #8 ->
{/observation?
{/outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
<ohservation classCode="0BS" moodCode="EVN™>
{code code="35" codeSystem="%. 16, 840, 1, 113883, 3.989. 2. 1. 1. 19" displayName="resultsInPersistentGrSignificantDisability”/>
Cvalue xeiztype="BL™ nullFlaver="NI"/>
¢I— £.i,3,2d: Disabling / Incapacitating #8 —>
{fobservation}
</outboundRelationship2>
<autboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
¢cade code="12" codeSystew="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="congenitalAnomalyBirthDelect™/>
<vafue xsi!type="BL" mullFlavor="N1"/>
¢l— E.i,3, 2: Congenital Anomaly / Birth Defect #8 —>
{/chservation?
</outbotndRelationshipZ>
<outboundRelationship2 typeCode="PERT™>
Cobservation ¢lassCode="0B5" roodCode="EYN">
<code code="26" codeSystem="2. 16. 840, 1. 113883, 3,989, 2,1, 1, 19" displayName="otherMedicallylnportantCondition™/>
<value xsitype="BL" value="true"/>
¢l— E. 1.3 2f: Othor Msdically lmportant Condition #8 —>
{/ohservation?
</outhoundRelationshipn2>
{outboundRelationship2 typeCode="PERT™>
Cobservation classCode="0BS" moddCode="EVN™>
{oode codo="27" codeSystem="2. 16. 840. . 113883, 3.989.2, 1. 1, 19" dispiayName="outcome™/>
¢yalue xsittype="CE™ code="E.i.7" codeSystom="2. 16. 840.1. 113883.3.989.2. 1. 1. 117/>
<l— B.i.7: Outcome of Reaction / Event at the Time of last Obzervation #8 —>
{/ehzervation?
</authoundftelntionship2>
<outboundRelationship2 typeCode="PERT™>
Cabservation c¢lassCode="0BS” moodCode="EVN™>
¢code code="24" codeSystem="2. 16. 840, 1. 113883, 3. 089, 2. 1. 1. 197 displayName="medicalConlirmationBytleal thProfeszional”/>
<value xsiitype="BL” value="true”/>
<I-- E. i.8: Medical Confirmation by Healtheare Professiocnal #8 —>
{/observation>
</cutboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation classCede="0B3" moadCode="EVN™>
{eode code="117 codeSystem="2. L6. 840. 1. 113643, 3. 989. 5. 1. 3. 2. 1. 107 displayName=":KMH - §E47/>
<value xsi:type="CE" code="J2. 14.1" codaSystem="2, 16. 840. 1. 113883.3.989.5. 1. 3. 2. L. 8/
<i— g8aJe. 14,1 FH0 - B4 #8 —
</observation) N
</outhoundRelationship2>
{/observation?
£/subjectDE2>
¢subjeciOf2 typeCode="SB]">
<erganizer classCode="CATEGORY™ moodCode="EVYN">
<code code="3" codeSysten="2, 16, 840. 1. 113883, 3, 989, 2, 1. 1. 20" displayName="testzAndProceduresRelevantToThelnvestigation™/>
(component typeCode="COMP™>
{obszervation classCode="0BS” moodCode="EVN™>
<code codes”F. 1. 2. 20”7 codeSystem="2, 16, 840, 1. 113883, 6, 1637 codeSystemVersion="F.r. 2. 2a">
<l-- F.r.2. 2a: MedDRA Version for Test Name §1 -—>
{l— F.r. 2.2b: Test Name {(MedDRA code) H#I —>
CoriginalText>F, r. 2, 1{/originalText>
Klew F.r, 2. 1 Test Name (free text) #1 —>
</code?
CeffectiveTime value="200901017/>
{l=~ F.r.1: Test Date #1 —>
<value xsiitype="IVL_PG™>
Ceenter value="18" unit="mg/d1"/>
¢I— F.r.3.2: Test Result {value / qualifier) #1 -
{!— F.r.3.3: Test Result {unit) #1I —>
{/valued
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{interpretationCode cade="F.r.3.17 cedeSysten="2. 16,849, 1. 113883, 3.986.2. 1. 1. 12"/>
¢lww For.3.E! Test Result (code) #1 —>
{referenceRange typeCede="REFV™>
4observationRange classCode="0BS” mocdCede="EVAN. CRT™>
<value xsi:type="PQ" value="40" unit="mg/d17/>
<l— F.r.4: Hormol Low Yalue %1 —>
{interpretationCode code="L" codeSystem="2. 16, 840, 1. 113883.5.837/>
</ohservationRange>
</referenceRange”
<referenceRange typeCode="REFV">
{observationRange classCode="0BS" moodCode="EVN, CRT™)>
Svalue xsiitype="PQ” value="110" unit="mg/dl"/>
¢l— F.r.B: Normal High V¥alue ¥1-->
{interpretationCode code="H" codeSystem="2. 16, 840, 1. 113883, 5, 83"/>
{/chservationRange>
</referenceRange>
SouthoundRelationship? typeCede="PERT >
{observation classCode="0BS" moodCode="EVN™>
{code code="10" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" displayNane="comment”/>
<value xsiitype="BD7)F. 1, 6</value>
¢l-w F.r.6: Comments (free text) #I —> N
{fabservation>
</outboundRelationship2>
¢outboundRelationship? typeCade="REFR™>
¢observation classCode="0B5" moodCode="EVN™>
(code code="25" cadeSysten="2. 16, 840, 1. 113883, 3,989, 2, 1. 1. 19" displayName="moreinformationivailable”/>
<value x8iitype="BL" value="true”/>
t—F.r, 7 More Information Available #1 —>
¢/observation>
</eutboundRelaticnship2>
{/observation>
¢/canponenty
<component typeCade="COMP™>
{observation ciaszCode="0BS" moodCode="EVN™>
<code code="F,r, 2, 2b" codeSystem="2, 16. 840. 1. 113883, 6. 163" codeSystemVersion="F.1. 2. 2a™>
{l=— F.r.2 2a: MedDBA Yersion for Test Nome H#2 —7
<I— F.r.2 2b! Test Name (HModDRA code) #2 —>
{originslText>F. r. 2, 1</ original Text>
{I— F.r.2.1: Test Name {free text) #2 -->
{/codey
{effectiveTime value="200001017/>
- F.r.1: Test Dote H2 —>
¢value xsiitype="IVL_PQ"»
<low nuilFlaver="NINE"/>
<high value="107 unit="mg/d1l” inclusive="false”/>
</valued
¢l— F. 1.3 2 Test Result (value / qualifier) §2 -—>
¢I~= F.r.3.3! Test Result (unit) §#2 -->
<I— LT 30 mg/dl #2 —>
{/cbservation>
</component?
{component typeGade="COMP™>
Cobgervation ¢lassCede="0BS" moodCode="EVN">
¢eode code="F, r, 2, 2b" codeSystem="2. 16. 840, 1. 113883. 6. 163" codeSystemVersion="F.r. 2, Zu™>
¢l F, r. 2. 22 YedDRA Yersion for Test Nume §3 ——
<I— F.r. 2. 2h: Test Name {(MedDRA code) #3 -->
CoriginalTextdF.r. 2. 1</originalText>
<I— F 2.1 Test Name {frec text) #3 ~>
</code>
CeffectiveTime value="20090101°/>
{le= F.r, 1t Test Date #3 —>
Cvalue xmiitype="IVL PQ™>
<low nullFlaver="NINF"/>
<high value="E0" unit="mg/dl” inclusive="true”/>
{/valued
{l-— F.r.3.2: Test Result (value / qualifier) £3 «>
¢l— F.r.3,3: Test Result (unit) #3 —
<I— LE 10 mg/dl #3—>
{/observation>
</camponent>
Ceomponent typeCode="COMP™>
{observation classCode="0BS” moedCode="EVN™>
<code code="F.r.2.20" codeSystem="2. 16. 840, 1. 113883, 6. 163" codeSystenVersion="F.r. 2. 2a™>
1o F,r. 2 230 MedDRA Version for Test Name #4 ~—>
{i— F.r.2.2b: Test Name (MedDRA code} #4 ~>
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CoriginalTextF. r. 2. 1{/original Text>
Clow Bor. 2.8 Test Name {free text) f#1 —
</code
CeffectiveTine value="200901817/>
¢t— F.r.1: Test Date #4 —>
<value xsiztype="IVL_PQ™>
<low value="10" unit="mg/d}” inclusive="falae"/>
<high nullFlavor="FINF"/>
</value>
¢l—— F.r.3.2: Test Result f{value / qualifier} B4 —>
<l— F.r.3.3; Test Result (unit} #4 ——>
I GT 10 mg/dl #4 —
{/ohservation?
</conponent>
{component typeCode="COMP™>
{ehservation classCode="0BS™ moodCode="EVN™>
Ceode code="F.r. 2. 2b" codeSysten="2, 16. 840. 1. 113683, 6, 163" codeSystem¥ersion="F.r.2 2a">
¢I-- B.r, 2. 20: MedDRA Version for Test Nawme #5 —>
(i B,r,2.2b: Test Namc (MedDRA code} #5 ——>
<originniText>E. r. 2. 1{/eriginalText>
{lw= F.r.2.1: Test Nome (free text) #5 —>
</code>
<effectiveTime value="20050101"/>
¢l— F.r.1: Test Date #5 —>
{value xsittype="IVL_PQ™>
<law value="10" unit="mg/d1” inclusive="true”/>
<high nullFlavor="PINF" />
</valued
¢lew F.r.3.2! Test Result (value / qualifier) #5 —>
<I~- F.r.3.3: Test Result (unit) #5 -
l— GE 10 mg/dl #5 >
{/observationd
</component?
{component typeCode="COMP™>
Lobservation classCade="0BS™ moodlode="EVN™>
¢code code="F.r. 2.2b" codeSystem="2, 16. 840. 1. 113883, 6. 163" codeSystemVersion="F. r. 2. 20">
¢l-— F.r.2.2a1 HedDRA Version for Test Name 86 —
¢l F.r.2.2b: Test Name (MedDRA code} #6 —>
<original Text>F. r. 2. 1{/originalText>
b F.r. 2,10 Test Nome (free text) #6 —>
<fcode>
¢effectiveTine valus="20090101"/>
¢I-— F,r.1: Test Pate #8 —>
<value xsi:type="ED")F. 1. 3, 4</value>
¢1— F.r.3.4: Result Unstruclured Data (free text) #6 ->
{/observationd
</component>
¢/organizer>?
{/subject0f2>
¢zubject0f2 typeCode="SB}7™>
{organizer classCode="CATEGORY” moodCode="EVN™>
¢code code="4" codeSystem="2. 16. 840. 1. 113883, 3, 980, 2, 1. 1. 20" displayName="drugInformation™/>
¢l— G.k Drug{s} Information (repeat as necessary) #f —>
<component typeCode="COMP™>
{substanceAdministration classCode="SBADM™ moodCode="EVN™>
<id root="3¢2hdd5~e039-4a7a-9c30~67671b0efed" />
<consumable typeCode="CSM™>
¢inslanceOfKind classCode="INST™>
kindOfProduct ¢lassCode="MWAT™ determinerCode="KIND™>
<code code="G, k. 2. 1. Ib” codeSysten="TRD-MPID™ codeSystemVersion="G.k. 2,1, 1a"/>
{tow G k. 2. 1. 1a: MPID Version Date / Number £1 —>
¢4— 6.k 2. 1. 1b: Medicinal Product Identifier QWPID) #1 —>
{name>G. k. 2. 2¢/name>
¢1— G. k.2, 2: Hedicinal Product Name as Reported by the Primary Source #$I ~>
{asManufacturedProduct classCodes HANU™>
¢subjectOf typeCode="SBJ™>
<approval classCode="CNTRCT™ moodCode="EVN™>
¢id extension="G. k. 3.1" root="2. 16, 840, 1, 113883. 3.989.2. 1. 3. 47/>
¢1— G k.3 1 Authorisation / Application Number ¥1 —3>
<author typeCade="AUT™>
{territorialAuthority classCede="TERR™>
Cterritory classCode="NAT” determinerCode="INSTANCE™>
{code code="G. k. 3.2" codeSystem="1.0.3166. 1.2.2°/>
¢l— G.k. 3.2: Country of Authorisation / Application #1 ~~>
{/territory?
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{/territorialAuthority>

{/author>

<{pertinentInformation typeCode="PERT™>
<poliey elassCode="POLICY” moodCode="EVN™>

{code code="J2, 6, k™ codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.3. 2. 1.4"/>
<d— ggdf2. 5.k —ARERGERY RFEXF 8 —
{/policy>
{/pertinentInformzation>
{/approval>
</subject0f>

CsubjectOf typeCode="SBjJ >
<characteristic classCode="0B5" moodCode="EYN™>
¢rode code="1" codeSysten="2. 16. 840. L. 113883.3.088. 5. 1. 3. 2. 1. 107 dizplayName="F LT ORIRER />

¢value xsiitype="CE” code="J2.4. k" codeSystew="2.16.540. 1. 113883, 3,988, 5. 1.3.2,1,37/>
- BR8T2. 4. % MEBELFTORSES 841 —2
</characteristicy
</sub jectOf>

¢/asManufacturedProduct>
{asSpecializedKind classCode="GEN™>
<generalizeddaterialKind cinssCode="MAT™ determinerCode="KIND™>
<{code>
CoriginalTextJZ. 12</original Text>
<I-- geJ2. 12: BEENES
{/code>
¢/generalizediaterialKind>
¢/asSpecial izedKindd
{ingredient clasaCode="ACTI™>
{quantity>
{numerator value="10" unit="G. k.2.3.r. 30"/>
<I— .k 2, 3. r. 380 Strength (number} #1-1 ——>
4= 6.k 2.3.7.3b: Strongth {unit) #1-1 —>
{denominater value="17/>

<Jaquantity>
¢ingredientSubstance classCode="MMAT” determinerCode="KIND™>
Ceode code="G, k. 2, 3, r, 2b” codeSystem="TBD-Substance” codeSystemVersion="G.k. 2.3, x. 2a”/>

¢lww G k.2.3.1.2a: Substance / Specified Substance TernID Version Date / Kumber #1-1 —>
<l=- &.k.2.3.r.2b: Substance / Specified Substance TermID H1-1 —
<nawe>G. k. 2. 3. 1. 1</ name>
{l— 6.k 2.3, r. 1: Subhstance / Specified Substance Name #1-1 —>
{/ingredientSubstance>
¢/ingredient>
<ingredient classCode="ACTI™>
{quantity>
{numerator value="10" unit="G.k.2.3.r. 3b7/>
A— G.k.2.3.1. 30 Strength (number) £1-2 -=>
¢i-- G. k. 2.3.r.3b% Strength (unit) #i-2 —>
<deneminator value="17/3
<fquantity)
<ingredientSubstance classCode="WMAT determinerCode="KIND™>
{code code="G. k. 2. 3. r. 2b" codeSystem="TBD~Substance” codeSystemVersion="G.k.2.3.r.22"/>
Clwn G, k. 2.3.1. 23 Substance / Specified Subsiance Termlb Version Date / Number #1-2 -——>
¢I— G.k 2.3.r.2b: Substance / Specified Substonce TexmID #1-2 -
<name?G. k. 2. 3. r. 1</name>
¢|— G.%. 2 3.r.1: Substance / Specified Substance Name #E-2 —>
{/ingredientSubstance>
{/ingredient? .
{/kind0fPreduct?
<subjectOf typeCode="8SB]™>
{productBvent classCode="ACT™ moodCode="EVN™>
<code code="1" codeSysten="2. 16. 840, 1. 113883, 3. 989. 2. L. [, 18" dispiayNome="retailSuppliy”/>
{performer typeCode="PRF™>
<aszignedEntity classCodes”ASSIGNED">
{representedOrgonization classCode="O0RG™ determinerCode="INSTANCE™»
Caddr>
{eountry»G. k. 2. 4</country>
{l— G.%. 2.4: Identification of the Country Where the Drug Was Obtained #1 —>
{/nddr>
{/representedOrgaonization’
{/ossignedEntityd
</performer’?
<{/productEvent?
</ subjoctdf>
<subjectdf typeCode="5B]"»
<observationBvent elassCode="08S" moodCode="EVN™>
<code code="2" codeSysten="2. [6. 840, . 13883.3.989.5, 1. 3. 2. 1, 107 displayHane="—fXAERMHOAFEN"/,
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Reaction #1 ——>

Reaction #1l —>

Reaction #2 -—>

Reaction #2 ——>

Resction #3 —>

Reaction #3 -5

Reaction #4 —>

Reaction #4 ~w>

Cvalue x5i:type="CE” eode="J2. 6. k" codeSysten="2. 16. 840. 1, 113683, 3,989.5.1.3.2. 1.57/>

¢l @a9J2.6. %k —RXBEEMKOANEER 1 —>

{/observationEvent>
¢/subject0f>
</instance0fKind>
{/eonsumable?
<oputboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G. k.%.i.3. 1b"/>
<— 6. %. 9. 1. 3. 1a: Time Interval between Beginning of Drug

{l— G.%.9.i.3.1b: Time Interval between Beginning of Drug

CactReference classCode="0BS™ moodCode="EVN™>
{id root="154ch889-958b—45£2-a02f-42d4dGE465TL />
¢/actReference>
{/outhoundRelationshipl>
¢outboundRelationshipl typeCode="SAE™>
<pouseQuantity value="10" unit="G. k. %, 1i.3.2b"/>
!~ G, k.9.4.3. 2a: Time Interval between Last Dose of Drug

{i— G, k.8, 1.3, 2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS™ moadCode="EVN™>
<id root="154e¢b889-958b-45f2-n02f-42d4dE6T465TE"/>
{/actReference>
¢/outhoundRelationshinl>
<outboundRelationshipl typeCode="5AS">
{pauseQuantity value="10" unit="G.k.9.i.3.1b7/>
{l— £,k 9.1, 3. la: Time Interval between Beginning of Drug

{l— £,k 9.1.3. 1b: Time Interval between Beginning of Drug

<actReference c¢inssCode="0BS” moodCode="EVN™>
<id root="2baa28d6-cYe8~1ebc-93c9-5h860b3142207/>
{/actleference>
</outhoundRelationshipl>
<outboundRelationshipl typeCode="SAE™)
<pauseQuantity value="10" unit="G. k. 2.1.3 2b"/>
<Ie— G.k.9.1.3.2a% Time Interval between Last Dose of Drug

¢l 6.k 9. 1.3.2b: Time Entervasl between last Doze of Drug
<actReference classCode="0H5" mocdCode="EVN">
<id reot="2ban28d6-¢9e8~4cHe-930l-5bBE0LI142207/>
{/actReferenced
</outhoumdRelntionshipl>
ZoutboundRelationshipl typeCode="35A3">
¢pauscQuantity value="10" unit="G k.9.i.3.1b7/>
<l— 6. k.9 4.3, Ia: Time Interval between Beginning of Drug

C1— G. k.8 1. 8. kb Time Interval between Beginning of Pbrug

CactReforence classCode="0BS" moodCode="EVN™>
<id root="3a8626ch-Bf1b-4eal-Ba0f-o0FF34430adt ™ />
{/actReferchee?
</outboundRelationshipl>
CouthoundRelationshipl typeCode="SAE™>
{pauseQuantity value="I0" unit="G. k. 9.1.3.2b7/>
¢l-- 6. k. 9.i. 3 20: Time Interval between Last Dose of Drug

lew 6. k.9.i.3.2b: Time Interval between Last Dosze of Drug
<actReference classCode="0BS" noodCode="EYN™>
{id root="3a8626ch-971b~4cad~Balf~c0f{34430adl" />
</actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G. k. 9.4i.3.1h"/>
{l— 6.%9.4. 3 1a: Time Interval between Beginning of Drug

{1— 6. k.9.1. 3. 3b: Time Interval betwesn Beginning of Drug

<actReference classCodes”DBS” moodCode="EVN">
<id root="2e99840f-0D8b4-449c-80fI-dd8415F4f8a5"/>
</actReference>
{/outboundRelationshipl>
{oputboundRelaticnshipl typeCodes"SAE™>
CpauseQuantity value="E0" unit="G.k.9.1.3.2b7/>
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Administration and Start of Reaction / Bvent (number) Drug iit,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Reactien / Event {nusber) GOUrug #1, Reaction K1 —-

and Start of Reaction / Event (unit) Drug ¥i, Reaction #f1 —>

Adminiztrasion and Start of Reaction / Event (number} Drug H#i,

Administration and Start of Reaction / Event (unit) Drug #1,

and Start of Heaction / Event (nusber} Drug #1, Reactien #2 —

and Start of Reaction / Event (unit) ODrug #1, Reaction #2 —>

Administration and Start of Reaction / Bvent (number} Drug #1,

Administration and Start of Reaction / Bvent (unit} Drug K1,

and Start of Reaction / Event (number) Drug #i, Reaction #3 —

and Start of Reaction / Bvent (unit) Drug #1, Reoction #3 —>

Administration and Start of Reaction / Event (number} Drug #1,

Administration and Start of Reaction / Bvent (umit)} Drug #1,



Reaction #5 -

Reaction #5 —>

Reaction #6 -}

Reaction #6 —>

Rezction 7 -

keaction #7 —>

Reaction #8 —>

Reaction #8 —>

l=- 0.k.9.i.3.2a: Time Interval between Last Dose of Drug

{l— 6.k 9.1.3.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS" moodCode="EVN™>
¢id reot="2p00840f~08b4-499¢-BOff-ddE41514£855" />
<factReference?
</outhoundRelationshipl>
CoutboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G. k. 9.i.3.ib"/>
<l— 6.k.9.i.3. la: Time Interval beiween Beginning of Drug

== G,k 9.i. 3 1b: Time Interval between Beginning of Drug

{actReference classCode="0BS™ moodCode="EVN™>
<id rac1="1071064c~cf14~4n3b-B3ci-34f9ddbTeabd”/>
{/actReference’
{/outbeundReiationshipl>
ZoutboundRelationshipl typeCode="SAE">
<pattseQuantity value="10" unit="G. k.9.1.3.2b7/>
<l— G, k. 9.i.3 2a: Time Interval between Last Dase of Drug

<l-- G.k 9.i.3.2b: Time Interval between Last Dose of Drug
<actReference classCode="0BS™ moodCode="EVN™>
<id root="1071064c~cf10-4a3b-83c1-34£9ddbTenbd />
{factReference?
</outheundlelationshipl>
<outhoundRelationshipl typeCode="SAS™>
<pouseQuantity value="10" unit="G.k.9. 1.3, ib"/>
<l— G. k. 9.i.3. la! Time Interval hetween Beginning of Drug

d-- G,k 9,1,3,1b: Time Interval between Beginning of Brug

<actReference ¢lassCode="0BS" moodCode="EVN">
¢id reot="1{927283-10b6-4334-5d43~c025640fb18BE" />
{/actReference?
</outbaundRelationshipl>
{outboundRelatienshipl typeCode="SAE™>
{pouseluantity value="10" wnit="G. k. 9.i.3. 2b"/>
¢i—- G,k 9 i.3.2a: Time Iaterval between Last Doge of Drug

¢(i-- G.k.9.1.3.2b Time Interval between Last Dose of Drug
¢actReference clasaCode="0B5" meodCode="EVN™>
<id root="1f927283~10b6-4334-3443-c925640¢b18E" />
</actReferencer
</outboundRelstionshipl>
<outhoundRelationshipl typeCode="5AS">
<pauseQuantity value="10" unit="G.k. 9. 1.3 Ib"/>
¢l-- G.% 9.1.3.1a: Time Intervasl between Beginning of Brug

¢l-- (. % 9,1, 3. 1b: Time Interval between Beginning of Drug

<actRBeference classCode="0BS" wondCode="EVN™>
<id root="c0342969-38be-423F-h6bbwcel4be273dBe" />
{/factRelerence)
{foutboundRelationshipld .
<outhoundRelationshipl typeCode="SAE">
¢pauzeluantity value="10" unit="G, &, 9. i. 3. 25" />
¢l—— G.k.9, §.3.2a; Time Interval between Last Dosc of Drug

- G. k. % §.3.2b2 Time Interval between last Dose of Drug
<actReference clossCode="0B53" moodCode="EVN™>
<id root="00342969~38be-423f-bbbb-celdbc2i0die™ />
</actReference>
{/outbeundRelationshiply
<outboundRelationshipl typeCode="SAS™>
<pauzeQuantity values"10" unit="G.k.9.1.3.1b"/>
<l— G, k. 9.1i.3. ta: Tire Enterval between Beginning of Drug

<l-— G.k.9.1. 3. tb: Time Enterval botween Beginning of Drug

<actReference clazsCedes"0BS” moodCode="EYN™>
¢id root="215be092~8070-426d-af04-686326344300"/>
{/actReference?
</outboundRelationshipl>
{outhoundRelationshipl typeCode="SAE™>
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and Start of Reaction / Event (number) Drug #1, Reaction #4 —

and Start of Reaction / Event (unit) Drug &1, Reaction #4 —>

Adpiniztration and Start of Reaction / BEvent (mumber) Drug #1,

Administration and Start of Reaction / Event (unit) Drug &1,

and Start of Reaction / Event (number) Drug #1, Reaction #5 —

and Start of Reaction / Event (unit} Drug §1, Reaction #5 —>

Administration and Start of Reaction / Event (number) Drug #l,

Adwiniztration and Start of Reaction / Event {unit) Drug #1,

and Start of Reaction / Bvent (number} Drug #1, Reaction #6 —-

and Start of Reaction / Eveat (unit) Drug #1, Reaction #6 ~—»

Administration and Start of Reaction / Event (number) Brug #1,

hdministration and Start of Reaction / Bvent (unit} Drug #1,

and Start of Reaction / Event (number) Brug #1, Reactien B7 —

and Start of Resction / Bvent (unit) Drug k1, Reaction 7 —>

Admipistration and Start of Reaction / Event (pumber) Drug &1,

Administration and Start of Reaction / Event {unit) Drug ¥,



{pauseQuantity value="16" unit="G.k.9.1i.3.2b"/>
¢l-— G.k.9.1.3.2a: Time Interva) between Last Dose of Drug and Start of Repction / Event (number) Drug #1, Reaction #8 —

¢l G. k. 9.1,3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction 8 —>
{actReference classCode="0BS" moodCode="EVN™>
¢id root="a15be092-8070-426d-af04-6863263443e07/>
</actReference’
{/outboundRelationshipl>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{code code="8" codeSystem="2. 16. 840. 1. 113883.3. 989, 2. 1. L. 18" displayName="blinded”/>
{value xsi:type="BL” valuc="true”/>
¢lw~ G.k.2.5: Investigational Praduet Blinded #1 -—>
{/obhservation>
</outboundRelationshipZ>
{outhoundRelationship2 typeCode="COMP™>
<i~= G. k. 4.1 Dosage and Relevant Information {repeat as necessary) #1-1 —>
<substanceAdministration classCode="SBADM" moodCode="EVN">
{textdG. k. 4. r. B/ text?
¢}— G.k.4.r.8: Dosage Text #1-f —
Ceffectivelime xsiltype="SXPR_TS™>
<comp xsi:type="PEVL_FS™>
<peried value="10" unit="G, k. 4.r.3"/>
<l-- G.k.4.r.2: Number of Units in the Interval #1-1 —
<le— G, k.4,7. 3! Dpfinition of the Time Interval Unit #1-1 —>
</eomp>
{comp xsi:type="IVE_T5" operator="A">
{low value="200901017/>
¢I— 6.k 4.r.4: Date and Time of Start of Drug it1-1 —>
<high value="200901017/>
¢l—- 6.k 4.r.5: Date and Time of Last Administration #l-1 -->
{/comp>
<comp xsiitype="IVL_TS” operator="A">
<width value="4" unit="G.k.d4.r.6b7/>
¢l Gk 4. 1. 607 Puration of Drug Adwinistration {(number) §1-1 —>
<!—— G. k. 4.r.6b: Duration of Drug Administration {unit) #1-1 —>
</comp>
<feffectiveTime>
¢routeCode code="G. k. 4. r. 10, 2b° sodeSyatens"2, 16, B40. 1, 113883. 3. 989. 2. 1. 1. 14" coduSystewVersions"G, k. 4.1, 10.2a">
¢l— G.k.4. 1. 10. 25 Route of Administration TermID Version Bate / Nupber #l-1 -->
(l—- 6.k 4. 1.10,2b: Route of Administration TernlD #I-t -->
CoriginalText>G. k. 4. r. 10. i¢/originalText>
¢l-- 6. k.4.r. 101! Route of Administratien (free text) #1-1 —>
<{/routelode>
{doseQuantity value="10" unit="G. k. 4.x. 1"/
&l-~ G k. 4. r. la Dose (number) Bi-1 —->
¢I-- G.k.4.r.1b: Doge (unit} #i=1 >
<oongumable typeCode="CSM™>
¢instunceOfKind classCode="INST">
(productInstancelnstance ¢lassCode="MMAT” determinesCode="INSTANCE™>
<lotNumberText>G, k. 4, 1. 7</lotNunberText>
¢l-~ G k. 4.r.7: Batch / Lot Number #1-1 —>
¢/productlnstancelnstance?
¢kind0Product classCode="MMAT” determinerCode="KIND™>
<formCode code="G.k. 4, 1. 9.2b" codeSystem="TBD-DoseForm” codeSystemVersion="G.k.4.r.9.2a™>
{lew G.k.4.r.9.2a¢ Pharmaceutical Dose Form TermID Version Date / Number #i-1 —>
¢3— G.k.4.r. 9.2k Pharmaceutical Dose Form TermID #1-1 —>
CoriginalText)G. k. 4. 1. 9. 1</ originalText>
¢1—- G. k. 4.r.9,1: Pharmaceutical Dase Form (free text) #1-1 -2
</fornCode>
</kind0fProduct>
</instance0fKind>
</consunmable>
{inboundRelationship typeCode="REFR">
{observation claszCode="0BS™ moodCode="EVN">
¢code code="28" codeSystem="2, 16.840. 1. 113883, 3. 989, 2. 1. 1. 19" displayName="parentRouteOfAdninistration™/>
¢value xsiitype="CE” code="G.k.4.r. 11.2b" codeSysten="2, 16, 840. 1, 113883. 3. 989. 2. [. 1. 14" codeSystemVersion="G. k. 4.r
il.2a™>
¢l-— G.k.4.r. 1% 2a! Parent Route of Administration Termili Version Dote / Number #1-1 —>
¢1-— G k. 4. r. 11, 2b: Parent Route of Administration Termll Hl-1 —>
originalText?G. k. 4, r. 11. 1<{/originalText?
¢l— G, k.4.r.15. 1: Parent Route of Administration {free text) #I-f —>
</value>
{/observation>
{/inboundRelationship>
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{/substanceAdministration?
{/outboundRelationship2>
<otttboundRelationshipZ typeCode="COMP™>
¢!-- G. % 4. r: Dosage and Relevant Information {repest as necessary} #1-2 —>
{substanceAdministration classCode="SBADM" moodCode="EVN™>
<text>G. k. 4.1, B/ text>
<t G. k. 4.1.8: Dozage Text #1-2 ~—>
Ceffectiveline xsi:type="SXPR_TS™>
<eomp xsiltype="PIVL_TS">
¢period value="10" unit="G.k.4.r. 37/
<1—- G.k.4.r.2: Number of Units in the Interval §1-2 -->
¢i— Gk 4.r.3: Definition of the Time Interval Unit §1-2 —>
{/comp>
{comp xsi:itype="IVL_TS” operator="A">
<low value="200901017/>
KI— G.k.4. 1. 4! Dote and Time of Start of Drug #i-2 —>
<high vaiue="200901017/>
{iwe G.k.4.r.3: Date ond Time of Last Adwinistration $1-2 «>
{/comp>
</effectiveTime>
{routeCode code="G.k. 4.r.10.2b" codeSysten="2. 16, 840, 1. 113883, 3,989, 2. 1, 1. 14" codeSystenVersien="G. k. 4. 1. 1. 22>
¢t-— G. k. 4.r. 10. 2a: Route of Administration TermID Version Date / Number #1-2 —>
¢f== G, k.4.1.10.2b: Route of Administration TermID #1-2 —>
CoriginaiText>G. k.4, r, 10 1</original Text
{fww G k.4 r.10.1: Route of Adwministration (free text) H1-2 ->
</routeCade>
<doseQuantity value="10" unit="G, k.4.1.167/>
<i-- G. k. 4.r. 1a Dose (number} HI-2 -2
(1w Gk A r.1b: Dose (unit) H#i1-% —>
Cconsumable typelode="C5H">
¢instanceOfKind classCoden” INST™>
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{lotHumberText>G. k 4. r. 7¢/lotNurberText?
¢l-— G.k.4.r. 7: Batch / Lot Number #1-2 -->
<fproductInstancelnstance?
<kindBfProduct classCode="MMAT™ determinerCode="KIND™>

{fornCode code="G.k. 4.1.9. 20" codeSysten= TBD-DoscForm™ codeSystemVersion="G. k. 4.r. 9. 2a™>
{4— G,k 4. 1.9 22 Pharmaceutical Dese Form TermlD Yersion Date / Number #1-2 —>
{}— G. k. 4. 1.9, 2b: Pharmaceutical Dose Form TermlD #1-2 —3

{originalText?G. k. 4. r. 9. 1{/originalText>
{—- 6. k.4.1.9. 1! Pharmaceutical Dase Form (free text) #1-2 —>
</fornCode?
{/kind0fProduct>
¢/instanceCfXind>
</congumabley
{inbeundRelationship typeCode="REFR™>
<cbzervation classCode="0B5” moodCode="EVH™>
¢eode code="28" codeSystem="2. I6. 840, 1, 113883, 3,689, 2, 1, 1, 19° displayName="parentRouteOfAdninistration™/>
<valte xsitype="CE" code="G.%. 4.7. 11, 25" codeSystem="2. 16. 840, 1, 113683. 3. 989. 2. 1. 1. 14" cedeSystenVersion="G. k. 4.1,
EL 2a™>
(i G k.4.r. 11 Za: Parent Houte of Administration TermiD Version Date / Number #I-2 —>
¢t-— G.k.4.r.11.2b: Porent Route of Administration TermID §1-2 -3
CoriginaiTextd6 k. 4. r, 11 1</ originalText>
¢!~ G.k. 4.7 11, 13 Parent Route of Administration (free text) #1-2 —>
</valued
</observation?
{/inboundftelationship>
{/substonceAdninistration?
¢{foutboundRelationship2>
¢outboundRelationship? typeCede="COMP”>
¢i-- G.k.4.r: Dozage and Relevant Information (repest as necessary) ®i-3 —>
{substanceAdninistration classCode="SBADM™ moodCode="EVN™>
{textG, k. 4. r. B/ texe>
I~ G.k. 4. 1.8 Dosage Text #1-3 >
<offectivelime x=iltype="S{PR_TS™>
{comp xsiltype="PIVL_T5™>
<peried value="10" unit="G. k. 4.r.37/>
¢l—— G,k.4.r.2: Number of Units in the Interval #1-3 -—>
{l== G.k.4.r. 3% Definition of the Time Interval Unit #i-3 ~>
</comp>
<eomp x8iftype="IVL_TS™ operator="A">
<low value="20090101"/>
<I-- G. k. 4.1.4: Date and Time of Start of Drug #1-3 —>
<width value="4" uniz="G.k.4.r.6b7/>
¢1-- G.k.4.r.6a Duration of Drug Administration {number) #1-3 —>
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¢l— Gk 4.r.6b: Duration of Drug Administratien (unit) #1-3 —>
</compy
/effectiveTime>
<routeCode code="G. k. 4.r.10,2Zb" codeSystem="2, 16, 840. 1. 113883. 3. 969. 2. L. 1. 14" codeSystenVersion="G, k, 4. r. 10.2a">
¢1-- G. k. 4.r.10. 227 Route of Administration TermlD Version Date / Number #1-3 —>
<1-- G k. 4. 1. 10, 207 Houte of Adeministration TermID #1-3 —>
CoriginnlText>G, k, 4, r. 10. E</originalText>
<l-= 6. k.4.r.10.1: Route of Administration (free text} #i-3 ——>
{/routcCode>
(doscQuantity value="10" unit="G. k. 4.r.1%"/>
¢l-- G,k 4.1, la Dose (number) #1-3 —>
<!~- G.k.4.r.1b: Dose (unit) #1-3 —>
<consumable typeCode="CSNH™>
<ingtance0fKind classCode="INST™>
¢productinstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotHumberText>G. k. 4. r. 7</lotNumberText>
{l~ G.k.4.1.7: Batch / Lot Number #1-3 —>
</productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCodes"KIND™>
(Torntode code="C. k. 4. 1.9 2b”" codeSysten="T8D-DozcForm” codeSystemVersion="6. k. 4.1.9.2a™>
¢l— G,k 4. 1.9, 2a; Pharmaceutical Dose Form TermID Version Date / Number #1-3 —>
<l G.k. 4. r.9.2b: Pharmaceutical Dose Form TermID #1-3 —>
CoriginaiTextdG. k, 4. r. 9. i</originnlText>
¢le- G.k. 4.r.9.1: Pharmaceutical Dose Form (free text) #1-3 —>
</formCode>
¢/kind0fProduct>
{/instanceGfKind>
{/consumable’
{inboundRelationship typeCode="REFR™>
<ohservation classCode="DBS™ moodCade="EVN">
¢eade code="28" codeSystem="2. 16, 840, 1, 113683, 3. 980. 2. 1. 1. 19" displayName="parentRouteOfAdninistration™/>
(value xsiltype="CE" code="0. k. 4.1. E1. 2b" codeSystem="2. 16, 840, 1. 113883. 3, 989. 2. L. 1. 147 codeSystenVersion="G.k.4.z.
11,2a">
¢l— G.k.4.r. 11. 2a% Parent Route of Administration TermlD Yersion Date / Number Fl-3 —>
<l-- Gk 4. r. 11 25 Parent Route of Administration TermlD H1-3 —>
CoriginaiText6. k. 4. 1. 11, 1</originalText>
¢l— Gk 4, 1. 11,17 Parent Route of Administration (free text} #1-3 —
{/value> '
{/ohservation?
</inboundRelutienship?
</substanceAdministration>
</outhounditelationship2>
{autboundRelationship? typeCode="COMP™>
¢le G.k 4. 1: Dosoge and Relevant Information {repeat ns necessary) H#l-4 -->
{substanceAdministration classCode="SBADY" moodCode="EVN™>
{text?G. K. 4. r. 8</text?
¢)-= G k4.1, 8 Dosage Text #l-4 ——
CeffectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS™>
¢period value="10" unit="G.k.4.1.37/>
<l— G. k. 4,1, 2: Number of Units in the Interval §1-4 —>
¢l-- G.k. 4.r.3: Definition of the Time Interval Unit #1-4 —>
{/comp>
Ccomp xelitype="FVE TS operator="A">
<width value="4" unit="G. k.4.r.6b7/>
¢l-~ G.k.4.r.6a! Duration of Drug Administration (number} Hl-4 —>
<l— G. k. 4.1, 6b: Duration of Drug Admipistration (uait) #1-4 —>
<¢high valuee="200901017/>
<l— G.k.4.7r.5: Date and Time of Last Administration Bl-d -5
&/feomp>
¢feffectiveTime>
¢routeCode code="G. k. 4.1, 10. 2b" codeSystem="2, 16, 840, 1. 113883. 3,989, 2, 1, 1. 14”7 codeSystexYersion="G. k. 4. 1. 10, 22™>
<l— 6. % 4.r.10.2a: Route of Administration TermiD Version Date / Number #1-4 —>
<l §.%.4.r.10.2b: Route of Administration TermlD HI-4 ——>
Coriginal Text>G. k. 4. r. 10, 1</originalText>
¢l— Gk 4.1, 10. k: Route of Administration {free text) ¥1-4 —
{/routeCode>
¢doseQuantity value="10" unit="6.k 4.r. 1b"/>
¢{I—- G.k.4.r.la Dose (number) #l-4 —>
¢f— G. k. 4, r. 1b: Dose (unit) §1-4 >
{consumahle typeCode="CSH">
¢instanceOfKind elassCode="INST™>
{productInstancelnstance classCode="MMAT™ determinerCode="INSTANCE™>
<lotNunberText>G. k. 4. r. 7</lotNunberText>
{l~— G.k.4.r. 7% Batch / Lot Number #1-4 —>
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</productinstancelnstance>
¢kindOfProduct elassCode="IBAT determinerCode="KIND™>
¢ForsCode code="G, k. 4, 1.9. 25" codeSysten="TBI~DoseForr” codeSystemVersion="G. k. 4.r.9.2a™>
{1—- G,k 4 1.9, 2a: Pharmaceutical Dose Form Tersil Version Date / Number #1-4 —>
¢1-- G.k. 4. r.9.2h: Pharmaceutical Dose Form TermiD #i~4 ——>
<originalText’G. % 4.r. 9. 1</originalText>
¢l G.k 4. r.9.1: Pharmacentical Dosc Form {free text) H§1-4 —>
{/formCoday
</kindOfProduct
{/instanceOfKind>
{/consumable?
<inboundRelationship typeCode="REFR™>
{observatien classCode="0B5" moodCode="EVN™>
¢code code="28" codeSysten="2. 16, B40, 1. 113883. 3. 989. 2. 1. 1, 19" displayNsme="parentRoutaOf Administration”™/>
¢value x8iitype="CE” code="6. k.4 r.11.2b" codeSystew="2. 16,840, 1. 113883, 3. 989. 2. 1. 1. 14" codeSystenVersion="G. k. 4.r.

11,2a">
¢4== G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number Ri-4 ——>
¢I— Gk 4. r 11, 2b7 Parent Route of Administration TermIl Hl-4 —>
CoripinalText>G, k. 4. . 11. 1</originalText>
= G.k, 4.r. 11. 11 Parent Reute of Administration (free text) #1-4 ——>
</value?
</cheervation?
</inboundRelaijonship>
</substanceAdministration?
¢/outhoundRelationship2>
<¢ottthboundRelationship? typeCode="COUP™>
¢t~ G.k 4. r: Dosage and Relevant Information (repeat as necessary) #1-5 —>
(zubstanceAdministration classCode="SBADY" moodCodes"EVN™>
Ctext>G k. 4. r. 8¢/ textd
{1 G.k 4.1.87 Dosnge Text #l-5 -~
¢effectiveTime xsi:type="SXPR_TS™>
{comp xsi'type="EVL_TS™>
<low value="200901017/>
¢i— G.X. 4.1.4: Date and Time of Start of Prug #1-5 —>
<high value="20090101"/
¢i—- G.% 4. r.5: Date and Time of Lazt Administration §1-§ —>
{/comp>
{comp xgiitype="iVL_TS” operator="A">
<width valee="4" enit="6.k. 4. r.6b"/>
¢i-- G.k. 4 r.6a: Duration of Drug Administration {number) §I1-5 —>
¢i—- 6. k. 4. r.6b: Duration of Drug Administration {unit) #1-5 -->
<{feomp?
{feffectiveTime?
¢routeCode code="G. k. 4.1, 19, 25" codeSystem="2, 16. 840. . 113883, 3, 989, 2. 1. 1. 14" codeSystemVersion="G. k. 4. 1. 10. 22™>
{4 G.k. 4.1, 10,20 Route of Administration TermlD Version Date / Number Bl-§ «->
<t-- G,k 4. 1.10,2b: Route of Administration TermID ¥1-§ ——>
. CoriginalText?G. k. 4. r. 10. 1{/originaiText?
¢I-— G k. 4.1 10, E! Route of Administration {frec text) #1-5 —>
</routeCode?
{doscQuantity value="10" unit="G. k. 4.r. 167/>
¢l G.k.4.r. 1a Dosc (number) ¥1-6 ——>
¢I-— G. k. 4. r. 1b: Dose (unit} #1B ~>
<consumable typeCode="C54™>
<instanceOfKind classCode="INST™>
¢productinstancelnstance classCode="MMAT" determinerCode="INSTANCE"»
<lotNumberText>G. k. 4. r. 7</lotNunberText>
|-~ G. % 4.1.7: Bateh / Lot Humber #1-5 —>
¢/productinstanceinstance’
CkindDfProduct classCode="IMAT” determinerCodes"KIND™>
<foraCode code="G. k. 4.1.9, 2h”" codeSysten="TBP-DoscForn” codeSystenVersion="G, k. 4.r.9.2a">
¢l— G, % 4.71.9. 2a; Pharmaceutical Dose Form TermlD Version Date / Number #1-5 —>
{Iw~ G. k. 4.1.9.2b: Pharmaceutical Dose Form TermlD #1-5 —->
<originalText?G. k. 4. 1. 9. I</originalText>
¢l G.k 4.7.9.1: Pharmaceutical Dose Form (free text) #1-5 —>
{/foruCode?
</kind0fProduct>
¢/instance0fKind>
</consumabled
{inbourdRelationship typeCode="REFR™>
<observation classCode="0BS” moodCode="E¥H™>
<zode code="28" codeSystom="2. 1§, 840. L. 113883, 3,989, 2. §. 1. 19” displayName="parentRouteOfadninistration”/>
¢value xsiitype="CE" code="G.k.4.r.11.2b" codeSystem="2.16. 840. 1. 113883, 3. 080. 2. L. 1. 14" codeSystemVersion="G.k.4.r,
11.2a™>

<!— §. k. 4. 1. 11.2at Parent Route of Adeinistration TermID Version Date / Number #1-§ -~
¢l & k. 4.r. 11, 2bt Parent Reute of Administration TernlIDt #1-5 ——2
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CoriginalText>& k. 4. r. 11. 1</original Text>
{l— G.k.4.r. 11. 11 Parent Route of Administration (free text) #1-5 —>
{fvalue>
{/observation?
¢/inboundRelationship>
</substanceAdninistration>
{foutboundRelationship2>
<outboundRelationship? typeCode="COMP™>
¢I— G.X%.4.r: Dosage and Relevant Information (repcat as necessary) #1-6 ——>
{substanceAdministration classCode="SBADM" moodCode="EVN™>
<text>G, k. 4, r. B/ text?
¢I—— G. %k 4.r.8: Dosage Text #I-6 ——
¢effectiveTime xsi:type="SXPR_TS™>
<comp xsiitype="PIVL_TS™
{period value="10" unit="G, k. 4.r.37/>
(Jwe G k. 4. r.2: Number of Units in the Interval #1-6 ——>
{l~- G. % 4.r.3: Definition of the Time Interval Unit F1-6 —>
¢/comp>
<comp xsiitype="IVL_T5" cperator="A">
low value="200901017/>
¢l— G.% 4. r. 41 Date and Time of Start of Drug #1-6 ~>
<width value="4" unit="G.k 4.r. 6v"/>
¢{— G, k. 4.7, 6a: Duration of Drug Administration (number) #1-6 —>
¢I=— G.k.4.r.6b: Duration of Drug Administration (unit) #1-6 -->
¢/comp>
Ccomp xsiitype="IVI, T5" operator="A">
<high value="20090101"/>
{}=~ G.k. 4. 1. 5: Date and Time of Last Administration #I-6 ——>
{/comp)
{/effectiveTime?
¢routeCode code="G. k. 4,1, 10. 2b” codeSysten="2, 16. 840, 1. 113883, 3. 989, 2, 1. 1. 14" codeSystenVersion="G. k. 4.1, 10. 2a™>
lm= G.k. 4. r. 10. 22! Route of Administration TernID Version Date / Number H1-6 —>
¢l— 6.k 4.r 10, 2b: Route of Administration TermID #1-6 —>
ZoriginalText)G. k. 4. r. 10, 1</originaiTextd
¢l— G,k 4.r. 10,1: Route of Administration (free text) Bi-6 —>
{/routeCode>
{doseQuantity value="10" unit="G. k. 4.r. 1b"/>
<I— G.k 4. 1. 1a Doge (nusber) #1-1 -->
Clew Gk 4.7, 103 Dose (unit) f#1-1 —>
<constipable typeCode="CSH™)
<instanceQGfRind classCode=" INST™>
{product Instancelnstance classCode="MMAT” determinerCode="INSTANCE™>
ClothunberText?G. k. 4. r. 74/ totNunberText>
. = Gk 4, r. 7 Bateh / Lot Numwber #1-1 —
{/productinstencelnstance>
<kindOfProduct classCode="VMAT™ determinerCodo="KIND™>
<TormCode code="C. % 4. 1. 0. 2b" codeSysteon="TBD-DoscForm” codeSystemVersion="C. k. 4.r. % 2a™>
{l— G.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Bate / Number #1-6 -3
{lw~ G k.4.1.9. 2b; Phorpaceutical Dose Form fermlD Hi-6 -—>
{originalfext>G. k. 4. r. 8. 1{/originalText>
¢l G. k. 4. r.9. 1 Pharmaceutical Dose Form (free text) $1-6 -
</formGode>
</kindOfProduct?
</instance0fXind>
{/consumable>
{inboundRelationship typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN™>
<eode code="28" code$yvsten="2. 16, 840, 1, 113883, 3,989, 2, 1, 1, 18" displayName="parentRoute0fAdeinistration™ />
<value xsiitype="CE” code="f. k. 4.7, 11, 2b" codeSystems"2. 16. B40. 1. 113883, 3. 989. 2. 1. 1. 147 codeSystenVersion="C. k. 4.r. |
11.22™>
¢l=- G.k.4.r.11. 20 Parent Route of Administration TermID Version Date / Number Fi-6 ~—>
¢l— G.k.4.r. F1. Zb: Parent Reute of Administration TermID #1-6 -—>
<originalText)G. k. 4. 1. 11. 1{/eriginalText>
¢l— G, k. 4,71, 11, 1% Parent Route of Administration {free text) H1-6 —>
</value?
</chservation?
{/inboundRelationship>
</substanceAdministration?
¢/outboundRelationship2?
<outboundRelationship? typeCode="COMP™>
<l— G.% 4.r: Dozage and Relevant Information {repeat as nccessary} H1-7 —>
<substanceAdministration classCode="SBADM” moodCode="EVN™>
{rext>G. k. 4. r. 8{/text>
¢[w~ G, k. 4.r.8: Dosage Text #1-7 —
CeffectiveTime xsittype="SXPR_TS™D
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<{eomp xeiitype="1VL_TS™>
¢low value="200808017/>
(I G.k.4.r.4: Date and Time of Start of Drug #1-7 —
¢width value="4" unit="G.%. 4.1.6b"/>
¢l— 6.k 4.1.6a7 Duration of Drug Administration {number) #1-7 —>
<l— G.k. 4. 1.60b: Duration of Drug Administration {unit) #1-7 —>
</comp>
{comp xsi:type="IVL_TS™ eporater="A">
<high value="20000101"/>
¢l— G. k. 4. 1.5 Date and Time of Last Administration #1-7 —>
</comp?
{/feffectiveTime>
<routeCode code="G.k. 4.1, E0. 2b" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystenVersion="G. k. 4. 1. 10, Za">
¢t~ G. k. 4.r. 10, 2a: Route of Administration TernlD Version Dote / Nuwber #1-7 —>
{t=- G, k. 4,r. 10.2b: Route of Administration TernID #I-7 -—>
CoriginalText>G. k. 4. r. 10, 1{/eriginalText>
- G. k4.1, 10.1: Route of Administration (free text) #1-7 —>
</routeCoded
<doseQuantity value="10" unit="G. k. 4. r. 1b7/>
¢l-— G.k.4.x. ka Dose (number) #1-7 —>
(I 6.k 4. 1. kb: Doze {unit) £1-7 ~>
<{consumnble typeCode="CSH">
<instanceOfKind classCode="INST">
<productlnstancelnstance classCode="8MAT” determinerCode=" INSTANCE™>
{lotNuzberText>G. k. 4. r. 7¢/lotNumherText>
€lwe G k. 4. 1. 7! Batch / Lot Number $1~7 —>
</productInstancelnstance?
<kindGfProduct classCoda= VAT determinerCode="RIND™>
FormCode code="G. k. 4. r. 9. 2b” codeSysten="TBB-DozcForn” codeSystenVersions™G, k. 4.1, 9. 2™
e G k.4.1.9. 220 Pharmaceutical Dose Form TermED Version Date / Number #1-7 —>
{I— G.k. 4. 1.9 2b: Pharmaceutical Dese Form TernlD #1-7 —->
CoriginalText>G. k. 4. r. 8, 1</originalText>
<}— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-7 ——>
{/TormCode>
</kindOfProdust>
</instance0fKind>
{/consumabie>
CinboundRelationship typeCode="REFR™>
Cobservation elassCode="0BS" moodCode="EVN™>
<eode cote="28" codeSystem="2. 1. B40. 1. 113883, 3. 989, 2, 1. 1, 18" displayName="parentRouteOfidainistration™/>
<value xsiitype="CE” code="G.k. 4.r. 11.2b" codeSystem="2. 16,840, 1, F13883.3.685. 2. 1. §. I4" codeSystemVersien="G. k. 4. 1.
11. 2a">
<1 .k 4. r. [1. 25 Parent Route of Administration TernIb Verzion Date / Number ¥1-T —>
<l— G. k. 4.7 11.2b: Parent Route of Administration TermID ¥1-7 ——>
{originalText>G. k. 4. r. 11, 1</criginalText)
¢1-- G.k.4.r. 11 1: Parent Route of Administration {(free text) #E-7 --)
</value>
</ohservation?
</inboundRelaticnship>
</substanceAdminisrration?
</outboundRelationship2>
<outhoupdRetationship? typeCode="SUMM™>
{observation classCode="0BS" moodCode="EVN™>
{code code="14" codeSystem="2, 16,840, 1, 113883. 3. 989. 2. 1. 1. 197 displayNane="cunulativeDeseToReaction™/>
Kvalue xsi:type="PQ" value="10" unit="G.k.5b"/>
<l— 6.k 5a: Cumulative Dose to First Reaction {(mumber) #1 —>
¢l G.k.5b: Cumulative Dose to First Resction (umnit) #1 -->
</observation>
</outboundRelationship2>
<outboundfielationship? typeCode="PEHT™>
<observation classCode="0BS" moodCade="EVN™>
<code code="16" codeSysten="2, 16, 840, 1, 113883, 3.989. 2. . 1. 19" displayName="gesistionPeriod”/>
¢value xsi!type="PQ” value#"10" unit="G.k.6b™/>
¢}— G.k Ga: Gestation Period at Time of Exposure (number} 81 —>
¢t~ G.k.Bb: Gestation Period at Time of Exposure (unit) £1 —>
<fobservation>
</outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
<ohservation classCode="085" moodCode="EYN>
¢cade code="31" codeSystem="2. 16. 540. [, 113883, 3,989, 2, 1, 1. 19" displayName="recurranceOfReaction”/>
<valte xsiitype="CE" code="G. k. 9.1.4" codeSysten="2, 16.840. . 113853, 3.969.2.1. 1, 16"/>
<l G.k 6. i. 4! Did Resction Recur on Re-adninistration? Drug K1, Reaction #1 —3
<eutboundRelationshipl typeCodes”REFR™>
<actReforence classCode="0BS" moodCode="BYN™>
{id reot="154¢b8A9-958L-45{2-a02f~42d4d614657F />
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{/actRefercnce>
¢/outboundielationzhipi>
</observation?
</outboundRelationshipZ>
LoutboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
¢code code="31" codeSystom="2. 16, B40, [. 113883, 3, 989, 2. L. L. 19" displayName="recurranceGfReaction”/>
Syalue xsiitype="CE™ code="G. k. 9. i.4" codeSysten="2. 16,840, 1, 113883.3.989.2.1. 1. 16"/>
¢l— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction H2 —>
{outboundRelationshipl typeCode="REFR™>
<actReference ¢inzsCode="0BS" moodCode="EVN™>
<id root="2baa28d6-cBe8-4c6c—93eY-5bBEObI 142207/
{/actReference?
{/outhoundRelationshipl>
</observation>
{/outboundRelationship2>
¢outheundReiationship2 typeCode="REFR™>
{ghservation elasaCode="0BS" moodCade="EVN™>
Ceode code="8" godeSystem="2. 16. 840. 1. 113883, 3, 989, 2, 1. 1. 19" displayName="codedDrugInfornaticn”/>
(value xsi:type="CE™ code="C.k 10, r" codeSyster="2.16.840. 1. 113883, 3, 989, 2, 1. 1.17°/>
¢l— G.k. 10.r: Additional Information on NDrug (coded) (repeat as necessary) #1-1 ~—>
<fobservation?
{/outboundRelationship2>
¢outhoundRelationship? typcCode="REFR™>
Cobservation classCode="0BS” moadCode="EVN™>
lcode code="9" codeSystem="2. 16. 840. 1. FE3883. 3, 889, 2. 1. 1. 19" displayName="codedDruagInfermation”/>
<value xsiitype="CE” code="G.k.10.r" codeSystem="2, 16, 840. 1. 113883.3.988. 2. 1. 1. 17°/>
<l— G.k. 10.r: Additional Information on Prug (ccded) (repeat as necessary) #1-2 —>
</chservationy
{/outboundRelationship2?
<cutboundRelaticnship? typeCode="REFR™>
<observation classCode="0BS”™ mocdCode="EVN™>
Scode code="2" codeSystem="Z. 15, 840, 1, 113883. 3. 989, 2. 1. 1. 19" displayNome="ndditionalInfermation”/>
Lvalue xsiltype="STTG, k, 11¢/value>
<l-- . k. 11: Additional Information on Drug (free text) #1 -3
¢/observation?
/autboundfelationship2>
{inboundRelationship typeCode="RSON™>
<observation classCode="0B5" maedCode="EVN™>
Ceode codes"19" codeSysten="2. 16, B40, 1, 113883, 3, 089, 2. 1, 1. 197 displayName="indication”/>
¢value xsiltype="CE” code®G.k.T.r.2b" codeSysten="2 16,840, 1, 113883. 6. 163" codeSystenVersion="G. k. 7.r. 22>
¢I— G.k.7.r 2a: HedDRA Version for Indication #1-1 -
¢(Ime G.k.7.r.2b: Indication (MedDRA code) H#1-1 =3
<oripinalText>G. k. 7.r. 1</originalText?
¢t— Gk 7.7.1: Endication as Reported by the Primary Source Rl-l ~->
</value>
<performer typeCode="PRF">
<asgignedEntity classCode="ASSIGHED™>
¢code codex”3" codeSystem="2. 16, 840, 1. 113883, 3. 989. 2. 1. 1. 21" displayName="sourceReporter™/>
{fassignedEntity>
{/performer’
{/observation>
¢/inboundRelationship>
{inboundRelationship typeCode="RSON">
<observation classCode="0BS" moadCode="EVN">
¢eode code="19" codeSysten="2. 16. 840. 1. 113883, 3. 685. 2, L. L. 19" displayName="indication™/>
Cvnlue xsi:type="CE” code="G.k.T.r.2b" codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="G. &, 7.1r.2a">
<l-- G. k. 7.r.2a: HedDRA Version for Indication £1-2 —>
gl G k. 7.7.2b7 Tndication (MedDRA code} #1-2 —>
{originalText>G, k. 7.z. 1</originalText>
{lwr G k.7.1.1: Indication as Reported by the Primary Source #1-2 —>
{fvalue)
¢performer typeCode="PRF™>
<assignedEntity classCode="ASSIGNED™>
<code code="3" codeSystem="2. 15, 840, E. 113883, 3. 980. 2. 1. 1. 21" displayName="sourceReporter”/>
{/nasignedEntity>
{/performer?
</observation>
</inboundRelationship>
{inboundRelationship typeCode="CAUS™>
<act clazsCode="ACT" moodCode="EYN">
{code code="G.k. 8" codeSystem="2. 16.840. 1. 113883, 3,989. 2.1, L. 157>
¢l— G,k 8: Action(s) Taken with Drug #1 -->
</oct>
¢/inboundRelationship>
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{/substanceAdministration?
¢/component>
{— G.% brug(s) Information (repeat as necessary) #2 —>
{conponent typeCode="COMP™>
<aubstanceAdministration classCode="SBADH™ moodCode="EVN">
{id reot="68d6{5ce-3b3b-45cT-22dd-69e06730c3a8"/>
{consumable typeCode="CSH">
¢instanceOfKind classCode="INST™>
<kind0fProduct elassCode="MMAT™ determinerCode="KIND">
{code code="G. k. 2. 1. 2" codeSystem="TRI-PhPID” cedeSystenVersion="G. k. 2. 1. 2a"/>
¢1-- G.k.2.1.25: PhPID Version Date / Number 2 —>
¢1-— &.k. 2. 1. 2b: Pharmaceutical Product Identifier (PhPID) #2 —->
<name>G, k. 2, 2¢/name>
{i— G.k.2.2¢ Hedicinal Produet Name ns Reported by the Primary Source #2 —>
<asManufacturedProduct classCode="HAND™>
{subjectdf typelode="SBI">
<approval classCode="CNTRCT™ moovdCode="EVN">
<id extension="G.k. 3. 1" root="2, 16, 840. 1. 113883.3.989. 2. 1.3.47/>
{l-~ G.k 3.1: Autherisation / Application Number #2 —>
<author typeCode="AUT™»
<territorialAuthority clsssCode="TERR™>
{territory classCode="NAT™ determinerCode=" INSTANCE™>
Ceode code="G.k. 3.2" codeSystem="1.0, 3166, 1,2.2°/>
<l-= 6.k.3.2: Country of Authorisation / Application #2 >
¢/territoryy
{/territoriajhuthority>
{/author>
<pertinentInformation typeCode="PERT>
¢policy classCode="PRLICY”" meodCode="EYN™>

¢code code="J2, 5, k" codeSystem="2. 16, 840, 1. 113863. 3, 986.5. 1. 3. 2. L. 4"/>
o Q82J2. 5. % —RRAERKFOY 2 ERE 82
</molicyd
</pertinentInformation’
</approval’
¢/subjoct0f>

<subject0f typeCode="SBI">
{characteristic elassCode="0B5" moodCode="EVN™>
<eode code="1" codeSystem="2. 16. 840, 1. 113863. 3. 98%. 5. 1. 3. 2. 1. 10” displayName="FFIERSHHFORIRES"/,
<value xsiTtype="CE" code="J2. 4. k" codeSysten="2, 16, 840, 1. 113883, 3,989.5.1.3.2. 1.3"/>
(I— g@eJ2. 4.k FEEMFORRELD 42
</characteristic>
</subject0f>
{/asManufacturedProduct?
<ingredient classCode="ACTI™>
{guantity?
<nugerator volue="10" unit="G.k.2.3.r.3b"/>
¢4—— G.k.2.3.1r.3a: Strength (numher) #2-1 —->
Cle G. k.2 3. 1r.3b: Strength {unit) H2-f —>
{dencrinator value="1"/>
</quantity>
<ingredientSubstance classCode="WMAT” doterminerCode="KIND">
Ceode code="G. k. 2. 3. 1. 2b" codeSystem="TBD-Substance” codeSystemVersion="G. k. 2.3.r. 22"/
<l— G,k 2.3.r.2a7 Substance / Specified Substance TermID Version Date / Number $2-1 >
lv~ G. k. 2.3.r.2b Substance / Specified Substonce TermlD F2-1 ~>
<rame?G. k. 2. 3. r. 1</nome>
Kl~= G, k. 2.2. 1.1 Substance / Specified Substance Name #2-1 —>
</ingredientSubstance?
¢/ingredient?
¢ingredient classCode="ACTI™
{quantity>
{numerator value="10" unit="G.k 2.3.r.3b7/>
¢lem G.%.2.3.r. 32 Strength (number) #2-2 —->
l—— G.X. 2. 3.r.3b: Strength {(unit) #2-2 —>
{denominator value="1"/>
</quantity>
¢ingredientSubstance classCode="MMAT™ determincrCode="KIKD™>
Ceode code="G. k. 2. 3. r. 20" codeSystem="ThD-Substance” codeSystemVersien="G. k. 2.3. 1. 22"/
¢l— G.%. 2. 3.r.2a: Substonce / Specified Substance TermID Version Date/Number #2-Z —3>
{lw— G,k 2.3.r. 2b Substance / Specified Substance Termlll H#2-2 —>
<name>G. k. 2. 3. r. 1</nape>
<l— G, k,2.3.r.1: Substance / Specified Substance Name #2-2 —>
¢/ingredientSubstance>
{/ingredient>
</hindCGfProduct>
{gubjectOf typeCode="SB]™>
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{productEvent classCode="ACT” moodCode="EVN™>
<cade code="1" codeSystewm="2. 16, 840. 1, 113883. 3. 989. 2. 1. 1. 18" displayName="retailSupply”/>
{performer typeCode="FRF™>
<agssignedfntily classCode="ASSIGNED™>
{representedOrganization classCode="0RG” determinerCode="INSTANCE™>
Caddr>
{eountry>G k. 2, 4</country>
¢l— G, k.2.4; Identification of the Country Where the Drug Was Obtained #2 -
{/nddr>
{/representedOrganization>
{/assignedEntity>
</performer?
{/productEvent)
{/subjectDf>
¢subjectOf typeCode="SB]™>
{observationEvent classCode="0BS™ moodCode="EVN™>
{code code="2" codeSystem="Z. I§, 840, 1, 113883, 3. 989. 5. 1. 3. 2. 1. 10” displayName="-~AX/RE I HOD A FEEW"/>
<yalue xsiitype="CE” code="J2.6.k" cedeSystem="2.16. 840. 1, 113883,3.989,5.1.3. 2. L.5"/>
<l gaar2. 6. k: —ARREERSROAFER 12 —

{/ohservaticnfvent?
</subjectOf>

</instanceGfKing>
</consumable>
{outhoundRelstionshipt typeCode="5A3">

{pauseQuantity value="10" unit="6.k G.i.3.1b"/>

¢l— G.k.6.i.3 ta: Time Interval between Beginning of Drug Administration and Start of Reaction / Event {number) Drug #2,

Rezction #1—>
¢l— G.k.9.i.3. 1b: Time Interval between Beginning of Drug Administratior and Start of Reacticn / Event (unit) Drug §2

Reaction #1 —>
<actReference clossCode="0BS" mocdCode="EVN™>
<id root="154eb889+058b~45f3-a021-42d4d6f165TL" />
¢/actReference?
¢/outboundRelationshipt>
<outboundRelationshipl typelodes"SAE™>
{panzeQuantity value="10" unit="G. k.9.1i.3.2k"/%
¢low k. 9.1.3.2a° Time Interval between Last Dose of Drug and Start of Reaction / Bvent (number) Drug #2, Reaction #1 ~->

¢l— 6.k 9. i 3, 2b; Time Interval belween Last Dose of Brug and Start of Reaction / Event (unit) Drug ¥2, Reaction I —3
<aetReference classCode="08S" moodCode="E¥N™>
<id root="154cbBB9-G58b-4512-021 -42d4d611657(" />
</actReference
¢/outboundRelationshipl>
{outboundRelstionshipl typeCode="5A%7>
CpauseQuantity value="10" unit="G, k. 9,i.3. 167/
¢l— G.k 9 i3 la: Time Interval heteeen Beginning of Drug Administration and Start of Reaction / Event (mumber) Drug #2,
Reaction #2 -->
¢l—- G. k. 9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug k2,
Reaction #2 ~->
CactReference classCode="0BS” moodCode="EVN™>
<id root="2baa28d6-cIe8-Iebc-93e9-5b860b314220"/>
{/actReference’
{fousboundRelationshipl>
CouthoundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G. k. 9.1i.3.2b7/>
¢l-— 6.k 9.1, 3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (rumber) Drug H2, Reaction #2 —

¢l—— G.k.9.1.3.25: Time Interval between Last Dese of Drug and Start of Reaction / Bvent (unit) Drug #2, Reaction HZ2 —>
<actReference classCode="0BS" moodCode="EVN">
<id root="2ban28d6-cle8-4ebe-93ed~5bBE0LI142207 />
</actReference>
¢/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
<pauseQuantity volue="10" unit="G. k.9.i.3. 1b"/>
¢l-— G,k 9. 1,3, 1a: Tine Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #2,
Reaction #3 —5
¢l-- G.k.9.1.3. 16 Time Interval between Beginning of Drug Administration and Start of Reaction / Event {unit) Drug #2,
Reaction #3 ~>
¢actReforence classCode="0BS" moodCode="EVN™>
¢id reot="3s8626cb-9f1b-dead-Ba0f~e0l£344300dE" />
<{/actReference>
</outboundRelationshipl>
{cuthoundRelationshipl typeCodes"SAE™>
{pauseQuentity value="10" unit="G.k.9.1.3.2b"/>
¢l G.k.9.i.3.2a¢ Tine Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #3 -~
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Reaction #4 —>

Reaction #4 —>

Reaction #5 —>

Reaction fi5 —>

Reaction H#6 —>

Reaction #6 ——>

Reaction #7 —>

Reaction #7 -—>

<t G.k.9.i.3.2b: Time Interval between Last Dose of Jrug

¢acthteference classCode="0BS" meodCode="EVN™

<id root="3s8626cb-9f1b~deal~8a0f-e0ff34430adE"/>

{/actReferenced

{/eutboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>

{pauseQuantity value="197 unit="G.k.9.1.3. Ib"/>

¢l . k.9,i.3 ia: Time Enterval between Beginning of Drug

¢f— G.k.9.1.3.ib! Time Interval between Beginning of Drug

<actReference clnssCode="0BS” moodCode="EVN™>

<id root="2¢998407-08b4-499c-80f f-ddB4151418a5"/>

{/actReference>

</outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>

<pauscQuantity value="I0" unit="G. k. 9.1.2.2b7/>

¢lw= G.k.9.1i.3.2a: Time Interval between Last Dose of Drug

¢l G, k. 9,1,3,263 Time Interval between Last Dose of Drug

<actReference classCode="0BS™ moodCode="EVN">

<id root="2¢998407-08b4-499¢-80fF-ddB415£4£8a67/>

</actReferenced

{/outboundReiationshipl>
<outhoundRelationshipl typeCode="SAS™>

<pauseQuantity value="19" wnit="G. k. 9.i.3. bW />

¢l-— (. %9, 1.3, ka: Tiee Interval between Beginning of Drug

¢l=- G.k. 9. i.3. tb: Time Interval between Beginning of Drug

¢actRelarsnce clossCode="0BS” meodCode="EVN™>

<id root="1071064c-cf10-4a3b-83c1-34f9ddbTeabd” />

</actReference?

<foutboundRelationshipl>
{outhoundRelationshipl typeCode="SAE™>

¢pauseQuantity value="10" unit="G. k. 9. 1.3.2b"/>

(I-— G.%. 9. 1.3.2a! Time Interval between Last Dosc of Drug

¢i-- G.% 9 1.3 2b: Time Interval between Last Dose of Drug

CactReference classCode="0B5" moodCode="EVN™>

<id root="1071064c-cl10~4a3b~83¢1-3419ddbTeabd "/ >

</actReferchce?

</outhoundRelationshipl>
<outboundReiationshipl typeCode="SA8">

{pauseQuantity value="10" unit="G. k. 9. i.3. 1b"/>

{le= 6. k.9, 1. 3. la: Tine Interval between Beginning of Drug

{l-= 6.k.9.i,3.1b! Time Interval between Bepinning of Drug

<actReference olassCode="0BS" moodCode="EVYN™>

<id root="1f927283-10b6-4334-9d43-eF25640FL18E7/>

(/actReference?

</cutboundRelationshipl?
<outhboundRelationshipl typeCode="SAE">

{pauseQuantity value="10" unit="G.k. 9. i.3.2b7/2

¢i— G k. 9. £.3. 2z Time Interval between Last Dose of Drug

4= G, k.9 i.3,.2b: Time Interval between Last Dose of Drug

<actlelerence classCode="0RS" moodCode="EVN">

<id root="1f927283-10b6-4334-9d43~e925640fb18E" />

</actReferenced

{/outboundRelationshiply
CouthpundRelationshipl typeCode="SAS™>

¢pauseQuantity value="H0" unit="G. k. 0. i, 3. 1b"/>

<I— G.k.9.1.3. kat Time Interval betwoen Beginning of Drug

¢l— 6,% 9.1, 3, tb: Time Interval between Beginning of Drug

CactReference clazsCode="0BS” moadCode="EVN">

<id root="e0342064-38be~4231-b6bb-cel4be279d8¢7/>

<faciReference?

</outhoundRelationshipl>
{putboundRelationshipl typeCode="SAE™>

<pauscQuantily value="10" unit="G. k. 9.1.3. 2"/

<!-- G.k.9.i.3.2a: Time Interval between Last Dose of Drug
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and Start of Reaction / Event {unit) Drug %2, Resction #3 —>

Adeinistration and Start of Reaction / Event (nunber) Drug 2,

Administration and Start of Reaction / Event {unit} Drug 42,

and Start of Reaction / Lvent (number) Drug #2, Reaction #4 -

and Start of Reaction / Event (unit} Drug #2, Reaction H4 >

Adieinistration and Start of Reactien / Event (number) Drug #2,

Administration and Start of Reaction / Event (unit) Drug #2,

and Start of Reaction / Event (bumber) Drug #2, Reaction #5 —

and Start of Reaction / Event (unit) Drug 52, Reaction H5 —>

Adninistration and Start of Reaction / Event (number} Drug #2,

Administration and Start of Reaction / Event (unit) ODrug #2,

and Start of Reaction / Event {number} Drug ¥2, Reaction §§ —

and Start of Reaction / Event {unit) Drug #2, Reaction §6 ~—»

Administration and Start of Reaction / Event (number) Drug #2,

Administration and Start of Reaction / Event (unit} Drug 82,

and Start of Reaction / Event (number) Prug #2, Reaction #7 —



{actReference elassCode="0BS™ moodCode="EVN">
¢id root="00342969-38be~4231~b6bb-celibe279d8e” />
¢/actReference>
¢{/outboundRelationshipl>
{outbattndRelationshipl typeCode="SAS™>
<pauzeQuantity value="10" unit="G.k. 9. i.3.1b7/>
¢1— G.k.5.1.3. 12 Time Interval between Beginning of Drug Adsinistration and Start of Reaction / Event (number) Drug H2,
Renction H#8 —>
¢l-- 6.k 8. 1.3 1b! Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (unit} Drug #2
Reaction #8 —>
<actRefercnce classCode="0BS™ mondCode="EVN™>
<id root="215be092-8070-4264-af04-6863263443c¢07/>
{/actReference>
</autboundRelationshipl>
LoutboundRelationshipl typeCode="SAE™>
<pausefuantity value="10" unit="G.k.9.1.3.2b"/>

¢l~- . % 9.1, 3 2a: Time Interval betweon Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #8 -~
b
¢l-— G.k. 9. i. 3. 2b: Time Interval between last Dose of Prug and Start of Reaction / Event (unit) Drug #2, Reaction H#8 —>
CactReference ciassCodes"0BS™ moodCode="EVN™>
¢id root="al5be092~8070-426d-af04-6863263443e07/>
¢/actReference’
{/outhoundRelationshipk>
¢outboundRelationship? typeCode="PERT™>
<observation classCede="0BS™ moodCode="BYY">
<code code="6" codeSystem="2. 15. 840, 1. [13683, 3,989.2. 1. 1. 19" displayName="blinded"/>
<value xsi!type="BL” value="true™/>
¢l-- G.k. 2.5! Investigational Product Blinded #i2 —>
{/observation>
¢{/outboundRelaticnship2>
<outboundRelationship? typeCode="CONP™>
¢l-—- G.k. 4.7 : Dosage ond Relevant Information {repest as mecessory) #2-1 ~->
¢substanceAdministration classCode="SHADY" meodCede="E¥N™>
<1ext?C. k. 4. r. B</text>
I— & k. 4.1. 8. Dosage Text #2-1 =D
<effoctiveTime xsi:type="IVL_T5™>
<lor value="200901017/>
{l-- G.k 4. r.4: Date and Time of Start of Drug #2-1 —>
<high value="200901017/>
Cl-= G,k 4, r.5: Date and Time of Last Adwinistration H2w1 ~=>
feffectiveTime)
<routeCode code="G.%. 4, 1. 10, 2b" codeSysten="2. 16. 840, L, L13883. 3,989, 2. 1. 1, i4" cedeSystenVersion="G. k. 4.r. 10. 2a">
{l— G.k 4. r, 10.2a; Route of Administration TermID Version Pate / Bumber #2-F —>
¢I— G, k. 4. r.10. 26 Route of Administration TermID #2-1 ~>
CoriginabTextdd. k. 4.1, 10, 1</ originalText>
¢i— G k. 4.1 10,1: Route of Administration (free text) #2-i —>
{/routeCode>
¢doseQuantity value="10" unit="G. k. 4. r. 1b7/>
= Gk 4.r. la Dose {pumber) #2-1 —
¢f— G. k. 4.r. Ib: Dese {unit) H#2-1 —>
{copsumable typeCode="CSH™>
<instanceDfKind classCode="TNST™>
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
¢lotiumberTextyG. k. 4. r. 7¢/lotNunber Text>
¢lww G.K.4.r.7: Batch / Lot Number #2-1 —>
{/productinstancelnsiance>
<kind0fProduct ¢lassCode="MMAT" determinerCoda="KIND™>
<fornCode code="G. k. 4.r.9. 2b" codeSysten="TBD-DoscForn” codeSystemVersion="G. k. 4.r.9. 2a™
<l-- G.k 4.r.9. 2a® Pharmsceutical Dose Form TermID Version Date / Number #2-1 —>
¢l G.k 4.1.0. 2b: Pharmaceutical Dose Form TeramID #2-1 —>
{eriginalText>G, k. 4.r. 9. 1{/originalText>
¢lew G.k.4.1.9.1% Pharmaceutical Dose Form (free text) #2-1 ——
</formCode>
{/kind0fProduct?
{/instanceOfKind>
</consumable>
{inboundRelationship typeCode="REFR™>
<observation classCode="0BS" noodCode="EVN™>
{eode code="28" codeSystem="2. I6. B40. 1. 113883, 3,989, 2, 1. 1. 19" displayName="parentRouteOfAdministration™/>
{vnlue xsi:type="CE” code="G.%. 4. r.1L 2b" codeSystom="2, 16, 840, 1. F13883.3. 989, 2. 1. 1. 14" codeSystenVersion="G. k. 4.r.
11.2a™

<}-- G.%. 4.r.11.2a Parent Rouwte of Administration Termib Yerszion Date / Humbor §2-1 —>
<i— G.% 4.r. 11. 2b! Poarent Route of Administration Termlb H#2-1 —
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<originnlText>G, k., 4. r. 11. 1{/originalText>
¢l—— 6,k 4,1, 11.1: Parent Roste of Administratien {free text) #2-1 —>
{/value>
</observation>
¢/InboundRelationship?
</substanceAdninistrationd
{/outboundRelationship2>
¢outhoundRelationship? typeCade="COMP™>
¢lwm G k. 4. 1! Dosage and Relevant Informstien (repeat as necessary}) #2-2 -->
<subhstanceAdministration classCode="SBADM™ mocdCode="EVN"™>
C1oxt?G. k. 4. 1, 8¢/ text)
¢lem G k. 4. r. 87 Dosage Text #2-8 -
{effectiveTime xsi:type="IVL_TS™>
{low value="200901017/>
{l— G, k. 4, r.4: Date and Time of Start of Drug #2-2 —>
<xidth value="4" unit="G. k. 4.r.6b7/>
¢<I-= G.k.4.r.6a: Duration of Drug Administration (number) #2-2 ~->
<¢l~— G.k.4.r.6b: Puration of Drug Administration (unit} #2-2 —>
</effectiveTime>
<routeCode code="G.%.4.r. 10. 2b” codeSystsw="2. 16, 840, 1. 113883, 3,989, 2, 1. 1. 14" codeSystemVersion="G. k. 4.r. 10. 2a™>
¢le= G, k. 4. 1. }0. 2a: Route of Administration TermID Version Date / Number #2-2 —3
<l=— G. k. 4. r. 10. 2b: Route of Administration TernlDd #2-2 -~
CoriginalText)G. k. 4.r. 10. i</originalText>
¢l— G.k.4.r. 1. 12 Rovte of Administiration (frce text) 2.2 >
{/routefode>
<deseQuantity value="10" unit="G.k.4.r.1d"/>
<l— G.k 4.r. la Dose (number) #2-2 —>
¢1-- G. k.4, r. 1b: Dose (unit) #2-2 —>
Ceenzumable typeCode="CSH™
ingtaneceOfKind classCode="ENST™>
<productlnstancelnstance classCode="MYAT” determinerCode="INSTANCE™>
{lotNumberText)G. k. 4. 1. 7¢/1lotNumberText>
{l-= G. k. 4. r.7: Batch / Lot Number #2-2 —>
{/productInstancelnstance>
¢kind0fProduct classCode="MMAT" determinerCode="KIND™>
<fornCode code="G. k. 4.1.9. 2b" codeSystem="TBD-DoseForm” codeSystemVersion="G.%. 4.r. 9. 2a™>
€1-- G. k. 4. 1.9, 2a: Pharmaceutical Dose Form TermiD Version Date / Number #2-2 -->
== G.k.4.r.9. 2b! Pharmoceutical Bese Form TerwID §2-2 ——>
Coriginalfext>G. k. 4. r. 9. 1</originalText>
{I— 6. k. 4.r.9 1: Pharmaceutical Dose Form (free text) #2-2 —->
</TormCode
{/kindOfProduct>
¢/instancet{Kind>
</eonsumsble>
<inkoundRelotionship typeCodes REFR™>
{ohservation classCode="0B5" moodCode="EYN">
<code code="28" codeSystem="2, 16, 840, 1. 113863, 3,989, 2. 1. 1. 19”7 displayNome="parentRouteOfAdninistration”/>
<valve xsi:type="CE" code="G, k. 4. r. 15, 2b” codoSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 14” cadeSystenVersion="G. k. 4. r.
11.2a">
¢f~~ G.k.4.r. 11 2a: Parent Route of Administration TermID Versien Date / Number ¥2-2 --2
¢f—~ G. k.4, r. 11 2b: Parent Route of Administration TermlD H#2-2 ~
SoriginalText G k. 4. 1. FL 1</originalText>
(I-— G.k.4,r.11,1: Porent Route of Administration {free text} ¥2-2 —>
{/value>
¢fobservation>
{/inboundRelationship>
</substanceddministration}
¢fautboundRelatlionship2>
{outhoundRelationship? typeCode="COMP™>
¢l G.k.4.1: Dosage and Relevant Information (repeat as necessary) #2-3 -2
Csubstancepdminigtration classCode="SBADY" moodCode="EVN">
<textDG. k. 4. r. 8{/toxt>
¢l-— G. k. 4.1.8: Dosage Text #2-3 —»
CeffoctiveTime xsittype="IVL_T5">
¢ridth value="4" unit="G. k. 4.1.6b"/> .
¢bww G, k. 4. 1. Ga: Duration of Drug Administraticon {number) #2-3 ——>
(I— G. k.4.r. 6b: Duratien of Drug Administration (unit} #2-3 —>
<high value="20000101"/>
<l G.k.4.r. 57 Date and Time of Lest Administration #2-3 —->
<feffectiveTime>
<routeCode code="G. k. 4. r.10.2b" codeSysten="2. 16, 840. 1. 113863, 3, 980. 2. L. 1, 14" codeSystemVersion="G. k. 4. r. 10, 227>
¢l-- G.k.4.r.10. 2a: Route of Administratien TernID Version Date / Number #2-3 ~->
¢l— G. k. 4.r. 10, 2b: Route of Administration TernID #2-3 —>
CoeriginalText?G. k. 4. r. 1. 1<{/originalText>
<— G. k. 4.1r. 10, }: Route of Administration (free text) #2-3 -

- 37 -



{/routeCode’>
{dogeQuontity value="10" unit="G.k. 4.r. 16"/>
¢!~ 6. k.-4.1. 12 Dose (number) H2-3 —>
¢l== G.k.4.r.1b: Dose {unit} #2-3 —>
(consumable typeCode="CSH™
<instanceOfKind classCode="INST™>
{productInstancelnstance classCode="MMAT™ determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7{/1otNumberText)
¢l G, k. 4.1, 7: Bateh / Lot Mumber #2-3 —>
{/productInstanceInstance?
¢kind0fProduct classCode="MMAT® determinerCode="KIND™>
¢fornCode code="G. k. 4.1.9.2b" codeSystem="ThD-DoseForn” codeSystemVersion="G.k. 4.r.9.2a">
¢l— G. % 4.1.9. 2a: Pharmaceutical Dese Form TermID Version Date / Number #2-3 —>
¢l— G. k. 4.1.9.2b Pharmacentical Dose Form TernID #2-3 —>
CoriginalText>G. k. 4.1, 8. 1</originalText>
¢l=— G.k.4.r. 9. 1: Pharmaceutical Dose Form (free text) #2-3 —>
{/forzCode>
</kind0fProduct>
</instance0fKind>
{/consunable?
¢inboundRelationship typeCode="REFR">
¢abservation classCode="0BS” moodCode="EVN™>
<code code="28" codeSystem="2. 16, 840. 1. 113883, 3. 689, 2, 1. L. 19" displayName="parentRouteOfAdninistration™/>
<value xsiitype="CE” code="G. k.4.r. 11, 2b" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. L. 147 codeSystenVoersion="G. k. 4. r.
11, 2a™>
<l— G.k.4.r.11. 2a: Parent Route of Administration Ternmld Version Date / Number £2-3 «)
1= G,k 4.1 11. 2b: Parent Route of Administration Termld H2-3 —>
<originalText>G, k. 4. r. 1. 1{/originalText>
¢l— G k.4.r. 11. 1 Parent Route of Administration (free text} #2-3 —>
<fvalue>
<fobservation>
{/inboundRelationship?
</substonceAdministration>
</outboundRelationship2>
{outheundRelationship? typeCode="COMP™>
<t G,k 4. 1! Dosage and Relevant Inforkation (repeat as necessary) #2-4 >
{substanceAdministration classCode="SBAIM” moodCode="EVN™>
<text?G. k. 4. r. B/ text>
¢l-- Gk 4.r. 8 Dosage Text H§2-4 ~3
<effectiveTine xsiitype="SXPR_TS">
Ccomp xsiitype="PIVL_TS™>
(period value="10" unit="G, k. 4,137/
¢l— G, k4.7, 2: Nusber of Units in the Intervsl fi2-4 —>
— G k. 4.1r.3: Definition of the Time Interval Unjt #2-4 ~>
</ compy
Coomp %siitype="IVL,T5™ operater="A">
<low valuew 200801017/
{i~~ G.k.4.r.4: Date and Time of Start of Drug #2-4 —->
</comp>
feffectivaTine?
<routeCode codez"G. k. 4. r. 10. 2b” codeSystem="2. 16, 840, 1. 113882, 3, 989. 2. 1. 1. 147 codeSystemVersion="G. k. 4.r. 10, 2a™>
¢|— G.k.4.r. 10.2a: Route of Administration TermID Yersion Date / Rumber #2-4 —>
<1— 6.k 41 10, 2h: Route of Administration TernlD H2-4 —>
CoriginalText>G. k. 4. r. 10. 1{/originalText>
¢le= G.k.4.1.10. k! Route of Administration (free text) #2-4 ——>
</rotiteCode>
<doseQuantity volue="L0" unit="G.k. 4.r. 1b"/>
<l— G, % 4.r la Dose {number} H#2-4 —>
¢lew Gk 4.r. 1b: Dose (unit} #2-4 —>
<consumable typeCode="CSH™>
{instanceGfKind classCode="INST™>
¢productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
<lotNumberfext>G, k. 4. r. 7¢/lotNunberToxt>
<l— G.k.4.r. 7! Batch / Lot Number #2-4 —>
{/productInstancelnstance?
{kind0fProduct classCode="YMAT" determinerCode="KIND">

{fornCode code="6. k. 4.1.9.2b" codeSysten="TBD-DoseForn” codeSystemVersion="0.k 4.r. 8 2a™>
{l-- G k.4. 1.9 20 Pharmaceutical Dose Form TermID Yersion Date / Number #2-4 —»
¢<l— G. k. 4.1.9.2b: Pharmaceutical Dose Form TerwlD #2-4 —>

{originaiText?G, k. 4.r. 9. 1</originalText?
{loww G k. 4.1.9. 12 Pharmaceutical Dose Form {free text) #2-4 ——>
{/fornCade>
</kind0fProduct>
{/ingtance0fKind>
£/congumable?
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¢inboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN™>
<code code="28" codeSystem="2. 16.840. 1. 13882, 3, 989, 2. 1, L. 16" dispiayName="parentRoute0fAdministration™/>
<value x5i:type="CE" code="G.k. 4.r. 11, 2b" codeSysten="2. I6. 840. 1. 113883. 3. 989, 2. 1. 1. 14" codeSystenVersion="G. k. 4.T.

11.2a"™>
¢l— G.% 4.1. 1], 23: Parent Route of Administration TermID Version Date / Number #2-4 —»
e~ G,k 4.1r.11.2b: Parent Route of Administration TermID #2-4 —>
CoriginalTextG. k. 4.r. 11. 1{/originalText>
<l— G. % 4.r. 11, 1t Psrent Route of Administration {free text) #2-4 -->
{fvalue>
{/ohservation?
¢/inboundRelationship>
{/substanceAdninistration> .
{/outboundRelationship2>
{outhoundRelationship2 typeCode="COMP™>
¢l-— G.k.4.r: Dosage and Relevant Information (repeat as mecessary) #2-5 —>
¢substanceAdministration classCode="SBADM” moodCode="EVN™>
{text>G k. 4. r, B/ textd
<l G. k. 4. r.8: Dosage Text #2-3 —>
Ceffectivelime xsi:type="SXPR_TS™>
{cowp xsiltype="PIVL, TS™>
<peried values"10" unit="G. k. 4. 1.37/>
I~ G.k.4.r. 2 Number of Units in the Interval #2-5 —>
¢le= G k. 4. 1.3t Definition of the Time Interval Unit #2-5 ——>
{/comp?
<cemp xsiitype="IVL_TS" operator="A">
<high value="20000101"/>
{1 G k.4, r.5: Date and Time of Last Administration §2-5 —>
<{/vomp>
{/effectiveTime)
<routeCade code="G. k. 4. r. 10, 26" codeSystem="2, 16, 840. 1, 113883, 3. 989. 2. 1. 1. 14" codeSystemVersion="G. k. 4.r. 10. 2a"™>
I G, k. 4. 1. 10, 2a: Route of Administration TermlD Version Date / Number H2-5 —>
¢l—— G, k. 4.1.10. 2b: Route of Administration TermlD #2-5 -~
LoriginalText?G. k. 4. r. 10. 1</originalText>
<l— 6. k. 4.1 18.1: Route of Administration (free text) £2-5 -
{/routeCode?
<doseQuantity value="10" unit="G. k. 4. 1. 1b"/>
<= G.% 4.r.1a Dose (number} #2-5 —>
¢!— G. k. 4.r. 1B Dese {unit) f2-5 —>
Lconsumable typoCode="CSH™>
{inztanceDfKind classCode="INST™>
<productinstancelnstance closzfode="MMAT" determincrCode="INSTANCE™>
¢iotNumberTextG. k. 4. r. 7</1otNurberText>
f— G k.4 1. 7: Bateh / Lot Number #2-5 =)
{/praductInstancelnstance?
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
<formCoede cede="G. k. 4.7.9. 2b" codeSysien="TBB-DoscForm” codeSystemVersion="G. k. 4.r. 5. 2a™
¢1-- G.k.4.1.9,2a: Pharmaceutical Dose Form TermlD Yersion Date / Number #2-5 -->
¢J-- G.k. 4. 1.9.2b: Pharmaceutical Dose Form Termlb #2-5 -5
CoriginalTextG. k. 4. r. % I{/originalText?
¢t— 6.k 4.7.9.1: Pharmaccutical Dese Ferm {free text} #2-5 —»
</TornCode>
</kind0fProduct?
¢/instanceGrKind>
{/consumable?
{inboundRelationship typeCode="REFR™>
<observation classCode="0B5" moodCode="EVN™>
<code code="28" codeSystem="2. 16. 840. 1. 113883, 3,989, 2, [, 1, 197 displayName="parcntRouleCGfAdminisiration™/>
<value xsi:type="CE" coda="G.k, 4.1 1], 2b" codeSystem="2, 16.840. 1. 113883, 3. 989, 2. 1. 1. 14" codeSystenVersion="C. k. 4. 1.
15227

{lw= G.k.4.r.11.2a: Parent Koute of Administration TernlID Version Date / Number §2-5 —>
{l— G.k.4.r.11.2b: Parent Route of Adwiniatration TexrmID §2-§ -~
CoriginalText>G. k. 4. 1. 11. 1{/eriginal Text>
¢1— G. k.4.7. 11, 1: Parent Route of Administratien {freec text) H2-§ —>
{/value
¢/obzervation?
</inboundRelatichship>
</substanceAdministrationd
{/outhoundRelationship2>
CoutboundRetationship2 typeCode="COMP™>
¢<!=- G.k.4.r: Dosage and Relevant Information (repeat az necessary) H2-6 —>
<substanceAdministration classCode="SBADM™ noodCode="EVN">
Ctext>G k.o 4. r. 8</text>
f— G. k. 4.r.8: Desage Fext #2-6 —>
CeffectiveTime xsi:type="SXPR_TS™>
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{comp xsiitype="PIVL_TS™>
{period value="10" unit="G.k.4.r.3"/>
¢l G.%. 4.r.2: Nusber of Units in the Interval §2-6 —>
¢l-- G.%. 4.r.3: Definition of the Time Interval Unit #2-6 -
i </comp>
{coup xsiitype="IVL T5" cperator="A">
¢midth value="4" unit="G. k.4.r.6b"/> .
¢I-- G.X.4.r.6a: Duration of Drug Administration (number) #2-6 —>
¢l— G.k.4.1.6b: Durntion of Drug Administration (unit) #2-6 —>
{/comn>
{/effectiveTime>
<routeCode code="C. k. 4.1.10.2b" codeSystem="2. 16. 840. L. 113883. 3. 989. 2. 1. 1. 147 codeSystenVersion="G. k. 4.r.10.2a™>
¢~ G.k.4. 1. 10. 2a: Route of Administration TermID Version Date / Number #2-6 —>
e G, k4.1 10 2b7 Route of Admindstration TermID #2-6 -—>
CoriginalText>G. k. 4. r. 10. 1¢/originalText>
<I— G k4 r. 1001 Route of Administration (free text) #2-8 —-3
{/routeCode>
(doseQuantity value="10" unit="G. k.4, r, 1b"/>
{!— G.X. 4.xr.la Dose (number) #2-6 ——>
¢l G.k 4.1. kb3 Dose (unit) #2-6 >
<eonsumable typeCode="CSY">
¢instanceOfKind classCode="INST™
<productInstancelnstance clagsCode="MMAT™ determinerCode="INSTANCE™>
{lotMumberText>G, k. 4, r. 7<¢/lotNumberText)
I G k. 4. r.7: Batch / Lot Number #2-6 —>
</productinstancelnstance?
<kind0fProduct classCode="WAT" determinerCode="KIND™>
{foreCode cede="G, k. 4.7, 9, 2b" codeSysten="TBD-DoseForn” codeSystemVersions 6.k, 4.r. 9, 207>
¢lww G, k. 4,1, 9 2a2: Phormaceutical Dose Form TermID Version Date / Number #2-86 -
I~ G. k. 4.r. 9. 2b: Pharmaceutical Doge Form TormID #2-6 -->
CoriginalText>G. k. 4. r. 9. I{/eriginalText>
{f— G. k. 4. 1. 8. 1: Phermaceutical Dose Form (free text) #2-6 —~>
{/formCade>
{/indCfProduct>
{/instance0fKind>
{/vonsumable?
<{ipboundRelationship typeCode="REFR™>
Cohservation claossCode="08S8" moodCode="FVN">
{code code="28" codeSystem="2, 16, B40, 1. 113883. 3. 989. 2, 1. 1. 19" diaplayName="parentRouteOfAdministration”/>
Cvalue xsictype="CE” code="G. k. 4. r. [1. 207 codeSystem="2. 16, 840, 1, 113583, 3,989, 2. 1. 1. 14" codeSystemVersion="G. k. 4.r.
1} 2™
<I— 6.1 4. r. 11, 2a1 Parent Route of Administration TermlD Version Date / Number #2-6 -->
<= G k. 4. r. 1}, 24 Parent Rouic of Administration TermlD #2-6 --2
{eriginalText?G. k. 4. r. EL. 1</originalText?
I-= G.k.4.r. 1L 1: Parent Reute of Administration (free text) #2-6 -->
<{/value>
</ohzervation>
¢/inboundRelationship>
</substancefdministration
</outboundRelationship2>
Southoundflelationship2 typeCode="COMP™>
¢3—— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-7 —
<substanceAdministration classCode="SBABY™ moodCode="EVN™>
{textPG. k. 4, 1, 8</text?
¢(l— G. k. 4.1, B: Dosage Text #2-7 —
¢effectiveTime xsi:type="PIVE_TS™>
{pericd value="10" wnit="G. k. 4.1.37/>
<1— G. k4.1, 27 Number of Units in the Interval H2-7 —>
{lww G k. 4.7.3: Definition of the Time Interval Unit H2-T —>
¢/effectiveTime>
¢routeCode code="G. k. 4. v, 10.2b” codeSystem="2. I6. 840. 1. 113883. 3. 989. 2, 1. 1. 147 codeSystenVersion="G. k. 4. r. 10, 2a">
¢!— G.k. 4.7, 10, 2a; Route of Administration TermID Version Date / Number #2-7 —>
¢}~ G.k.4.r.10.2b: Route of Administration TermID #2-T —>
{originalText>G, k. 4. r, 10. 1</originalToxtd
{I— G. k4. 1. 10, 1: Route of Administration (free text) §2-7 —>
{/routeCode>
{doseQuantity value="10" unit="6. k. 4.r. 1b"/>
{len Gk 4.r. Fa Doze (number) #2-7 —>
1= G. k. 4.rx. kbt Dose (unit) #2-7 —>
{consumable typeCode="CSH™>
¢irstance0fKind classCode="INST™>
<productInstancelnstance classCode="MBAT" detexminerCode="INSTANCE™>
<lotNumberText»G. k. 4. r. 7</1otiunberText>
£l G. k. 4.v. 7: Batch / Lot Number #2-7 —>
</productInstancelnstance’
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CkindOfProduct classCode="}MAT™ determinerCode="KIND™>

{formCode code="G, k.4, 1.9, 2b" cedeSystern="TBG-DoseForn”™ codeSystemVersion="G. k. 4.r.9.2a"™>
¢I-- G.k.4.r,9. 2a: Pharmaceutical Dose Form TermID Version Date / Kumber #2-7 —>
€l-= G.k.4.r. 9. 2b: Phormaceutical Dose Form TermID H2-7 —>
{originalText?G. k. 4. 1. 9. I</originalText>
¢l G.k.4.r.6. 1 Pharmaceutical Dose Form {free text} #2-7 —>
{/FormCode>
{/kindCfProduct?
</instanceQfRind>
{/consumable>

<inboundRelationship typeCode="REFR™>
<observation classCode="0BS™ moodCade="EVN™>
{code code="28" codeSystem="2, I6. 840. 1. 113883, 3.989. 2. 1. 1. 19” displayNeme="parentRouteOfAdninistration”™/
walue xsiitype="CE™ code="G.k 4, r. 11, 2b" codeSystem="2. 16. 840. 1. 113883. 3. 889. 2. 1. [. 14" codeSystemVersion="G, &, 4,1,
11. 227>
<|— G.k.4.r. 11.2a Parent Route of Administration TermlD Version Date / Number F2-7 ——>
<!— G.k. 4.1 15 2b: Parent Route of Adninistration TermlD #2-7 -—
CoriginalText>G. k. 4.1, 11 1</eriginalText>
¢l G.k. 4. 7. 11. 17 Parent Route of Administration (free text) #2-7 -->
{/value?
</observation>
</inboundRelntionship>
{/substanceAdministration?
{/outboundfelationzhip2>
CouthoundReiationship? typeCode="COUP™>
{le~ G,k 4.r: Dosage and Relevant Information {repeat as necessary) #2-8 -—>
<substanceAdministration classCode="SBADY™ moodCode="EVN™>
StextG k. 4. r. 8¢/ text>
= G. k. 4.1.8: Dosage Text #2-8 —>
CeffectiveTime xsi:types"IVL_TS™>
Clow value="200901017/>
€l== G.k.4.r. 4: Date and Time of Start of Drug #2-8 -—>
effeetiveTine?
{routeCode code="G.k.4.r.10.2b" codeSystem="2. 15, 840. 1. 113883, 3. 989. Z, |. 1. 147 codeSystemVersion="0. k. 4.r. 10. 2a">
<l— G. k.4.1, 10, 22 Route of Administration TermID Version Date / Number #2-8 —>
== G. k. 4.1.10. 2b: Route of Administration TermID #2-8 -->
LoriginalText)G. k. 4, x. 10, 1</ originaiText>
<{-- G.k.4.1.10.1: Route of Administration (free text) #2-8 —>
{/routefode>
CdoseQuantity value="10" unit="G.k 4. 1. ib"/>
¢ Gk 4.r. 1o Dose {number) #2-8 —>
<t G.k 4.r. 1h: Dose {unit} H2-8 —>
{consumable .typeCcdc='CSl§')
<instanceOfKind classCode="INST">
¢productInstancelnstance classCode="YMAT” determinerCode="INSTANCE™>
¢lotNumberText)G. k. 4. r. 7</ lotNuzher Text>
<i— G.k.4.r. 7: Batch / Lot Number #2~§ ~>
{/productInstancelnstunce’
Ckind0fFroduct classCodes " WAT™ determinorCodes KIND™>
(formCode code="G. k.4.r. 9. 2b" codeSystem="TBD-foscForn” codeSysteaVersion="G. k. 4.r. 9. 227>
¢l G. k. 4. 1. 9. 2a° Phormaccutical Dose Form TernlP Version Date / Number #2-8 —->
{I— 6. k. 4.1.9, 25 Pharmaceutical Dose Form TermiD £2-8 -—>
<originalText>G. k. 4. r. 9. I{/originaiText)
(f— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-8 —>
</fornCode>
</kind0fPraduct)
</instance0fKind>
{/consumable>
<{inboundRelationship typeCede="REFR">
<observation classCode="085" woodCode="EVH™>
{code code="28" codeSystem="2. 16. B40. 1. 113883. 3. 989. 2. 1. 1. 18" displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="6.k.4.r. 11, 2b" codeSysteew="2, £6. B40. 1, 113883, 3,989, 2. 1. 1. 14" codeSystenVersion="G. k. 4. 1.
11.2a™>
{I— G.k.4.r. 1L 2ai Parent Route of Adwinistration TermID Version Date / Number H#2-8 —>
<3~ G k.4, 1. 11. 2b: Parent Reute of Administration TermID #2-8 -
{originalText)G. k. 4. r. 11, 1{/original Textd
¢te— G. k.4.r.11. E: Parent Route of Administration (free text) #2-8 —>
fralue? .
</observationd
</inboundRelationship>
{/substanceAdministration>
</outhaundfelatieonship2>
CoutbaundRelationship? typeCode="COMP™>
!~ G. k. 4. r: Dosage and Relevant Information (repeat as necessary} #2-5 —>
{substanceAdministration classCode="SBADM™ moodCode="FYN™>
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{text?G. k. 4. r. 8¢/ text>
¢l— G.k. 4.r.8: Dosage Text #2-9 —>
CeffectiveTime xsi:type="1VL_T87
¢high values"200901017/>
{lww G k.4.1.5: Date ond Time of Last Administration H2-9 —>
{/effectiveTime?
CrouteCade code="G. k. 4. r. 10. 2b" codeSysten="2. 16, B40. 1. 113883, 3. 989, 2. 1. 1. 14" codeSystemVersion="C. k. 4. 1. 10. 22>
<i— G. % 4.1.10.2a: Route of Administration TermID Yersion Date / Number #2-9 ——>
4= 6.k 4.1.10.2b: Route of Administration TermlD #2-9 —>
(originalText)G.k.d.r.10.1</originachxt>
<l— G.k.4.7.16.1: Route of Administration (free text) #2-9 —>
{/routeCode?
<doseQuantity value="10" unit="G k.4.r.1b"/>
¢l— G.k.4.r. 1a Dose (rumber) #2-9 —>
¢l G. %k 4. 1. lb: Dose {unit) #2-9 —>
{consumable typeCode="CSH™>
¢instanceGfKind elassCode="INST">
{productInstancelnstance classCode="MAT™ determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. v, 7¢/1otNumberText>
i G.k.4.r. 7 Batch / Lot Number #2-§ —>
{/productInstancelnstance>
<kindDfProduct classCade="3¥AT" determinerCode="KIND">
<fornCode code="C.k 4.1.9. 26" codeSystem="TBD-DoseForn” codeSystemYersion="G. k 4.r.9.2a7>
¢|— 6.k 4.1r.9.22; Pharmaceutical Dosc Porm TermlD Yersien Date / Nusher #2-9 —>
¢l— 6. % 4, r.9.2b: Phatmacentical Dose Form TermID #2-9 —>
CoriginalText>G. k. 4. r. 9, 1<{/originalText>
<} G.k 4.r.9. 1 Pharmaceutical Dose Form (free toxt) #2-9 ~>
</ formCode?
/kind0fProduct>
</ingstoance0fKind>
</consumable>
¢inboundRelationship typeCode="REFR™>
{ahservation clossCode="0BS" moodCode="EVN™>
loode code="28" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. L. 19" displayName="parentRouteOfAdninistration”/>
<value xsi:type="CE” code="G.k. 4.r. 1. 20" codeSystow="2. 16, B40, 1. 113883. 3. 980. 2, 1, 1. 14" codeSystemVersion="G. k. 4. r.

<t— G k.4 1. 11, 2a: Parent Route of Administration TermID Version Date / Number #2-9 —>
¢l Gk 4.1, 11. 20! Parent Route of Administration TermIB #2-9 —>
CoriginalText>G. k. 4. v, 11, L</originalText>
le= G k.4 1. 15, 13 Parent Route of Administration (free text) #2-9 -
{/valued
{/observation>
</inboundRelationzhip>
</substanceAdministration?
</outboundRelationship2>
¢outhoundReiationship? typcCode="COMP™>
¢1—— G.k. 4. r: Dosage nnd Relevant Information (repeat as necessary) #2-10 —>
¢substanceAdministration classCode="SBADM™ moodCode="EVN™>
{textdG. k. 4. r. B/ text>
¢— G.% 4. r.B! Dosage Text #2-10 —>
{etfectiveTime xsi:types"EVL_TS™>
{width value="4" unit="G.k.4.r.6b"/>
¢l=~ G.k.4.r.6a: Duration of Prug Administration (number) #2-10 -~>
¢|— G.k.4. 7. 6b: Duration of Drug Administratien (wnit) #2-10 —>
{/effoectiveTimed
¢routeCode code="G. k. 4.r.10.2b" codeSystem="2. 16.840. 1. 113883, 3. 989, 2, 1. 1. 14" codeSystenVersion="6. k. 4. 1, 10. 2a"™>
¢lw~ G.% 4. 1. 0, 2a° Route of Administration TermID Version Date / Number #2-16 —>
¢l— 6. % 4. r. 10, 2b: Route of Administration TermID f2-10 ~~>
CoriginalText>G. k. 4. 7. 10. 1</ ariginal Text?
<1— G,k 4.r.10.1: Route of Administration (free text) k2-10 —>
¢/routeCode>
{doseQuantity value="I0" unit="G.k.4.r.1b"/>
(=~ G. k. 4. 1. la Dose (number) #2-10 —>
{l— 6.k, 4.r. 1b: Doge (unit) #2-10 ->
<consumable typeCode="CSM™>
<instanceOfKind claasCode="INST™>
(productinstancelnstance classCode="MMAT™ determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7{/LotHumberText>
= G.k.4.r. 70 Batch / Lot Kumber #2-10 —>
</productInstancelnstance?
<kinddfProduct classCode="MMAT" determinerCode="KIND">

¢forzCode code="G.%. 4.r. ¢ 2b" codeSystem="TED-DoseForn” codeSystemVersion="G. k. 4.r.8.2a">
¢}~ G.k. 4. 7. 9. 2a: Pharmaceutical Dose Form TermiD Version Date / Number #2-10 —>
<i— G.k. 4. 1. 9. 2b: Pharmaceutical Doze Form TermlD #2~10 >
CoriginaiText?G k. 4.r.9. 1</ /originalText?
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<l— 6. k4. 1.9 17 Pharmacentiecal Dose Fornm (free text) #2-10 —>
{/foruCode>
</kind0fProduct>
{/instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR™>
{chzervation classCode="0BS™ moodCode="EVN™>
Ceode code="28" codeSystem="2. I6. 840. 1. 1138833989, 2. 1. 1. 19" displayNane="parentRoute0fAdrinistration”/>
¢value xsiitype="CE" code="G.k. 4.r. 11, 2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 147 codeSystenVersion="G. k. 4.1

¢1— G.k.4, 1. 11 2a: Parent Route of Admwinistration TermiD Version Date / Humber B2-30 -—>
<1~- G.k.4.r.11.2b: Parent Route of Administration TermiP #2-10 >
<originalText>G k. 4.r. 1L I</originalText>
¢i— G.k. 4.1, 10. 13 Parent Route of Administration {free text) #2-10 —>
fvalued
{/observation)
</inboundRelationshipy
{/substanceAdministration®
</outboundRelationship2>
CoutboundRelationship? typeCode="SUMM™>
<observation clossCode="085" mocdCode="EVN">
{code codo="14" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" diaplayNeme="cumulativeDeseToReaction™/>
<yalue xsitype="PQ” value="10" unit="G. k.5t"/>
¢I— G.k.5a% Cumulative Dose te First Resction (number) #2 ~->
¢1— &,k b Cumilative Dosc to First Reaction f(unit} #2 -3
{/ohservation?
¢/outboundRelationzhip2>
Coutbotnditelationshin? typeCode="PERT™>
{abservation ¢lassCode="8H5" moodCode="EVN™>»
(code code="16" codeSystem="2, 16. 840. 1. 113883, 3. 989, 2. 1. 1, 18" displayNome="gestationPeriod”/>
<value xsiitypes"PQ” value="10" unit="G. k. 6b"/>
¢l G.k.6a: Gestation Period at Time of Exposure (number) &2 —>
¢1— G. k. 6b: Gestation Period at Time of Expasure (unit) H2 —>
{/observation®
<{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0B5" moodCode="EYN">
<code code="31" codeSystem="2. 16. 840, 1. 113683, 3, 989, 2. 1, 1. 19" dispiayName="recurranceOfReaction”/>
Cvallie xsiitype="CE" code="G. k. 9.1.4" codeSystem="2, 16, 840. 1. £13883,3,989.2. 1. 1. 16"/>
{le— G k. 9 i.4: Did Zeacticn Recur on Re~administration? Drug #2, Reaction 1 —>
<outhoundRelationshipl typeCode="REFR™>
CactReference classCode="0BS" moodCode="EVN">
<id root="154ch886~058b-45E2-002f-425d6F 46577/
</actReference>
{foutboundRelationshipl>
{/observation?
</outbounditelationship2>
CouthoundRelationship? typeCode="PERT™?
<observation classCode="0BS" moodCode="EV¥N"™>
{eade code="31" codeSystem="2. 16, 840, 1. [13883. 3. 989, 2. 1. 1. 19" displayName="recurranceOfReaction” />
<value xziztype="CE” code="G, k. 9, i. 4" codeSystem="2. 16. 840. 1. 113883, 3. 480. 2. 1. . 167/>
¢l— G, % 9.1, 4: Did Reaction Recur on Re-administration? Drug #2, Heaction #2 -5
{outboundRelationshipl typeCade="REFR™>
<actReference classCode="0B5" moodCede="EVN™>
<id reot="2baal8df-cIe8-4ebe-93e9-5L860b3 142207/
</actReference’
¢/outboundRelat tonshipl>
</observation?
</outboundRelationship?>
<outhoundRelationshipZ typeCodo="REFR™>
<ohservation classCode="085" moodCode="EVN™>
Ccode cede="8" codeSystem="2, 16, 840. 1. 113883, 3,989, 2, 1, 1, 197 displayName="codedDrugInformation™/>
<value xsiitype="CE” code="(h k. 10.r" codeSystem="2. 16. 840. 1. 113683.3.980. 2. 1. 1. 177/>
(f— G. k. H.r: Additional Information on Drug (coded) (repeat as necessary} #2-1 —~>
</observation?
{/outboundRelatienzhip2>
CoutbeundRelationship? typeCode="REFR™>
{chservation classCode="0BS" moodCode="EVH™>
{cade code®™3” codeSystem="2. 16. 840, 1. 113883.3.989. 2. 1. 1. 19" displayNome="codedDrugInforzation”/>
Kvalue xsi:type="CE” code="G.k.10.r" codeSystem="2. }6. 840, 1, 113883.3.986. 2. |, 1, 17°/>
<l-- G.k. 10.r: Additional Information on Drug (coded) {repeat as necessary) #2-2 —>
{fobservatiend
{/outboundRelationship2>
<outboundRelationship? typeCoden REFR™>
¢observation classCode="0BS” moodCodes EVN>
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¢code code="2" codeSystem="2. 6. 840. 1, 113883, 3,988, 2. 1. 1, 18" displayName="additionalInformation”™/>
Cvalue xsi:type="ST™>G. k. 11<¢/valued
{l=- G.k. 11! Additional Infermation on Drug {free text) H2 —>
{/observation>
{/outboundRelaticnship2>
¢inboundRelationship typeCode="RSONT>
<abservation eclassCode="0BS" moodCode="EYN™>
{code code="19" codeSystem="2, 16, 840. 1. F13883, 3. 989. 2. L. L. 1" displayName="indicatien™/>
$value xsiitype="CE" code="G.k.7.r.2b" codeSystew="2, 16, 840, 1. 113883. 6. 1§3" codeSystemVersion="6.k.7.r.2a">
¢4—- G.k.7.r.2a: MedDRA Version for Indication #2-1 «->
¢3-- G. k.7.r.2b: Indication (MedDRA code) H#2-1 —>
CoriginalText>G. k. 7. r. 1<{/originalText?
¢1-— G, k. 7.r.1: Indication as Reported by the Primary Source #2-1 —->
{/value?
{performer typeCode="PRF™>
<agsignedEntity classCode="ASSIGNED™>
Ccode code="3" codeSystem="2. 16, 840, 1, 113883, 3, 989. 2. 1. 1. 21" displayName="sourcefeporter™/>
{/assignedEntity>
{/performer>
</observation?
¢/inboundRelationship>
<inboundRelaticnship typeCode="RSON™>
<observation ¢lassCode="0BS™ moodCode="EVN">
<code code="19" codeSystem="2. 16. 840, 1. 113893, 3. 089. 2, 1, 1. 19" displayName="indication”/>
{value xsi:type="CE” code="C. k.7.T.2b" codeSystem="2. 16.840. 1. 113883, 6. 163" codeSystemVersion="G. k. 7. r. 2a">
¢l— G.X.T.r. 2a: MedDRA Versicn for Indication #2-2 —>
{l-— G. k. 7.r. 2b: Indication (MedDRA code} #2-2 —>
CoriginalText>G. k. 7. r. 1{/originalText>
le G. k. 7.r. 1: Indicaticn as Reported by the Primary Source {2-2 ~—>
¢/fvalue>
<performer typeCode="PRF™>
{assignedBntity classCode="ASSIGNED™
¢code code="3" codeSystewm="2, 16, 840, 1, 113883, 3. 989. 2, 1. 1. 21”7 dizplayName="sourccReporter”™/?
</assignedEntity>
{/performer?
{/observation>
</inboundRelatienship>
¢inboundRelationship typeCode="CAUS™>
<act classCode="ACT" moodCode="EVN™>
{code code="G. k. 8" codeSystem="2. 16, 40, 1. 113883, 3.989. 2. 1. 1. 157/>
{1-- G, % 8: Action{sz) Taken with Drug $#2 ~->
{fuct>
</inboundRelationshipr
¢/subztanceAdministraotion”
{/eomponent?
{/organizer’
{/subject0f2>
{subjectCfZ typeCode="SB}">
Corganizer classCode="CATEGORY™ moodCode="EVN">
<code code="1" codeSystem="2. 16. 840, 1. 113883, 3.989. 5.1, &, 2, 1. 11" displayName="1HERODIAIL"/>
{component typeCode="COMP™> -
{ohservation ciassCode="0BS" moodCode="EVN™>
Ceode code="7" codeSysten="2. 16.840. 1. 112883, 3. 98%. 5. 1. 3. 2. 1. 107 displayName="/IHEF />
<value xsi:type="INT” value="1"/>
<l @682 13.r. 10 FRHEE #1 —
{/fobzervationd
</component>
{component typeCode="COMP™>
{observation classCode="0B5" moodCode="EVN™>
¢code code="8" codeSysten="2, 16, 840. 1. 113883, 3. 989, 5. 1. 3. 2. 1. 10" displayName="5tHSRM />
{walue xs5iitype="ED7>J2. 13. r. 2¢/valued
¢l-- €8932.13. r. 20 MHUERD 1 —
</observation?
</component>
{conponent typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN™>
<code code="9" codeSystew="2. 16, 840, 1, 113883. 3. 989. 5. 1. 3. Z. 1. 10" displayNeme="[¥12538"/>
{value xsiitype="CE" code="J2.13.r.3" codeSysten="2.16. 840, 1. 113863.3.980,5,1.3. 2. L.7°/>
<I— 888J2.13.7. 37 FSR #1 —
{/ohservation>
¢/component?
{conponent typeCode="COMP™>
{observation classCode="0BS"™ moodCode="EVN™>
¢code code="10" codeSystem="2. 16. 840, 1. 113883, 3. 989, 5. 1. 3.2, 1. 10" displayName="{R P OEFOITE"/>
Cyalue xsiitype="3L7. value="true” />
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C1— 882J2.13.r. 41 BMPOLEFHONE 81 >
{/observationd
{/camponent> .
(/arganizer>
</subjectOf2»
<{subject0f2 typeCode="5B] >
{organizer classCode="CATEGORY” moodCode="EVN™>
<code code="1" codeSystem="2. 16. B40. 1. 113883.3.989.5.1.3, 2. 1. 11" displayName="i5ER DI />
<{component typeCode="COMP™)>
{observation clagsCode="0BS" moodCode="EVYN">
(sode code="7" codeSystem="2. 16. 840, 1. 113883, 3,988, 5,1,3.2. 1. 10" displayName="JRIREIY"/>
<value xsi:types"INT™ value="17/>
<I-- @88)z. 13.r. 1: MEEY 2 —
{/observation?
{/omponent>
{component typeCode="COMP™>
<observation classCode="085" moodCode="EVN™>
<code code="8" codeSysten="2 [6. 840, 1. 113883, 3,989, 5. 1,3, 2. 1, 107 displayNome="%t s m"/>
<value xsiitype="TD7>]J2, 13,1, 2¢/value>
- 2882, 13. 1. 20 MQURMA K2 >
</observation>
{/componenty
<component typeCode="COMP™>
<observation classCode="0BS” maodCode="EYN™>
Coode code="9" codeSystem="2, 16, 840, 1. 113883, 3, 989, 5, 1, 2, 2. 1, 167 displayName="F¥40"/>
Cvalue x5iitypes"CE™ code="J2, 13,1, 37 codeSyster="2. 16. 840. 1. 113583. 3.989,5. 1.3.2. L.7°/>
<1-- g8#I2. 13. 1. 31 PRRAN H2 —
{/observation
{/component?
{corponent typeCode="COMP™>
{obsetvation claszCode="0BS" moodCode="EVN™>
<code code="10" codeSystem="2, I6. §40. 1. 113883, 3. 980, 5. 1. 3. 2. L. 10" disployName="$B B OEFIOH &/
<value x5iitype="BL" value="false”/>
¢l 8887213, r. 47 FEPOEHOTE 42 -~
</ohservation®
</component?
{forganizor>
</sub jectOF2>
¢/primaryRolel
¢/subjectl?
{component typeCode="CONP™>
{causalityAssessment classCode="0857 meodCade="EVN">
{code code="20" codeSystem="2. E6. §40. 1. 113883. 3.989. 2. 1. 1. 19”7 displayName="interventionCharscterization™/
<value xsiltype="CE” code="G. k. 17 codeSystem="2. EG. 840, F, F13683,3,089.2,1.1.13°/>
¢l—— G.k.1i Characterisation af Drug Rele Drug #f —>
<subject2 typeCode="SUBJ">
<productlseReference classCode="SBADM™ moodCode="T¥N™>
¢id root="3c¥1bdd5-ed30-4aTa-0c30~67671b0elDed” />
{/productUseReference’
{/sub ject2>
{/causalityAssessment?
</component>
<companent typeCode="COMP™>
{causalityAssessment classCode="0BS" moodCode="EVN™>
<code code="20" codeSystem="2, 16. 540, 1. 113883, 3. 9589, 2, L. I, 19" displayName="interventionCharacterization”/>
{value xsiitype="CE” code="G.k. 1" cedeSystem="2, 16,840, 1. 113883,3,989,.2,1.1,13"7/>
¢1— G, k. 1: Characterisation of Drug Rele Drug #2 >
<subjecl? typeCode="SUBF™>
¢productlseRefercnce clazsCode="SBADY” moadCode="RYN™>
{id root="68d6f6ce-3bIb-15¢7-92dd-69e06730c3297/>
</productlseReference
</subject2»
</canzal ityAssessment)?
{/eomponent?
<compenent typeCoda="COMP™>
{causalityAssessment classCode="0B5" mocdCode="EVN™>
<code code="39" codeSystem="2. 16, 840. 1. 113883, 3. 98%. 2, 1. 1. 197 displayName="causality” />
<value xsiltype="ST"»G. k. 9. L 2 r. 3¢/ /value
le== 6.3 9.1 2. 1. 3 Result of Assessment Drug #!, Reaction #1, Assessment 1 —>
<methodCode>
CoriginalText?G. k. 6. i. 2. r. 2¢/originaiText>
= G.k.9.i.2.r. 2! Hethod of Assessment Drug #i, Reaction fil, Assessment #1 —>
{/methodCode>
<author typeCode="AUT™>
{assignedBntity clnssCode="ASSIGNED™>
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{eoded
<originalText>G. k. 9. i. 2. r. 1<{/originalText>
Cle= G.%. 9.5 2. 1. 1: Source of Assessment Drug #1, Reaction #1, Assessment #1 ~—>
{/code?
</assignedEntity>
</author?
{gubjectl typeCode="SUBJ™>
<adverseBffectReference ¢lnssCode="0BS" moodCode="EVN™>
¢id reot="1542h889-058b—45{2~a02r-42dad6£4657E" />
{/adverseBffectReference?
{/subjectl>
¢subject? typeCode="SUBJ™>
{productUseReference classCode="SEADM” moodCode="EVN™>
<id root="3c91h4ds-e039-taTa-9c30-5767 1bbefded” />
{/productliseReference>
{/subject2>
{/causalitydssessment>
{/component>
{component typeCode="COMP™>
¢tausalityAssessment classCede="08S" moodCode="EVN">
<code code="39" codeSystem="2. 16. 840. 1. 113883. 3.986. 2. 1. 1. 19" displayNane="cousality"/>

<value xsiitype="ST™)G. k. 9. i, 2.1, 3</value
<l—G. k. 9.1, 2. r. 3! Result of Assessment Drug #1, Resction M2, Assessment $1 —>
<methedCode?

<originalText?G. k. 9. i. 2. r. 2{/originalTaxt>
¢l--G.k. 9. %.2.r.2° Method of Asscssment Drug #i, Reaction #2, Assessment #1 ~—>
{/methoadCode>
<author typeCode="AUT™>
{ussignedEntity classCode="ASSIGNED™>
<code>
CoriginalText>G. k. 9. 1. 2, r. 1¢/originalText>
¢l— 6.k 9.4, 2. r. 1: Source of Aszessment Drug #1, Reaction #2, Assessment ¥l —
{/eode>
{/assignedEntity>
</author?
<subjectl typeCode="SUBJ™>
{adverseEffectReference classCode="0BS" moodCode="EVN™>
¢id root="2baa28d6-c9aB-4obc-23e0~5bAGCH3 142207/
</udverseRffoctReference?
/subjeetld
{subject? typeCode="SUBI™>
{productUseReference classCode="SBADM” moodCode="EVN™>
¢id root="3c91bddi-c039-4a7a-0c30~67671L0ef3e4" />
{/productUscheletence?
{/subject2>
{/causalitydssessment>
</component>
{cempanent typeCode="COMP™>
(causalityAzsessment ¢lossCode="0BS” moodCode="EYN™>
{code code="38" codeSystem="2. 16. B40. 1, 113883, 3,988, 2, 1, 1. 197 displayName="causality”/>
{value xsiitype="S5T™)G. k. 9. {. Z.r. 3¢/value)
<}—G.%k.9.1.2. 1.3 Result of Assessment Brug #2, Reaction #2, Assessment I ~>
{methedCode?
CoriginalText>G. k. 8. i. 2. r. 2¢/originalText>
Clow k. 9.i.2. 1. 2! Method of Assessment Drug #2, Reaction #2, Azsessment #l —>
</methodCode>
Cauthor typeCode="AUT™>
CassignedEntity classCode="ASSIGNED™>
<cade>
CoriginalText>G. k. 9. i. 2.1, 1</original Text>
¢l— G, k.9 1,2 r 1: Source of Asseszment Drag #2, Reaction #2, Assessment #1 —>
¢/code> :
¢/assignedEntity>
</author>
<subject]l typeCode="SUBY™>
(adverseBffectReference clazsCode="0BS” moodCode="EVN™>
¢id root="2bnaZ8d6-c9eB-4efc-9329-5h860b3 142207/
</adverseEffectRoference>
{/subjectl>
<subject? typeCode="SUBJ">
(productlUseReference classCode="5BADM” moodCade="EVN™> .
¢id raot="68d6f5¢e—3b3b-45c7-92dd-69c06730c3a97/>
</productUseReforence>
</subject2>
</causzalityAssessmentd
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{/component?
<component typeCode="COMP™>
<causalityAssessment c¢lassCode="0BS” moodCode="EVN™>
(cede code="39" codeSystew="2, 16. 840, I, 113883, 3, 989. 2. 1. 1. 19" displayName="causality"/>
Cvalue xeiitypes 85T726.k 9.1, 2.1, 3¢/value>
<E—G. k. 9,1, 2. 7. 37 Result of Assessment Drug #2, Reaction B2, Assessment ¥2 —>

{methodCade>

doriginalText>G k. 9.1, 2, r. 2{/original Taxt>

¢1-—G. % 9,1, 2. 1. 2: Mathod of Assessment Drug 42, Reaction #2, Assessment H2 --»
{/nethodCode>

¢author typeCode="AUT™>
CassignedEntity classCode="ASSIGNER™>
Ccode?
CariginalText>G. k. 9. i. 2. r. 1{/originalText>
(I-— 6. k.9.1.2. 1. 1! Source of Assessment Drug §2, Reaction #2, Assessment #2 >
{/cade>
{fazsignedEntityd
<fauthor>
Cgubject! typeCode="SUBJ™>
¢adverscEffectReforence classCode="0BS™ moodCode="EVN™>
<id root="2baa28d6-cIeB-fe6e-93c9-5bB60bI14220" >
¢fadverseliffectReference
</subjectl>
<{subject? typeCede="SUBI™>
{productlUseReference classCode="SBADM™ moodCode="EVN™>
<id root="68d6{5ce~3b3b~45¢7-524d-6906730c3a0"/>
{/productlizeReference>
{/subject2)
{/eausalityAssessment?
</component?
<component] typoCode="COMP™>
{observationEvent classCode="0B3" moodCode="EYN™>
¢eode code="10" codeSystem="2, 6. 840. 1. 113882, 3,989, 2, 1. 1, 19" displayNames"comment™/?
<value xsi:type="ED7H. 2¢/valued
¢l— [ 2: Reporter’ s Commenis «->
<auther typeCode="AUT™>
{assignedfntity classCode="ASSIGNED™>
<code code="3" codeSystem="2, 16, 840, 1. 113883, 3. 885. 2. 1. 1. 21" displayName="scurceRoeporter”/?
<fassignedEntity>
{/outhor>
</ohzervationEvent>
<{/componenti>
{component] typeCode="COMP™>
<observationBvent classCode="0B3" moodCode="EVN™>
<code code="15" codeSysten="2. 16, 840, 1. 113883, 3, 989, 2. 1. L, 19" dispiayName="diagnosis”/>
¢value xaiitype="CE™ code="Il 3,1, 1b7 fodeSystews™2. 16. 849. 1. 113883, £. 163" codeSystenVersion="N.3.r. 1a"/>
¢I— H, 3. 1. la: YedDRA Verzion for Sender’ s Diaghosis / Syndreme and / or Reclassificatien of Reaction / Event %] —>
¢3=— H.3.r.1b: Sender’s Diagnosiz / Syndreme and / or Reclsssification of Reaction / Event (MedDRA code) %1 =3
<author typeCode="aUT™> f
{assignedfntity classCode="ASSIGNED™>
{code code="1" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 217 displayName="zender™/>
{/assighedEntityd
</author>
{/obaservationfvent>
¢/component1}
{compenentl typeCede="COMP™>
<observationEvent ciassCode="0BS" moodCode="EVN™>
{code code="E5" codeSystem="2. 16.840. I. 113883.3.989. 2. |. 1, 19" displayName="diagnhosis”/>
Cvalue xsiitype="CE” code="I. 3. r. Ib” codeSysten="2. 16, 840, t. 113883, 6. 163" codeSystemVorsion="IL 3, r, 127/>
<I=— M. 3.r.1a: MedDRA Version for Sender’s Diognosis / Syndrome and / or Reclassification of Reaction / Event #2 ~->
(l— K. 3.1r. 1b! Sender’ s Dimgnosis / Syndrome and / or Reclassification of Reaction / Event {(UedDRA code) H2 —->
Cauther typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
<code code="1" codeSysten="8, 16, 840, 1, 113883, 3. 989, 2, 1. 1. 21" displayName="sender”/>
{/assignedEntity>
{/author?
{/ohzervationfvent>
</componentl>
<component] typeCode="COMP™>
<observationEvent c¢lassCode="0B5" moodCode="EYN™>
¢code code="10" codeSystem="2, 16, 840, 1. 113883. 3. 589. 2. 1. 1. 19" displayName="comment”/>
<valun xsiitypes"TD"3. 4¢/value>
¢f— H.4: Sender’'s Comments ——>
<author typeCode="AUY™>
CassignedBntity classCode="ASSIGNED”>
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¢code code="1" codeSystem="2. 16, 840. 1. 113883, 3. 089, 2. 1. 1. 21" displayName="sender”/>
¢/nssipnedEntity>
{/outhor>
</observationEvent>
¢/eompanent1>
¢componentl typeCode="COMP™>
{obzervationEvent classCode="0BS™ moodCode="EVH™>
Cende code="3" codeSystem="2. 16, 840. 1. 113883.3.989, 5, 1. 3, 2. 1. 107 displayMame="3RIEETio+T D2 A 75
¢value xsi:type="ED">J2.7.2¢/value>
i-- 888J2. 7.2 RFETICHTH2 A
{/cbservationEvent>
{/component1>
{componentl typeCode="COMP*>
{observationEvent classCode="0BS" mocdCode="EVN™>
{code code="d4" codeSysten="2. 16. 840. 1. 113883, 3. 989.5. 1. 3. 2. 1, 10" displayName="RERAE MM BATE" />
Cvalue xsiitype="ED">JZ, 9</valued
(- @88jz. 9: BMIMEOCBMEBE —
{/obgervationEvent>
<{/componentE>
{componentl typeCode="COMP™>
<observationBvent ¢lassCode="0BS" moodCode="EVN™>
<code code="5" codeSystem="2. 16. 840, 1. 113863, 3. 989.5. 1. 3.2, 1. 107 displayName="S-{& D HEE"/>
Cyaiue xsi:ztype="ED">]J2, 10¢/value?
<|-- 888J2. 10 SEDIE —>
¢/obgervationEvent>
{/eomponent1>
¢camponentl typeCode="COMP™>
¢observationBvent claszCode="0BS" moodCode="EYN">
{code code="6" codeSystem="2, 16. 840. 1. 113883, 3.980.5. 1. 3. 2. L. 10" displayName=" £ D2 HYHE"/>
Cvalye xsi:type="ED">J2.11¢/value}
<l g6gJ2. 11: TOMBEYRHT —>
{/observationEvent>
</componentl>
¢conponentl typeCode="COMP”>
dobservationEvent classCode="0BS”™ mondCode="EVN™>
<code code="12" codoSysten="2, 16, §40. 1. 113863, 3. 989. 5. 1. 3. 2. 1. 10" displayNeme="{R{FHZRDER"/>
<value xsi!type="ED">J2, 16</valuc>
b £8072.16: MM OIE —>
{/observationEvent>
¢/componentl>
<eomponent] typeCode="COMP™>
¢abservationBvent clazsCode="0RS" moodCode="EYN™>
<code code="13" codeSystems"2, 16, 840. 1. 113883. 3. 089. 5. 1. 3. 2. 1. 10" displayNanes f53517/>
<yalue xsiitypes"ED">J2, 19¢/value?
<I— gg8rz, 190 %1 —
¢/ohservationfvent>
{/component1>
<gomponent] typeCode="COMP™>
<observationEvent clossCode="0BS” moodCode="EVN™>
¢cods code="E4" codeSystem="2. 15, 840, L, [13883.3.989.5. 1. 3. 2. 1. 10" displayName="{{i352"/>
<value xsi:type="ED7>]J2. 20</value>
<1 ggeJz. 20: ¥z —
¢/observationBvent?
{/componenti?
{componentl typeCodes"COMP™>
CobservationEvent classzCode="0BS” moodCode="EVN™>
¢code code="15" codeSystem="2. 15. 840, 1, 113883, 3. 989. 5. 1. 3. 2. 1. 10" displayName="{f53"/>
<value xsi:type="ED">J2, 21</vaiue>
(1—- 888J2.21: fH%3 -
</observationEvent?

{/componentl>
{componentl typeCode="CCMP™>
{observationEvent classCode="0B5" meadCode="EVN™>
<eode code="16" cadeSystem="2, 1§, 640, i, 113883, 3,989, 5, 1. 3. 2. 1. 10” displayName="{#iZ54"/>
Cvalue xsi:type="ED">]J2, 22{/valued>
¢)— @paJe.22: fiXd -
{/observationEvent>
</component1>
</adverscEventAssessment?
{/component>
{component typeCode="COMP™>
<observationEvent classCode="0BS" moodCede="EVN™>
¢code code="1" codeSystem="2. 16. 840, 1. 113883, 3.989. 2, 1. 1. 19" displayNome="additicnalDecumentsAvailable™/>
<value xsi:type="BL" value="true™/>
<]— €. E.6.1: Are Additional Documents Available? —>
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¢/obsexrvationEvent>
{/component>
{component typeCode="COMP™>
{observationBvent classCode="0B5" moodCode="EYN™
{code code="23" codeSystem="2, 16, 840. 1. 113883, 2,986, 2. 1. 1. 197 displayNeme="}localCriteriaferExpedited”™/>
<value xsi:type="BL” value="true”/>
{lew £.1.7! Does This Case Fulfil the Local Criteria for an Expedited Report? ——>
{/chservatisnEvent>
{/component?
{component typeCode="COMP™>
{abservationEvent classCode="0BS" moodCode="EVN™>
<eode code="36" codeSysten="2, 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" displayName="sumnaryAndComment”/>
Kvalue xsi:types"ED” language="H.5.r.1b">L 5. r. la</vaiue>
¢!—— |£. 5, r.1a: Case Summary and Reporter’s Comments Text #1 -->
Kl |5, 7. 1b! Case Summary and Reporter’s Comments Language HE -
<author typeCode="AUT™>
<assignedBntity classCode="ASSIGNED™>
{code code="2" codeSystem="2. 16, 840, 1. 113883, 3,989, 2, 1, 1, 21" displayHome="reporter”/>
</assignedBntity?
{fauthor»
</sbservationEvent
{/camponent>
<component typeCode="COMP™>
<abgorvationEvent clagsCode="00S" moodCode="EVR™>
{code code®™356” codeSystem="2. 16, 840. 1. 113883, 3,989, 2, 1. 1, 197 displayNome="summaryAndComment™/>
{value xsi:type="ED" language="H.5.r.1b"2H. 5. 1, la</vajue>
l= L. 5.r. 187 Cogse Summary and Reporter’s Comments Text #2 —->
¢l-— I 5, r, 1b: Case Summary and Reporter's Commeniz Language H2 ~—2
{author typeCode="AUT™)
<assignedBntity clossCode="ASSIGNED™>
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 217 displayName="reporter™/>
{/nssignedEntityd
{/author>
¢/observationEvent?
{/campoenent?
<outboundRelationship typeCode="SPRI">
{relatedinvestigation classCode="INVSTG™ moodCode="TVN™>
{code code="1" codeSystom="2. 16. 840, 1, 113883.3.989. 2. 1. 1. 22" displayName="initislleport”/>
<stbjectOf? typeCode="SURJ™>
{gontrolActEvent classCode="CACT” moodCode="EVN™>
<author typeCode="aUT">
{assignedEntity eclassCode="ASSIGNED™>
Cgode code="C, 1.8.2" codeSystem="2. 16. 840, 1. 113883, 3. 98%. 2. 1. 1.3"/»
¢l— €.1,8.2: First Sender of This Case —>
</assignedintity>
{/authar>
{/controlictlvent?
</subject0f2>
{/relatedIlnvestigation?
</outhoundRelationship?
{outboundRelatienship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG™ moodCode="EVN™>
<code nullFlaver="NA"/>
{tubjoet0f? typeCode="SUBT™>
<eontrolActEvont classCode="CACT™ moodCode="EVH">
<id extensien="C. L. 8. r" root="2.16.840. 1. 113883, 3,989,2.1.3.2/>

¢1— £.1.10.1: Identification Number of the Report Which Is Linked to Thisz Report (repeat as necessary)

{/eontraiActBvent>
</subject0r2>
¢/relatedInvestigation>
¢/outboundRtelationship>
¢outbosndRelationship typeCede="SPRT™>
<reiatedinvestigation classCode="INVSTG™ moodCode="EVN™>
<eode nullFlsvor="NAT/>
<subjectOf2 typeCode="SUBT™>
{contrelictEvent classCode="CACT” mocdCode="EYN™>
<id extension="C,1,10. T~ root="2. 6. 840. 1, 113883, 3.985.2. 1. 3.2"/>

¢i— C.1,10,r: Identification Number of the Report %hich Is Linked to this Report (repeal as hecessary)

{/controlAciEvent>
{/subject0f2>
<frelatedInvestigation>
</outboundRelationship?
<cutboundRelationship typeCode="SPRI™>
<prierityNumber value="1"/>
¢le= €, 2.r.5: Primary Source for Regulatory Purpases #1 —>
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{relatedInvestigation classCoda="TNVSTSE™ mosdCode="EYN™>
{code code="2" codeSystem="2.16, 840. 1. 113883. 3, 989. 2. 1. 1. 22" displayName="sourceReport”™/>
<subjectOf2 typeCode="SUBI™>
<contralActEvent classCode="CACT" moodCode="EVN™>
<author typeCade="AUT™>
CagsignedBntity classCode="ASSIGNED™>
<addr?
{streetAddressLine>C. 2. r. 2. 3¢/strectAddressLine>
{1-- C.2.1r.2.3: Reporter’'s Strect #1 -
{cityyC. 2.1 2. 4¢/city>
{l— C.2,r.2.4: Reporter's City #1 -5
{state?C. 2.r. 2. 5¢/state>
<l— C.2.r. 2.5 Reporter's State or Province #1 -—>
<postalCode>C. 2, r. 2. 6{/postalCode>
¢lwe C.2.r.2.6: Reporter' s Postcode §1 -—>
</addr>
<teleeom value="tel:C. 2.1, 2.77/>
<l— €. 2, 7.2, 7: Reporter’ s Telephone #1 ~—>
<assignedPerson clnssCode="PSN" determinerCode="INSTANCE™>
{hame>
{prefixdC. 2, 1. 1. E/prefixd
{lew £, 2.7, 1. 1: Reporter s Title #fl ——>
{giveniC. 2. r. 1. 2¢/given?
¢l— C.2.r. 1.2 Reporter’s Given Name Hi ——>
<given>C, 2, ., 1. 3¢/given>
¢lw= C,2.r. 1. 37 Reporter’ s Middle Name #1 -
Family>C. 2. r. 1, 4</Tanily>
<l— C.2.r. 1. 4: Reporter’ s Family Name $1 -
{/namo>
{azQualifiedEntity classCode="QUAL™>
{code code="C.2.1.4" codeSystem="2, 16. 840, 1. 113883, 3, 689. 2. 1. L.67/>
¢le— €. 2.1 4: Qualification §1 >
</asQualifiedEntity>
{aslocatedEntity ciassCode="LOCE">
{location classCode="COUNTRY" determinerCode="INSTANCE™>
<code code="C.2.1.3" codeSystem="1.0.3166.1.2.27/>
{l— .2, r, 3 Reporter’ s Country Code #1 —»
<{/lacation?
¢/asLocatedEntity>
</nssignedPerzon?
¢representedbrganization classCode="DRG™ determinerCode="INSTANCE™>
{mamerC. 2. r 2 2¢/ naped
¢l €. 2,1, 2,2 Reporter’ s Department #1 ~->
<agsignedBntity classCode="ASSIGNED™>
(representedOrganization classCode="0RG”™ delerminerfodes=" INSTANCE™>
<naweXC. 2, £, 2. 1</name>
{l~— C.2.1r.2.1: Reporter' s Organisation #1 --7
{/representedfrganization?
¢/assighedfintity>
{/representedOrganizationy
{/fassignedintity)
¢/author>
{/controlActEvent?
{/sub ject0f2>
¢/relatedInvestigation>
</cutboundRelationship>
<outboundRelationship typeCode="SPRE™>
¢relatedInvestigation classCodes"INVSTG” moodCode="EYN™>
{code code="2" codeSystem="2. [6.840. 1. 113883. 3. 985. 2. F. 1. 22" displayName="sourceReport™/>
<subjectOf2 typeCode="SUBJ™>
{controlActEvent classCode="CACT” moodCode="EVN™>
¢author typeCade="AUT™>
<assignedEntity classCode="ASSIGNED™>
{addr>
{streectAddressLine>C. 2. r. 2, 3¢/streetAddressLine>
{I— C.2.r.2 3 Reporter's Street #i2 ——>
Ceity>C, 2.r. 2. 4/ eity
le £.2.r.2. 4! Reporter's City §2 -5
{statedC. 2. r. 2, 5¢/stated
{le— €. 2,1, 2.5: Reporter's State or Province #2 —>
<postalCade>C, 2, r. 2. 6</postalCade?
Sl €. 2.1.2.6: Reporter' s Postcode #2 —>
</addr>
{telecom value="tel:C.2.1.2.77/
¢t— €, 2. 1. 2.7 Roperter’ s Tolephone 2 —>



{assignedPerson ciazsCode="PSN” doterminerCode="INSTANCE™>

{name}
<prefindC, 2. r. 1. 1</prefixd
- Jen € 2.r. 1. 1% Reporter's Titie H2 —>
{givendC. 2. xr. 1. 2¢/given>
{le~ £, 2.r.1.2: Reporter' s Given Nome H2 —>

<givendC, 2. r. 1. 3¢/given>
¢lwm €. 2.r.1.3: Reporter’ s Middle Name B2 -—>
(fanily>C. 2.r. 1. 4¢/fanily>
¢l € 2, r. 1.4 Reporter's Fomily Nome 82 -->
{/namay
{asQualifiedEntity classCode="QUAL">
<code code="C.2. 1. 4" codeSysten="2. 16, 840. 1. 113883, 3. 989 2. L. L. 67/>
¢l C.2.r.4: Qualification 82 -->
</nsQualifiedEntity
¢aslocatedEntity classCode="LOCE™>
<location classCode="COUNTRY™ determinerCode="TNSTANCE™>
<code code="C, 2,1, 37 codeSystes="1,0,3166.1,2.27/>
{lw~ C.2.1.3: Reporter's Country Code 8Z =->
</location>
{/asLocatedEntity>
{/assignedPersond
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
<nameXC. 2. r. 2. 2{/name>
¢l-- C.2.r.2.2: Reporter’ s Department #2 —>
{agsignedEntity classCode="ASSIGNED™>
CropresentedOrganization classCode="ORG™ determinerCode="INSTANCE™>
<namedC, 2. r. 2. [</name>
{l— C.2.r.2.1: Reporter's Organisation ¥2 ~>
{/representedOrganization?
{/assignedEfntity>
{/representedOrganization
{/assignedBntity>
{/author>
{/controlActEvent?
</subject(f2>
</relatedInvestigation®
</outboundRelationship>
¢subject0f] typeCode="SUB]™>
{controlifctEvent classCode="CACT" wocdCode="EVN™>
{auther typeCode="AUT™>
CassignedEntity classCode="ASSIGNED™)
Ccode code="L.3. 1" codeSysten="2. 16, 840, 1. 113883, 3. 980. 2. L. 1. 7°/>
<l-= .3 1: Sender Type —>
<addr>
(strectAddressLine>C. 3. 4. 1¢/streetiddresslined
¢l €. 3,4, 1! Sender' s Street Address —-»
ity 3.4, 2 feity>
{1~ C.3.4.2: Sender's City —->
{gtaterC. 3. 4. 3¢/state>
== €.3.4.3 Sender's Stote or Province —=>
{/addr>
{telecom value="tel:C.3. 4.6/
<l— € 3.4.6: Sender’ s Telephone ~3
<telecom value="fox:C.3.4.77/>
¢1— €, 3,4.7: Sender’ s Fax —>
<telecom value="mailto:C. 3.4.8°/>
¢1— €, 3, 4.8 Sender’ s E~mail Address —>
<assignodPersen classCede="PSN” determinerCode="INSTANCE™
<name>
{prefix>C. 3. 3. 2¢/prefixy
¢l . 3.3, 2: Sender’ s Title —>
<given>C. 3. 3. 3</given>
<I— €, 3,3, 3: Sender’ s Given Name =3
{given>C. 3. 3. 4¢/given>
¢l— C.3.3.4: Sender’s Middle Nome —>
{family>C. 3. 3. 5¢/fanily>
1= C€.3.3.5: Sender’ s Family Name -->
¢/nome>
<asLocatedEntity classCode="LOCE">
¢location ciassCode="COUNTRY™ determincrCode="INSTANCE">
{code code="C.3.4.5" codeSysten="1.0.3166.1.2.27/>
{l== €. 3.4.5: Sender’s Country Code —>
</location>
{/asLocatedEntity>



{/assignedPerson>
{representeddrganization classCode="0RG™ determinerCode="INSTANCE™>
<nanre>C, 3. 2</name>
{l=- C.3.2: Sender’s Organisation -->
{/representedOrganization>
{/assignedEntity>
</author’
<primaryInformationRecipient typeCode="PRCP™>
<agsignedintity classCode="ASSIGNED™>
CassignedPerson classCode="PSN™ determinerCode="INSTANCE™>
<name’
<prefix]J2. 18. 2</prefix>
<I— 68@J2.18.2: RIFHF FEE —
<family>]J2. 18, 3¢/ fonily>
<I— e23J2.18.3: RFH
Cgiven»J2. 18 4¢/givend
<i-- 888)2.18.4: ZfEL & -
¢/name?
</assignedPerson>
{representedOrganization classCode="ORG™ determinerCode="INSTANCE™>
Cname>J2. 18. 1{/hame>
<l— geaJz. 18. 1: BEYN MES
</represented0rganjzation>
{/assignedEntity>
</primaryInformationRecipient>
{/eentrolActEvent>
</subjectDfl>
{subjectOf] typeCode="SUBJ"»
{controlActEvent classCode="CACT™ moodCode="EVN™>

<id assipringAuthorityNome="C. 1.9, 1.r.1" extension="C. 1. 9. 1. 1.2 root="2, 16, 840, 1, 113883, 3.989. 2. 1.3.37/>
{1— G 1.9 1. 1. ki Source{s} of the Case Identifier (repeat as necessary) #1 —>
{lwe £ 1.9, 1.1. 2 Case Identifier{s} #I —>
{/controlictBvent>
</rubjectOf1>

{subjectDfl typeCude:’SUBJ')
<controlActEvent classCodo="CACT” moodCode="EVYN™>

<id assigningAuthorityRame="C. 1.9. L. r. 1" extengion="C. 1.9. L. 1. 2 ropt="2. 16, 840, 1, 113883, 3,989, 2. 1.3.37/>
{I— C. 1.8 1. r. 1: Source{s) of the Case Identifier (repest as necessary) H#2 -7
{le— €. 1.9, 1.7. 2 Case Identifier(s) #2 ~—>
{/vontrolfctEvent?
¢/aubject0f1>

<subject0F2 typeCodes"SUB]">
{investigationCharacteristic classCode="0BS" moodCode="EVH™>
{code code="1" codeSystew="2. 16, 540, 1. 113883, 3.989. 2. 1. 1. 237 displayName="ichReportType™/>
Cvalue xsiitype="CE” code="C. 1,37 codeSystem="2. 16.840, L. 113883, 3.980.2. 1. 1.27/>
<I-- €, 1,3 Type of Report ~->
{/investigationCharacteristic?
{/subject0f2>
{subject0fZ typeCode="SUBJ >
{investigationCharacteristic classCode="0BS" moodCode="EVN">
(code code="2" codeSysten="2. 16. 840, 1. 113883, 3,989, 2. 1. 1. 23" displayName="otherCaselds™/>
<value xsiztype=”BLT value="true™/»
¢l— C,1,9,1 Other Case Identifiers in Previous fransmissions —>
¢/investigationCharacteristic>
</subjectOf2>
<subject0Of? typeCodew"SUBT™>
¢investigationCharacteristic ciassCode="0BS" moodCode="EVH™>
<code code="3" codeSyzlem="2, 1§ 840, 1, 113883, 3. 989, 2, 1. 1, 23”7 disployName="rwllificuotionAmendsentCode™ />
<value x3iitype="CE" code="C.1.11.1" codeSystem="2, 16, 840, 1, 113883, 3, 989, 2.1, 1.5"/>
¢1— C. 1,11 1: Report Nullification / Amendment —->
{/investigationCharacteristic>
¢/subject0f2>
<subjectOf? typeCode="SUBJ™>
{investigationCharacteristic classCode="0BS" moodCode="EYN">
{cade code="4" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2, L, 1. 23" displayName="nullificationAmendmentReason”/>
Cvalue xsiitypes"CE™
{originslTexs>C. L. 11, 2¢/originalText>
{l— C.1.11.2: Reason for Muilification / Amendment -~>
{/value>
</investigationCharacteristic>
¢/subjectOf®>
<subject0f2 typeCode="SUB]™>
CinvestigationCharacteristic classCode="0BS" moodCode="EVN™>
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3.989.5. 1, 3, 2. 1, 12" displayName="ERBUES ($Re5540H) />
Cvalue xsi'type="CE” code="J2.1a" codeSystem="2.16.840, 1, 113883, 3. 989.5. L 3. 2. L. "/>
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{/investigationCheracteristic>
</suhject0f2>
<subject0f2 typeCode="SUB]">
{investigotionCharacteristic classCode="0BS™ mooadCode="EVN™>
<code code="2" codeSystem="2. 16, B40, 1. 113883. 3.985. 5. 1. 3. 2. 1. 12”7 displayName="${EEF A"/
<value xsiltype="T5" value="201301077/>
<I-- g6AJ2.2. 1: MERRERE —
</investigationCharacteristic>
{fsubjectdf2y
<subjectGf2 typeCode="SUBI™>
{investigationCharactoristic ¢lassCode="0BS" moodCode="EVH">

{eode code="3" codeSystem="2, 15, 840, 1, 113883. 3, 989, 5,1.3. 2. 1, 12”7 displayNome="$HHBHE RIZT S22 72

{value xsi:type="ED"2J2.2.2¢/vaiued
<l-- g88J2.2.2: MGEFALZET AT —
</investigationCharascteristic>
</subject0f2>
¢subjectOf2 typeCode="SUBJ">
<investigationCharacteristic c¢lassCode="0BS" moodCode="EVN™>
{code code="4" codeSystem="2. 16, 840, 1, 113883, 3,989, 5.1.3.2. 1, 127 displayName="[iB$$45 7 5 &7 />
Cvalue xsi:type="CE” code="J2.3" codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2. L. 2"/>
<l-- ggeze. 3 KRG T F S —>
</investigationCharacteristic?
<Soubjoetli2>
{subject0f2 typeCode="SUB}™>
CinvestigationCharacteristic classCode="0BS” moodCode="EYN™>
<code code="5" codeSysten="2, 16, 840. 1. 113883, 3,989, 5, 1, 3. 2. 1. §27 displayName="$i5x}HMH 77 77N
<ynlue xsi:type="CE” code="J2.8.17 codeSystem="2.16.840. 1. 113883.3.989.5. 1.3. 2. 1.6"/>
<i-- ggdr2.8. 1 MRS T F S —>
</investigationCharacteristic>
</oubject0f2>
<subject0f2 typeCode="SUBJ™>
CinvestigationCharacteristic classCode="0BS" muodCode="EVN™>
<ecode code="6" codeSysten="2. 16, 840, 1. 113883, 3. 989, 5. 1. 3. 2. 1. 127 displayRame="1R4 28 S DB/,
Cvalue xsiitype="ED7>]2, 8 2{/value>
<I— ggeJa. 8. 2: RERHAOERB —>
</investigationCharacteristic?
</subjectOfdy
{/investigationBvent?
¢/subject>
{/controlActProcess>
</PORR_TK0490160V>
{I— Message #1 —>
<l— Hesmage $2 ~>
<I— PORR_IND49016LY —>
¢l /PORR_INOASOL6UV —>
¢1-- Wessage #2 —>
{receiver typeCode="RCY™>
¢device classCode="DEV” determinerCode="TNSTANCE™>
<id extension="N. 1. 4" root="2. I6, 840, 1, 113883, 3,689, 2.1, 3. 147/>
{lwn N E.4: Batch Receiver ldentifier —>
</devicey
{/receiver>
<sender typeCode="SND™>
¢deviee classCode="DEY” determinerCode="INSTANCE™>
<id extension="N. 1.3" root="2.16.840. 1. 113883.3.989.2. 1. 3. 13"/>
¢l— N.1.3% Bateh Seader Identifier -—>
¢fdevice>
{/sender>
</UCCI_EN200100UVOL>
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{Txml version="1.0" encoding="UTF-8"7>
QICCI_INZ0M100UV01 TTSVersion="FML_ 1. 0" xsi:schemoLecation="urn:hl7-org:v3 MCCI_INZO0100UVOL. xsd” xnlns="urn:hl7-orgiv3” xmlns:xsi="http://ew.¥3.org/
2001/3MLSchema-instance”™
<id extension="N.1.2" root="2. 16.840. 1, 113883, 3, 089, 2, 1,3,227/>
lw N.1.2: Batch Nunber -——>
{creationfime value="20101214151617"/>
¢1— N.1.5: Date of Batch Transmission ——>
{responscModeCode code="D"/>
{interactiontd extension="MCCI_IN200300UVG]™ root+="2. 16. 840. 1. 113883.1.67/>
Cname code="N. 1. 17 codeSystem="2. 16, 840, 1. 113883.3.989.2.1.1.1"/>
{l~= N.1.1: Type of Messages in Batch —=>
¢l Message #1 —>
<PORR_INO4GO16UV>
<id extension="N.2,r.1” root="2. 16 840.1. 113883.3.98%.2.1.3. 1"/>
¢1-— N.2.r, I: Message Identifier —>
{creationTime value="201012141516177/>
¢l— N.2.r.4: Date of Wessage Creation «>
<interactionld extension="PORR_INO49016UV™ root="2. 16,840, 1. 113883.1,6"/>
<processingCede code="P"/>
<processinghedeCode code="T"/>
{acceptickCode code="AL"/>
<{receiver typeCode="RCY™>
¢device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.%2.r. 37 root="2, If, 840. 1. 113883.3.989. 2. 1.3, 12°/>
<t— N. 2. 1.3: Messape Receiver Identifier —>
{/device>
{freceiverd
¢sender typeCode="5KD">
<device classCode="DEY" determincrCode="INSTANCE™>
¢id extensien="F. 2.1.2" root="2. 16, 840.1.113883,3.686.2, 1.3, 117/>
{1 N, 2.1, 2: Hessage Sender Identifier —>
</device>
</gender?
(contrelictProcess classCode="CACT” moodCode="EVH™>
<code code="PORR_TEG4S018UV" codeSystoms="2, 16. B40. 1. 113883. 1. 187/
¢I—— HLT Trigger Event ID —>
<effretiveTine value="201012141516177/>
{len C.1.2: Date of Creation >
¢subject typeCode="SUBJ™ >
<investigationBrent classCode=" INVSTG” moodCode="EVNT)
{id extension="C. 1. 1" root="2, 16,840, 1. 113683.3.989. 2. 1.3, 17/
{l~- C.1.1: Sender's {csse) Snfety Report Unique Identifier —3
<id extension="C.1.8.1" root="2, 16.840. 1. 113883, 3.989.2,1.3.2°/>
(I-- C.1.8.1: Woridwide Unique Case [dentifiecation Humber -2
{id extonsion="}2. Ib” root="2, 16,840, 1. 153883, 3,989.5,. 1.3.2.3.17/>
<i-- GARJZ. 1b: EREGHEE GRE) -
Ccode code="PAT_ADV_EVNT™ codeSystem="2, 16. 840. 1, 1138845, 47/
(textOH, 1</ text>
¢l—- H.1: €ase Harrative Including Ciinical Course, Therspeutic Measures, Outcome and Additicmal Relevant Information —>
<statusCode codes active™/>
Cl—-eg)e 7.t T, KATES —
CeffectiveTine?
{low value="2009C10L%/>
<l— C.1.4: Date Repert Was First Received from Source —>
{feffectiveTime>
¢availobilityTine value="20000101"/>
¢I-— €. 1,5 Date of Most Recent Information for This Repert —>
{refercnce typeCode="REFR™>
{document classCode="10C" maodCode="EVN">
¢cade code="2" codeSystem="2, 16, 840, 1, 113883. 3.989. 2. 1. 1. 27" displayNome="1iteratureReference”/?
titledJA 17, pd/title>
<l g8aJ2. 17 r BB /ERROAM 1 —
{text mediaType="application/pdf” representation="B64™>C. 4. r. 2¢/text>
¢l C.4.r. 2 Inciuded Dacuments i —>
<bibliopraphicDegignationText>C. 4. r. 1</bibliographicDesignationText>
¢l— C.4.r. 1! Literature Reference{s) #I —>
{participation typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
{representedOrganization ¢lassCode="0RG”™ determinerCode="INSTANCE™>
<asloentedEntity classCode="LOCE™
<location classCode="COUNTRY” determinerCode="TNSTANCE">
{code code="J2.15.r" codeSystem="1, 0, 3166. 1. 2.27/>
<1— @8RJ2.15. r AF:H #1 —>
{/location?
</aslocatedEntity>



¢fropresenteddrganizationd
<{/assignedEntity>
{/participation>
</dociment>
{/reference? .
<reference typeCode= REFR™>
<document classCode="DOCT meadCode="EVN™>
<code cade="2" codeSystem="2. 16, 840, 1. 113883, 3,589, 2, 1. 1. 27” displayName="literatureReference”/
<titlerJ2 17, r</title?
d— 888J2.17. r RE/HIROME £2 -
<texi mediaType="application/pdf” representation="B64">C. 4, r, 2{/text)>
<l=- C.4.r. 2! Included Documents #2 —>
<bibliographicDesignationText)C. 4. r. 1{/bibliographicDesignationText>
¢l— C, 4,1, 1: Litersture Refercnce(s) #2 —>
<participation typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
(representedOrganization classCode="0RG” determinerCode="INSTANCE™>
(asLocatedEntity classCode="LOCE™>
¢location classCode="COUNTRY” determinerCode="INSTANCE™>
Ceode codo="J2. 15, r" codeSystem="1, 0, 3166.1.2.27/>
(i geaJz, 15. r AXE #2 -
¢/location>
{faslocatedBntity>
</representedOrganization?
{/assignedEntityd
{/participation»
</daocument?>
<{/reference?
{component typeCode="COMP™>
<adverseEventAssessment classCode="INVSTG™ moodCode="EVN™>
(subjectl typeCode="SB]™>
{primoryRele classCode="INVSB]™>
<player]l classCode="PSN" determinerCode="INSTANCE™/>
{subjectOf] iypeCode="8B]">
{researchStudy ¢lassCode="CLNTRL” mocdCode="8VN™>
<id extension="C.5.3” root="2. 16.840.1. 113883.3.589.2.1.3.5" />
¢!=- C.5.3: Sponsor Study Number —> N
{code code="C.5.4" codeSystem="2, 16, 840, 1, 113883, 3.989,2.1, L. 87/>
{1 C.5.4: Study Type Where Reaction(z) / Event(s) ¥ere Observed —>
<title>C. 8, 24/title?
Y €, 5,20 Study Name —>
{autherization typeCode="AUTH™>
{studyRegistration clossCode="ACT™ moodCode="EVN™>
<id extension="C.5.1,r.17 root="2. 16.840. I. 113883, 3. 949, 2, 1. 3.6"/>
<J-- C.5.1.r. 1! Study Registration Nugber #1 —>
{author typeCode="AUT™>
{territorislAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY”™ determinerCode="INSTANCE™»
<cade code="C.5. L. r. 27 codeSystom="1. 0, 3166.1.2.27/>
{1~ (.5 1. r. 2! Study Registration Country #1 -->
{/gaverningPlaced
{/territorialAuthority>
</nuthor>
{/studyRegistration®
</outhorization>
{authorization typeCode="AUTH™>
<studyRegistration classCode="ACT™ mcodCode="EVN™>
¢id extension="C. 5, 1.r. 17 root="2. 16,840, 1, 113883, 3.989.2. 1. 3.6"/>
<1-— 0,5, 1,r, 1 Study Registration Kusher #2 —>
<author typeCode="AUT">
<territorislAuthority classCode="TERR™>
{zaverningPlace classCode="COUNTRY” doterminerCodes" INSTANCE™>
{code code="C,5.1.r.2"7 codeSysten="1.0. 3166.1.2.27/>
¢l £.5.1.1.2: Study Registration Country §2 -3
¢/poverningPiace>
{/territorialAuthoriiy>
(fauthor>
</studyRegistration?
{/autharization>
{/researchStudy>
</subjectOf1>
<sihject0f2 typeCode="SB]">
{organizer classCode="CATEGORY™ moedCode="EVN™>
¢code eode="4” codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 20" displayName="drugInformation”/>
¢lwe G,k Drug{s) Information {repeat as nccessary} HI —>
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{compenent typeCode="COMP™>
{substanceAdwinistration classCode="SBADN™ moodCode="EVN™>
¢id root="3c91bdd5~e039~4aTa~Be30-67671b0ef9ed" />
{consumable typeCode="CSM">
<instanceOfKind classCode="INST™>
<kindGfProduct ciassCode="MMAT™ determinerCode="KIND™>
<cade code="G.k. 2, 1, 1b" codeSystem="TBD-HPID"/>
1= G.k.2.1.1b: Medicinal Product Identifier (WPID} #1 —>
<name?G, k- 2, 2{/name’
{l— G.k.2.2: Medicinal Product Name as Reported by the Primary Source £1 ~>
{asManufacturedProduct classCode="MANU™
<subjectOf typeCode="SR]">
<approval classCode="CNTRGCT” moodCede="E¥N™>
<id extension="G. k. 3, 1" root="2. 16. 840. 1. 113883.3.989.2. £.3.4"/>
<t— G.k.3.1: Authorisation / Application Numbher #1 —>
¢author typeCode="AUT">
{territorialiuthority classCode="TERR™>
{territory classCode="NAT" determinerCode="INSFANCE™>
<code code="G.k 3. 2" codeSysten="1.0. 3166, 1, 2.27/>
¢le= G.% 3.2: Country of Authorisation / Application #1 —>
{/territory>
{/territorialAuthority>
</author>
<pertinentInformation typeCode="PERT™
{policy clossCode="FOLICY" moodCode="EVN™>
¢code code="J2.5.%" codeSystem="2.16. 840, 1. 113883.3.989.5, 1.3.2.1.47/>
A egeJ2. 5 k: —RAERRGOYAIENT #H
{/policy>
</pertinentInformationd
{/approval>
</subjectOf?
<CsubjectOf typeCode="SB]™>
{characteristic classCode="0B5" moodCode="FEVN™>
<code code="1" codeSystem="2. 16. B40. 1. 113883. 3.989. 5. 1.3. 2. 1. 107 displayName="FFIEESHBORIRES" />
<value xsi:type="CE” code="J2 4.k" codeSystem="2, 16, 840. 1. 113883, 3. 989.5. LA 2. L3°0
<I— €882 4.kt IERSFORRES B —
¢/charncteristic? :
/subject0f>
¢/asMunufncturedProduct>
{agSpeciniizedRing classCode="GEN™>
{genernlizediateriallind classCode="MAT" delerminerCode="KIND">
{coded
LoriginalTexs? ]2, 12¢</original Text>
<1— gaJ2, 12: IHMEARE -
foode?
</generalizediaterialKindy
</asSpocinlizedKind>
<ingredient clsssCode="ACTI™>
<ingredicntSubstance claszCode="MMAT"™ determinerCode="KIND™>
{eode code="G. k. 2. 3. r. 2" codeSysten="TBD-Substance”™/>
¢l—~ G,k 2.3, r, 2h: Substance / Specified Substance TermID #i~1 >
<namedG. k. 2. 3. r. 1{/namc>
¢l (. & 2 3. r.1: Subztance f Specified Substance None #1-1 —>
{/ingredientSubstance>
¢/ingredient>
<{ingredient classCode="ACTI™>
<ingredientSubztance classCode="MHAT" determinerCode="KIND">
<code code="G. k. 2. 3. 1. 2b” codeSystem="TBD-Substance™/>
<1-- G.k.2,3.r.2b: Substance / Specified Substance TermID #I-2 —>
<nake>G. k. 2. 3. r. F</nome>
<t— G.k.2.3.r.1: Substance / Specified Substance Name #i-2 —>
{/ingredientSubstance>
{/ingredient>
</kindOfProduct>
€subjectOf typeCode="SB]">
<cbservationfvent classCede="0BS™ moodCode="EYN™>
{code code="2" codeSystem="2. 16.840. I, 113883. 3.989.5.1.3. 2. 1. 10" displayName="—AYFREREL O AELER />
Cvalue xsi:type="CE” code="J2.6.k" codeSystem="2. 16, B40. I. 113883. 3, 9588.5.1.3.2. 1. 5"/
< gdfr2. 6.k —BRMERDLOATFER 1 —
</observationEvent>
{/subject0i>
</instanceQfKind>
{/constmablie’
</substanceAdministration>
< /component>



{/organizer>
{/subject0fZ>
¢subject0f2 typeCode="SBI">
Corganizer classCode="CATEGORY”™ moodCode="EVH™>
<eode code="1" codeSystem="2, 16, 840. 1. 113883. 3. 989. 5.1. 3.2, 1. 1}” displayNome="{iER08LH"/>
<component typeCode="COMP™>
{observation claszCode="0BS™ meodCode="EVN™>
<code code="7" codeSystem="2, 16, 840, 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10" displayName="iRHIEE"/>
<value xsiitype="INT™ value="17/>
Cl-- 888J2.13.r. 11 FRHUEIE #1 —>
{/vbservation>
{/component?
<component typeCode="COMP™>
<observation classCode="0B5" moodCode="EVN™>
{code code="8" codeSystem="Z. 16. 840. 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10" displayNome="%IRHEH"/
Svalue xsiitype="ED">J2, 13 r. 2¢/value>
— g88J2,13. r. 20 WEuEM B —
¢fobservation
{/component>
{casponent typeCode="COMP™>
{chservation classCode="0BS” moodCode="EVYN">
{cade code="9" codeSystem="2. 15. 840. 1. 113883. 3.985. 5, 1. 3. 2. 1. 0" displayName="[}ISeHI"/>
<vglue xsiitype="CE” code="J2.13.r.3" codeSystem="2. 16. 840, 1, 113883, 3.98%. 5. L.3.2.1.7°/>
<le- @88J2 13,1, 37 [A3RMA 81 —>
{/observation)
{/camponent>
{component typeCode="COMP™>
<observation ciassCode="0BS" moodCode="EYN™>
{code code="10" cadeSystem="2. 16. 840. §. 113883.3.989.5. 1. 3. 2. 1. 10" displayName="$3E P OIEM DGR,
<yalue xsiitype="BL” value="true™/>
<I— 288J2,13. r. 4: FWHPOEROTE 1 —
{/observation)
</conponent?
{forganizer>
</subjoctOf2y
<subject0f2 typeCode="SB]">
{arganizer classCode="CATEGORY” moodCode="EVN">
<eode code="1" codeSystem="2, 16, 840, L. F13883. 3. 86. 5. 1. 3. 2. 1. 117 displayNeme="fE¥RDET />
<compenent typeCode="COMP™>
{observation classCode="0BS” moodCede="EVN™>
{code code="1" codeSysiem="2. 16.540. [. 113883. 3. 989.5. 1. 3. 2. 1. 10" displayNome="/0 H[E1%L" />
Cvalue xsiitype="INT” value="1"/>
l-- B8872.13. 1 1t AEERY #2 —
{/observatien?
</component>
Ccomponent typeCode="COMP™>
{obszervation classCodes"0BS" moodCode="EVN™>
Ccode codex"8" codeSystem="2. 16. §40. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 107 gdisplayNome="x}8R M7/
{value xsi!type="ED">J2. 13.r. 2¢/value>
<1— 688J2. 12.1. 2 WHEERA #2 —
</ebscrvation>
</compenent>
{component typeCode="COMP™>
{chservation classCode="0BS” moodCode="EVN™>
{eade code="8" codeSystem="2, 16, 840, I, 113883, 3,680, 5. {. 3. 2. 1. 107 displayNowe="H{540"/>
<value xsi:type="CE" code="J2.13.r.3" codeSystem="2.16.840.1. 113683.3.989.5.1.3. 2. ..7°/>
<1~ GRBJ2 13.1.3: RRRIR 42 —
{/observation>
{/eomponent>
Ccemponent typeCode="COMP>
{observation clazsCode="0BS™ moodCode="EVN™>
<code code="10" codeSyaton="2. [6. 840, [, F13883. 3. 980.5, 1. 3. 2. 1. 107 displayName="{FEE P OIEF O E" S
Cvalue xsittypes™BL” value="false”™/>
1— gd8J2. 13. r. 4t HIEPFOEHOAR #2 >
{/observation>
{/component>
{/organizer>
{/sub ject0f2>
¢/primaryloled
</subjectl>
<component]l typeCode="COMP™>
{chservationEvent classCode="0BS” moodCode="EYN™)
{eode codes”}0” codeSystem="2, 16, 840, 1, 113883, 3, 985, 2. 1. 1. 19" displayNome="comment”/>
{vaive xsi:type="ED"DH. 4</value>
<!— H.4: Sender's Comments —>



<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
<code code="1" codeSysten="2, 16, 840. 1. 113883, 3,989, 2, 1, 1, 217 displayName="scnder”/>
<{/aszignedEntity>
</auther>
{/observationEvent?
¢/componentl>
{compenentl typeCede="COMP™>
{obsoervationEvent ciassCode="005" moodfodes"EVN™>
<code code="3" codeSystem="2.16.840. 1. 113883. 3, 989.5. 1. 3. 2. 1, 107 displayName="RETIZHFT S A M7
<value xsiitype="ED">J2, 7. 2{/value>
<= @88J2. 7.2 RETEFTHIAL | ~
{fobgarvationEvent>
{/component1>
<component] typeCode="COMP">
Sobzervationivent classCode="0B3" moodCode="EYN">
<code code="5" codeSystem="2. 6. 840. 1. 113883. 3. 989. 5. 1,3, 2. 1. 10" displayNome="4 1% " />
<value xsiitype="ED">J2. 10</value>
1 ga8J2. 101 SHoRE —
{/observationEvent>
{/component1>
{component] typeCode="COMP">
{observationEvent classCode="OBS” moodCode="EVN™>
{code code="6" codeSystem="2.16. 840, [. 113883. 3.989. 5. 1.3. 2. L. 107 displayNome="% O {iR&3WIE"/>
<value xsi:type="ED">J2, 11¢/value>
<1—- geas2. 11: ToMBSIHIHNE —
{/observationEvent>
{/componentl>
{componentl typeCode="COMP™>
{ohservationBveat classCode="0BS" roodCode="EVN">
<code code="12" codeSystem="2, 16, 840, 1, 113883, 3, 989.5. 1. 3. 2. 1. 10" displayName="{RIERF DA/,
<value xsi:typex BD7>J2. 16¢/value>
<l 98I2. 16: FRFMBOBE —>
{/observationEvent)>
{/componentld
<fadverscEventAssessment)
{/component>
<component typeCode="COMP™>
<observationBvent ¢lassCode OBS” moodCode="EVN™>
¢code code="23" codeSysten="2. 16, 840, 1. 1E3883. 3. 989, 2. 1. |, 197 displayNswez"tocalCriteriaForExpadited™/>
<value xsi:type="BL™ value="true™/>
¢le— €. 1.7: Does This Case Fulfil the Leeal Criteria fer an Expedited Report? -—»
¢/ehservationfvent?
</component>
<ocutboundRelationship typeCode="SPRT™>
<relatedInvestigotion classCode="INVSTG™ moodCode="EVN™>
{code code=”1” codeSystem="2.16. 840, 1. 113883, 3. 989. 2. 2. 1, 227 displayName="initialReport™/>
<subjoct0f2 typeCode="SUBJ™>
{eontrolActEvent classCode="CACT™ moodCode="EVYN">
<author typeCode="AUT™>
CassignedEntity classCode="ASSIGNED™>
Ceode code="C. 1. 8.2" codeSystem="2, 16, 840, 1. 113883.3.589.2. 1. 1.3"/>
¢l— C. 1.8 2: First Sender of This Case —>
</assignedEntity>
</author>
{/controiActEvent>
{/faubject0f2>
{/relatedInvestigation>
{/outhoundRelationship>
<outboundRelationship typeCode="SPRT™>
<relatedInvestigation classCode="INVSTG” meodCode="EVHN™>
Ccode nullFlavor="NA"/>
CsubjectOfZ typeCode="SUR]">
CeontrolictEvent classCode="CACT” moadCode="EVN™>
¢id extension="C.1.10.r" root="2.16.840. 1. 113883. 3.989.2.1.3.27/>
¢l €.1.10.r: ITdentification Number of the Repert Which Is Linked to This Repori (repest as necessary} #1 —>
¢/controlActBvent>
</subject0f2>
</relatedInvestigation’
{foutboundRelationship>
<outboundRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG™ moodCode="EVN™>
<code nullFiavor="NA"/>
<subject0f?2 typeCode="SUB]™>
{controlActEvent classCode="CACT" moodCode="EVN™>



<id extension="C. 1. 10.r" root="2. 16. 840. 1. 113883. 3. 989.2.1.3.2°/>
¢l— C.1.10.r: Identification Number of the Repart ¥hich Is linked to thiz Report (repeat as necessary) 2 —
{/controihctEvent>
</subject0f2>
{/relatedInvestigation>
</outboundRelationship?
<subjeetdf] typeCode="SURT™>
{controlActEvent classCode="CACT” mocdCode="EVN™>
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
<addr’>
<stroetiddresslineC. 3. 4. 1<{/streetAddressLined
(le= €,3.4.1: Sender's Street Address -->
Ccity>C. 3.4, 2¢/city>
<l— €.3. 4.2 Sender' s City —>
{statedC, 3, 4, 3{/state
{}+~ C.3.4.3: Sender’s State or Province —»
{faddr>
<assignedPerson classCode="PSN” determinerCode="INSTANCE™>
{name>
<prefixdC. 3. 3. 2¢/prefix>
(I €.3.3.2: Sonder's Title —>
{pivendC, 3. 3. 3¢/given>
¢I-= €. 3.3.3: Sender’ = Given Name ~>
<givenC. 3. 3. 41¢/given>
1=~ C.3.3.4: Sender’ = Middle Nome —>
<family>C, 3, 3, 5</Family}
¢4~ £ 3.3.5: Sender’ s Family Name «>
¢/name>
{asLocatedEntity elassCode="LOCE™
{location classCode="COUNTRY™ determinerCode="INSTANCE™
<code cade="C.3.4.5" codeSysten="L. 0. 3166.1.2.27/>
€1— C 3.4.5: Sender”s Country Code ——>
{/location>
{/aslocatedEntity>
{/assignedPerson> .
{representedOrganization classCode="0RG™ determinerCodex"INSTANCE™>
<name>C, 3. 2¢/named>
<l— C.3.2: Sendexr’ s Organisation —>
{/representedOrganization)
<{/assignedEntity>
<{fauther>
¢/controlActBivent)
¢/subject0f1>
{subjectOfl typeCode="SUB]">
<controlActEvent classCode="CACT” moodCode="EVN™>

<id assigringhuthorityNome="C, 1.9.1,1.17 extension="C, 1. 9. L. r. 27 root="2, 16, 840. 1. 113883, 3. 989, 2. 1.3. 3"/
<1— C.1.9. L.r. 1: Source(s) of the Case Identifier (repeat as necessary} #1 =3
= €. 1.9 1.r.2 Case Identifiex(s) §1 —>
{/controiictivent>
{/subjectdf1>

<subject0f]! typcCode="SUB] >
CeontrolActEvent classCode="CACT” moodCode="EVN™>
<id assigningiuthorityNeme="C. 1. 9. 1.1. 17 extension="C. 1. 9.1.r. 2" root="2. 16, B40. I. 113883, 3. 08%. 2. L. 3. 37/>
€¢l=-=- C.1.9.1.r. k: Source{s) of the Case Identifier (repeat as necessary) #2 ——»
¢l €.1.9.1.1. 2 Case Identifier(s} #2 —>
{/controlActEvent?
{/subjecl0f1>
{subject0f2 typeCode="SUBI™>
{investigationCharacteristic ciassCode="0B5" moodCode="EVN">
{code code="1" codeSysiem="2.16. 840. L, 113883, 3. 989, 2. [, 1. 23" displayName="ichRleportType”/>
<value xsiitype="CE” code="C, 1.3 codeSystem="2. [4, 540, 1. 113883, 3. 989. 2. 1. 1. 27 />
<l £. 1.3 Type of Report «>
{/investigationCharacteristic>
</subjectGi2>
{subjectOf? typeCode="SUB}">
{investigationCharacteristic classCode="0B5" moodCode="EVR")>
<code code="2" codeSystem="2. 16, 840, 1, 113883, 3, 689, 2, 1, 1, 237 displayName="otherCagcids”/>
¢value xsiitype="BL” value="true”/>
<l C. 1.9.1 Other Case Identifiers in Previous Transmissions —»
</investigationCharacteristic>
{/subjectOf2>
<subject0f2 typeCode="SUBJ™>
<investigationCharacieristic ciassCode="0BS" moodCode="EVN™>
{code code="3" codeSystem="2, 16. 840. I. 113883. 3. 989. 2. 1. 1. 23" displayName="nullificationAmendmentCode”/>
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{value xsi:type="CE" code="C. 1117 codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1.57/>
1-- C. 1, 11 k7 Report Nullification / Amendment —->
{/investigationCharacteristic?
{/sub jectI2>
Csub ject0f2 typeCode="SUB]">
LinvestigationCharacteristic classCode="0BS” moodCades”E¥YN™>
(eede cade="4” codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 237 displayName="nullificationAmendmentReason™/>
<value xsiitype="CE™»
<originaiText»C. k11, 2</originalText>
¢!— ¢.1,11.2: Reasen for Nullification / Amendment ~—>
¢/valued
{/investigationCharacteristic>
{/5ubjectf2>
{subject0f2 LypeCode="SUBJ]">
{investigationCharacteristic classCode="088" moundCode="EVN">
¢code code="1" codeSysten="2. 16, 840. §. £13883, 3,889, 5,1, 3,2, 1, 127 displayName="BNEH (R&EHHD "/,
<vnlue xsiitype="CE" code="J2, [a” codeSystem="2. FG. 840, 1. 113883.3.989. 5. 1. 3.2.1.1"/>
- 84312, 1a BRVHRES (BESE
{/investigationCharacteristic>
{/sub ject0f2>
<subject0f2 typeCode="SUB]">
<investigationCharacteristic classCode="0BS" moodCode="EVN">»
<code code="2" codeSysten="2. 16, 840, 1, 113883, 3.989.5, 1,3, 2. 1. 127 disploylame="{ R BN
{value xs5iitype="T5" valuec="201301077/>
<=~ B60J2.2.1: MBFERA —
{/investigationCharacteristic>
{/subject0f2>
¢subject0f2 typeCede="SUBJ™>
{investigationCharacteristic classCode="0BS" maodCode="EVN">
{cade code="3" codeSystcm="2.16.840. 1. 1138835, 3.989.5. 1. 4. 2. 1. 127 disployName="{R4IX AILWT B A+
<value xsiltype="ED">J2.2, 2¢/valued
<1— gseJe. 2.2 MEERBERETIIAYE
{/investigaticenCharacteristic>
{/subjectOf2>
¢/investigationEvent>
{/subject>
{/controlActProcess?
</PORR_INO4GO16UV>
{l— Message BI —>
I+~ Message #2 >
{1-— PORR_INO49016UV —>
{1~ /PORR_INOAODI6UY >
$l-~ Message #2 —>
{teceiver typeCode="RCV":
<device classCode="DEY” determinerCode="INSTANCE™>
{id extension="¥ 1.4" root="2.16. 840, 1, 1£3883,3.989.2. 1.3, 147/>
€]— N, 1.4: Batch Receiver Edentifier -«
{/device>
</receivery
{sender typeCade="SND™>
{device classCode="DEV" determincrCode="INSTANCE™>
<id extension="H. 1. 3" root="2. 16.840. 1. 113883, 3,689.2.1.3. 13"/
<!-- N.1.3: Batch Sender Identifier —>
{/device>
</sender>
</HCCI_IN200100UVOE>



XMLEBRRA A H A (S ERERS)

<Txml version="1.0" encoding="UTF-§"7>
CUCCT_TN2001000V0E I1TSVersion="YML_1. 0" xsi:schemalocation="urn:hl7-org:vd MCCI_IN20G100UVOL, xsd” xelns="urn:hl7-org:v3" xmlns:xsi="http://www, %2, org/
2001/ XML Schema-instance™>
<id extension="N.1.2" root="2, 16.840. 1. 113883.3.988. 2, 1,3, 22"/>
£lwm N.1.2: Batch Number —3
{creationTime value="201012141516177/>
¢<l— N, 1.5: Date of Batch Transmission —>
{responselodeCode cade="D"/>
{interactionId extension="MCCI_IN20GI00UYOL™ root="2, 16, 840, 1. 113883, 1.67/>
<name code="N. 1. 17 codeSystem="2, 16. 840, 1. 113883,3,989.2. 1. 1. 17/>
¢l N.1.1: Type of Wessages in Batch ——>
{l— Hessage §1 >
<{PORR_INO4S016UV>
<id extension="§.Z.r. 17 root="2. 16,840, ], 113883, 3.989. 2. 1.3. 1" />
b= N.2.r. 11 Message Identifier —>
{creationTime value="201012141516177/>
£}~ N.2.1r.4: Date of Uessage Creation —>
<interactionId extensicn="PORR_IND49018UV” root="2. 16. B40. 1. 113883. 1.6"/>
{processingCode code="P"/>
{processingtodeCode code="T"/3
<aceeptAckCode code="AL"/>
<receiver typeCode="RCV™>
¢dnvies classCode="DEV" determinerCode="INSTANCE™>
¢id extension="N, 2.r.3" root="2 16. 840, 1. [1388%. 3,689, 2, 1.3, 127>
I N 2.1r.3: Hessoge Heceiver Tdentifier —>
fdevieed
</receivery
¢sender typeCede="SKD">
<deviee classCode="DEV™ determinerCode=" INSTANCE™>
<id extension="N.2Z.r.2" root="2 16.840. 1. 113883.3.680.2.1.3.117/>
¢lw= N.2.1r.2: Message Sender ldentifier —»
/device?
{/sender?
CcontrolActProcess classCodes"CACT ™ macdCode="EVN™>
{code code="PORR_TEGSQ0ESUV™ codeSystem="2. 16. 840, 1. 113583, 1. 18"/>
<I— IIL7 Trigger Event ID —>
{effectiveTime value="201012141516177/>
<!— € 1,2: Date ef Creation ——>
<sub ject typeCode="SHBJ} >
<investigationEvent classCode="TNVSTG" moodCede="SVN">
¢id extension="C. 1. 1" root="2, 16, 840, 1, 113883. 3.989. 2. 1.3. 17/>
(t— €, 1,1: Sender’s {case) Safeiy Report Unique Identifier —>
<id extension="C.1.8. 1" root="2.16.840. 1. 113883.3.680.2.1.3.2"/>
<l— €. 1.8 1! Forldwide Uninue Case Identification Number —>
{id extension="J2, 1b” root="2, 16, 840. 1. 113863. 3. 986.5. 1.3.2.3. i" />
l— gadJz. 1b: ERFES (HFHF) >
<code cade="PAT_ADV_EVNI™ codeSysterm="2. 16, 840, 1, 113883, 5.4/
Ctextl 14/ text?
¢I— 1. 1: Case Narrative Including Clinica! Course, Therapeutic Meazures, Qutcome and Additienal Relevant Informatien -2
{statusCode code="sctive™/>
l— egajz. 7.1 T, RRTER >
<effectiveTime)
<lor value="200901017/>
== C.I.4: Date Report Was First Received from Source —>
</effectiveTime?
<availabitityTine value="200961017/>
<i— £, 1.5 Date of Most Recent Information for This Report —>
<reference typeCode="REFR™>
{document clazsCode="D0C" moodCode="EYN™>
<code code="2" codeSystem="2, 16,840, 1, 113883.3.689. 2. 1, 1. 27" disployHome="literaturcReferance”/>
<text mediaType="application/pdf” representation="B647>C. 4. r. 2{/text>
<!{=—— C.4.r.2: Included Documents §1 ~>
<bibliographicbesignationText>C. 4. r. 1</bibliographicDesignationText>
{I— €. 4.r. It Litersture Reference(s) #1 >
{participation typeCode="AUT">
{assignedEntity classCode="ASSIGNED >
{represented0rganization classCode="ORG" determinerCode="TNSTANCE™>
CasLocatedBntity classCode="LOCE™
{locaticn classCode="COUNTRY™ determinerCode=" INSTANCE™
<code code="J2.15. 1" codeSystewm="1.0. 3166.1.2.2"/>
<I-- B88J2. 15. r ZNEE 8 -
</location?
{/asbocatedBntity>
</representedOrganization>
{/aszignedEntity>



{/participationd
{/docunent>
{/reference?
Creference typeCode="REFR™>
<document ¢lassCode="DOC” moodCode="EVN™>

¢code code="2" codeSystem="2. 16. 840. L. 113883, 3,989, 2. 1. 1. 27" displayName="1iteratureReference”/>
{text mediaType="application/pdf” representation="B647>C.4.r.2{/text)

¢1— C.4.r.2: Included Documents H2 >

<bibliographicDesignationText>C. 4. r. 1</bibliographicDesignationText>

¢l-- €. 4.1, 1: Literature Reference{s} #2 —>
{participation typeCode="AUT™>
<assignedBntity clnssCode="ASSIGNED”>

(representedOrganization classCode="0RG™ determinerCode="INSTANCE™>

CasLocatedEntity claseCode="LOCE™>

<lacation ¢lassCode="COUNTRY” determinerCode="INSTANCE™>
¢eode code="J2. 15. " codeSystem="1. 0. 3166, 1, 2, 27/>

e GRAJZ. 15, r AFE #2 —>
¢/locationd
¢/asLocatedEntity>
¢/representedOrganization?
¢/assignedEntity>
</participation?
{/document>
{/reference?
{component typeCode="COMP™>
{adverseBventAssessment classCode="INVSTG™ moodCode="EVN™>
<subjectl typeCode="SB]">
¢primaryRole classCode="INVSB}™>
{playerl classCode="PSN” determincerCode="INSTANCE"/>
<subjectOf1 typeCode="S8]">
¢rosearchStudy classCode="CLNTRL” moodCode="EVN">

¢id extension="C.5.3" root="2. 16, 840. 1, 113883, 3,589,2 1.3.5"/>

¢lww C.5. 3: Sponsor Study Number —>

{code code="C.5. 4" codeSysten="2, 16, 840. §. 113883.3.989,2. 1. 1. 8"
¢<l— .6 4: Study Type Where Reaction(s) / Event(s} Were Dbserved -—>

<titledC. 5. 2¢/1itler
¢l— C.5.2: Study Hame —>
Cauthorization typeCode="AUTH™>

{studyRegistration classCode="ACT" moodCode="EVN">
<id extensicen="C. 5 L. r. 1" root="2, 16, BAD. 1. 113883, 3. 989. 2. 1. 5.67/>
¢i— (.5, 5. r. 1t Study Registration Number H1 ——>

Canthor typeCode="AUT >
SterritorialAuthority classCode="TERR™>

<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
Ceode code="C.5,1,r. 27 codeSystem="1, (. 3166. 1, 2, 2°/>
e €5 Lr. 20 Study Registration Country 31 —>

</governingFlace>
{/territerialAutherity>
{/authar>
<{/studyRegistration>
</authorization?
<authorization typeCodes AUTH™>

{studyRegistration classCode="ACT” moodCode="EVN™>
¢id extension="C 5. L r. 1" reot="2, 16, 840. 1. 113883.3.980. 2. 1.3.67/»
¢l—- €.5, 1. r. 1 Study Registration Number #2 —>

{author typeCode="AUT™>
<territorialAuthority elassCode="TERR™>

(governingPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<code cade="C.5, 1.1, 2" codeSystem="1.0.3166.1.2.27/>
<l— €, 5 1. r.2: Study Registration Country #2 —>

<{/governingPlace>
</territorialauthority?
£/auther>
</studyRegistration>
{/authorization>
{/researchStudy>
/subjectOf1>
<gabject0f2 typeCode="SB]™>
{ovganizer classCode="CATEGORY" moodCode="EVN™>

<eade code="4" codeSystem="2, 16, 840, 1. 113883, 3, 989. 2. 1.1. 20" displayName="drugInformation™/>
¢<]— G.k Drug(s) Information (repeat as necessary) #1 —>

<component typeCode="COMP™>

<substanceddministration classCode="SBADM" moodCode="EVN™>
¢id root="3c81bdd5-c039-4aTa~9¢30-6767 1b0efIed ™ />

{consumable typeCode="CSH">



{instanceOfKind classCode="INST™)
<kindOfProduct classCodes MMAT™ determinerCode="KIND™>
{code code="G.k. 2. I.1b" codeSystem="TBD-MPID"/>
<Im- G. % 2. 1. 1b: Medicinal Product Identifier QIPID) #1 —>
Cname?G, k. 2. 2¢/name>
¢l G.k.2.2: Hedicinal Product Nawe as Reported by the Primary Source #l —>
<agManufacturedProduct elazsCode="MANY™>
<subjectOf typeCode="SB]">
<approval classCode="CNTRCT™ moodCode="EVN™>
¢id extension="G. k. 3. 1" root="2. 16.840. 1. 113883, 3,080, 2, 1. 3. 47 />
(lww Gk, 3, 13 Authorisation / Application Number HE =->
{author typeCode="AUT">
(territorialAutherity clagsCoede="TERR™>
<territory classCode="NAT determinerCode="INSTANCE™>
{code code="G, k. 3,27 codeSystem="1, 0. 3166.1,2,27/>
¢l— G. % 3.2: Country of Autherisation / Application #1I —>
{/territory>
{/territorialAutharity>
{/author>
<pertinentInformation typeCode="PERT™>
<poiicy classCode="POLICY" moodCode="EVN™>
<code codew"J2.5.k" codeSysten="2. 16. B40. 1. 113883.3.980.5. 1. 3.2. 1.47/>
<l— gegJz. 5.k —MMERKGOYALERT 41 —
{/policy>
</pertinentInformation)
</appraval»
</subject0f>
<subjectOf typeCode="SB]">
Ccharacteristic classCode="0R5" moodfode="EVH™>
<code code="1" codeSystems™2, 16. 840. [, F13883. 3. 689.5, 1. 3.2, 1. 10" disployNome="HERLHTORIRELS ",
<value xsittype="CE” code="}2.4.k™ codeSystem="2. [6. 840. 1. 113883. 3. 689.5.1,3.2.1.37/>
I @6RJ2. 4. k: IFEBRGOPWRES 81 —
{/characteristic>
</subjectOf>
{/asMonufacturedfroducty
<asSpeciaiizedKind classCodo="GEN">
{generalizediaterialKind clossCode="WAT™ determinerCode="KIND™>
{code?
{eriginalText>]J2. 12{/originalText>
< eesz 12t mBRARE —
</cade>
¢fgencralizediaterialXind>
{/asSpecinlizedKind>
{ingredient ciassCode="ACTI":
<ingredientSubstance classCode="3MAT” determinerCode="KIKD™)>
<code code="G. k. 2.3.r. 25" codeSysten="TED-Subztance”™/>
<l— G.k.2.3.r.2b: Substance / Specified Substance TermID #1-1 —>
<namedG, k. 2, 3, r, 1</nane>
¢l-- G.k.2.3.r.1: Substance / Specified Substance Name #l-[ ~>
</ingredientSubstancey
{/ingredioni>
{ingredient classCode="ACTI™»
<ingredientSubstance classCode="WYAT” determinerCede="KIND™>
<eode vode="G k. 2. 3. r. 2b" codeSysiem="TBD-Substance” />
<I— 6.k 2, 3. r.2b7 Substance / Specified Substance TernID #1-2 ~->
<namedG. k2.5, k. 1</name>
<l— G k.2.3.r.1: Substance / Specified Substance Hame #1-2 >
</ingredientSubsiance?
{fingredient)
</kindGfProduct¥
<subjectOf typeCode="SB]">
{observationEvent classCode="0BS™ moodCode="EVN™>
<code code="2" codeSysten="2. 16, 840, 1. 113883, 3.989.5. 1. 3. 2. 1. 10" displayName="—A¥MER BN AFEEB"/H
Cvalue xsiitype="CE” code="J2.6. k" codeSysten="2, 16, 840, 1. 113883, 3,989.5,1.3. 2. L.5°/>
d— e38J2.6. k: —RAERKBOAFEEN #t >
{/obzervationfventd
{/subjectDid
</instanceOfKind>
{/consumable>
{/substanceAdministration>
{/component?
¢/organizoer
</subject0f2>
{subjectDf2 typeCode="SB]"»
{organizer classCode="CATEGORY” moodCode="EVN™>



{code code="1" codeSystem="2. 16. B40. 1. 113863, 2. 989. 5, 1. 3. 2. 1. 117 displayName="1ZRODAEH"/>
{component typeCode="COMF™>
{observation claseCode="0BS" moedCode="EVN™>
{code code="7" codeSystem="2, 16, 840, 1. 113883. 3. 988. 5. 1. 3. 2. L. K" displayNome="JBHiEIEL"/>
<value xsiitype="INT™ value="1"/>
¢l-- g4z, 13.r. 1t SRHIEN 1 —
{/observation>
{/camponent?
{component typeCodes COMP™>
{abservation classCode="0BS" moodCode="EVN™>
{code code="§" codeSystem="2, |6, 340, 1, 113883. 3. 989, 5. 1. 3. 2. 1. 10™ displayName="%tSRM"/>
<value xsi:type="ED"»J2. 13. r. 2{/value>
<l-- 63072, 13. 1. 2: FIRUEM #1 —
{/ohservation?
</componenty
{compenent typelode="COMP™>
{ohservation classCode="0BS" moodCode="EVN">
{code code="9" codeSystem="2, 16,840, 1, 113883. 3, 989. 5. 1.3.2. 1. 107 displayNawe="JE541"/>
{value xsi:type="CE” code="]2.13.1.3" codeSystem="2. 16,840, 1. 113883,3.980.5.1.3.2. L.7°/>
¢l-- §8272.13.1.3: HFIE #1 —
¢/observation>
</compancnt?
<component typeCode="COMP™>
{observation classCode="085" moodCode="EVN™>
{code code="10" codeSystom="2. k6. 840, }, 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="{} 3P OfER O IE"/>
¢value xsiitype="BL" value="true”/>
(- @882 13. 1. 47 AP OEBIOATE #1 —>
{/abservation?
</component>
</organizer>

</sub jectOf2>

{aubjectBf2 typeCode="58]">
<organizer classCode="CATEGORY” moodCode="EVN™>
Ccode code="1" codeSysten="2. 16, 840, 1, 113883, 3. 989. 5. 1. 3. 2. 1. 11”7 displayName="{RERO45"/>
{eomponent typeCode="COMF™>
{observation classCode="0BS" mocdCode="EVN">
¢eode code="T" codeSystem="2. 16, 840, I, 113883, 3, 989.5. 1. 3. 2. 1. 10" displayName="FR iHHEIZ" />
Cynlue xsiitype="INT” value="17/>
¢t g89J2. i3.r. 1 FEIHMEH #2 —
{/observationd
</fcomponent >
¢eamponent typeCode="COUP™>
{observation ¢lassCode="DBS" moodCode="EVN™>
<code code="8" codeSysten="2. 16, 840, 1, 113883, 3,989, 5. 1. 3. 2. 1. 10” displayName="SFURM"/>
Lvaluye xeiitypes"ED"»J2. 13, ¢, 2{/valuc>
<I— BRAJ2. B r 2 HEGEME M2 —
</chservation?
</compenent?
<component typeCodes”COMP™>
{observation classCode="0BS™ moodCode="EVN™>
{code code="9" codeSysten="2.16.840, 1, 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayNane="[5850"/>

Svalue xsiitypen"CE™ code="J2.13.r. 3" codeSystem="2, 16, 840. 1. 113683, 3, 989.5,1.3. 2, 1,77/
<I— 8872, 13.r. 37 PR 2 —
{/chservation
</conponent>

<eomponent typeCode="COMP™>
<observation classCode="0BS" moodCade="EVN™>
¢code code="10" codeSystem="2, 16,840, 1. 113883, 2,988, 5, 1,3, 2. L. 10” displayNowe="RIE P OERDHE" /-
<value xsiitype="BL" value="false”/>
<I— @geJ2. 13, r. 4 RBPOEROEE 82 —
{/observation)
</component’
{/organizer?

</gubject0f2>
{/primaryRele>
{/subjecti>
{componentl typeCade="COMP™>
LobservaticnEvent classCode="0B5S” moodCode="EVN™>

{onde code="10" codeSystem="2. 16. B40. 1. 113883, 5.989. 2. 1. L. 19" displayName="comment”™/>
{value xsi:type="ED"2H. 4¢/value>

KI-- . 4: Sender's Comments —-—>

¢authar typeCode="AUT™>
{assignedEntity classCode="ASSIGNED )

(eode code="1" codeSystem="2. 16. 840, 1. 113883, 3, 989, 2. 1. 1. 21° displayName="sender”/>
{/nssignedEntity>



{fauthor>
{/observationEvent>
(/component 1>
Ccomponent]l typeCode="COMP™>
{ohservationfvent classCode="OBS” mcodCode="EVN™>
Ccode code="3" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10”7 displayName="RETICH T Ha A b 0
{value xgiltype="ED">J2. 7. 2¢/valued
<I-- B88J2.7. 20 RETERTHAAXEF —
¢/observationEvent)>
{/companenti>
Ceomponentl typeCode="COMP™>
{observationBvent classCode="0B5" moodCode="EVN™>
<gode code="5" codeSysten="2. 16. 840, 1, [13883, 3,989, 5,1, 3,2, 1, 107 displayName="4{ DS/
<yalue xsiitype="EBR7>J2. 10</valued
<l— @88J2.10: SHORIE —>
{/chservationEvent?
¢/componentl?
<gonponentl typeCode="COMP™>
<observationEvent classCode="0BS" mocdCode="EVN™>
{code code="6" codeSystems”2, 16, B40. |, 113883, 3, 988, 5. 1. 3, 2. 1. 10”7 displayNome=" T i3IS
<value xsiitypes"EDTDJ2. F1</value>
¢f—- £88J2. 11: T OMEIIWIHG >
<{/observationBvent>
¢/component1}
¢compenent] typeCode="COMP™>
{observationEvent clsssCode="0BS" moodCode="EVN™>
{code code="12" codeSystem="2, 16. B40, 1. 113883, 3. 989, 5, 1. 3. 2. 1, 10" displayName="SEAZEOEL"/,
Cvalue xsi:type="ED">J2. 16¢/value>
- @83J2. 16 MERFORER —>
</ehservationfvent>
{/component iy
{/adverseEventAssessment?
</vopponenty
{component typeCode="COMP™>
{ohservationEvent classCade="0BS” moodCode="EVH™>
{code code="23" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 19” displayNome="locaiCriterioForExpedited” />
Cvalue xsittype="BL™ value="true”/>
{1-- €, 1,7: Does This Cese Fulfil the Local Criteria for an Expedited Report? —>
{fobservationEvent>
</compaonent>
<outboundRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG™ moodCode="EVN™>
{code code="1" codeSystom="2. 16. 840. 1. 113883, 3. 989, 2,1, 1, 227 displayName="initinllteport™/>
{subjectOf2 typeCode="5UBJ">
<controlActEvont classCode="CACT” moodCode="EV¥N">
{auther typeCade="AUT™>
<assignedEntity classCode="ASSIGNED™>
{code code="C. 1.8.27 codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 3"/>
<I— .1,8.2: First Sender of This Cage >
{/nssignedEntity>
</authory
{feontrotActEventd
</zubjectOf2>
{/relatedInvestigation?
</outboundRelationship>
LautbourdRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG” moodCode="EVN™>
<code nullFlaver="NA®/>
<subject0f? typeCado="SUBJ">
{centrolActEvent c¢lassCode="CACT™ moodCodo="EVN™>
{id extension="C. 5 10, r” root="2, 16, 840. 1. 113883.3.9480.2. L.3. 2"/
<[~ £.1.10.r: Identification Number of the Report ¥hich Is Linked to Thiz Report (repest ns necessary)
¢/controlictEvent?
{/subject(f2>
{/relutedInvestigation®
¢/outboundRelationship>
<outhoundRelationship typeCode="SPRT™>
{reiatedinvestigation classCode="INVSTG" moodCade="EVN">
¢code nullFlavor="NA"/>
{subjectOf2 typeCode="SUBI">
(controifctEvent classCode="CACT” moodCode="EYN">
{id extension®"C. 1. 10. 1™ root="2, 16, 840, 1, 113883, 3. 980. 2. 1. 3. 2°/>
<l-- C.1.10.r: Identification Number of the Report Fhich Is Linked to this Report (repeat as necessary)
{/centrolActBvent>
</aubject0f2>

#1 —>

w2 —



{/relatedInvestigation>
{/outboundRelationship>
{subjectdfl typeCode="SUB}">
{controiActEvent classCode="CACT" moodCode="EVN">
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
{addr>
{streetAddressLine>C. 3. 4. 1{/streetAddresslines
¢l— ¢.3.4.1: Sender's Strect Address —>
Leity»C. 3, 4. 2/ /city>
&lw= C.3.4.2: Sender’ s City ~—=>
{state>C. 3. 4, 3{/stated
¢l— €. 3.4.3: Sender' s State or Province ~—>
</nddr>
{assignedPerson classCode="PSN" determinerCode="INSTANCE™
<{name>
<prefixdC. 3. 3. 2¢/prefix>
i~ C.3.3.2: Sender' s Title —>
{given>C. 3. 3, 3¢/ piven)
¢}~ C,3.3.2: Sender's Given Name -->
<given>C. 3. 3, 4</given>
<l— C.3.3.4: Sender’s Middle Name —>
<family>C. 3. 3. 5</family>
(]— (. 3.3,.5: Sender’ s Family Nome ~->
</name>
{astocatedintity classCode="LOCE">
{location ¢lassCode="COUNTRY™ determinerCode="INSTANCE™>
<eade code="C, 3.4, 5" codeSystem="1.0.3166.1.2.27/>
{le= (,3,4,5: Sender’' s Country Code —>
£{/location>
</aslocatedEntity>
{/assignedPerson>
<representedOrganization classCode="ORG™ determinerCode="INSTANCE™>
<nane>C. 3. 2¢/name>
¢l— C.3.2: Sender’s Organisation —>
</representedQrganization?
</assignedEntity>
</author>
{/contralActEvent>
{faubjectBf1>
¢zubjectOf] typeCode="SUBJ™>
CcontrolActEvent classCode="CACT™ moodCode="EVH™>
<id assigningAtthorityName="C, 1.9, 1, r. 17 extension="C. 1.9. 1. r. 27 root="2. i6. 840. 1, £13883, 3.989.2.1,3.37/>
<J— €. 1,9, L r 1: Source(s) of the Case Identifier (repeat as necessary) #1 —>
¢I=- C.1.8. L. r.2 Case Identifier(s) #1 —>
{/controlictEvent’
{/subjectdf 1>
<subject0fl typeCade="SUB]">
<controlActEvent classCode="CACT” moodCode="EVN™>
<id sssigningAuthorityName="C. 1. 9,1, r, 1" extension="C. }. 9. 1. r. 2" root="2. 16. 840. 1. 113883, 3. 98%. 2. 1.3, 37/>
¢l== €.1,8.1.r.1: Source(s) of the Case ldentifier (repeat as necessary) #2 —>
<l-- €.1.9. 1. 1.2 Case Identifier(s) #2 —>
¢/contrelhctBvent>
</subjectdiL>
<subjectF2 typeCode="SUBJ™> .
{investigationCharacteristic classCode="0BS" moodCode="EVN"
{code code="1" codeSystem="2. [6, 840, 1. 113883. 3, 989, 2, 1, 1. 23" displayName="ichReportType™/>
<value xsiilype="CE” code="C.I.3” codeSysten="2. 16, 840, 1. 113883. 3. 989. 2. L. 1. 2"/>
¢lw~ C_ 1.3 Type of Report —>
{/investigationCharacteristic?
{/subject0f2>
<subjret0f? typeCodes="SUB]™>
{investigationCharacteristic classCode="0BS" moodCode="EVN">
<code code="2" codeSystem="2. 16, 840, 1, 113883, 3, 989, 2, 1, 1, 23" displayName="atherCaselds™/>
Cvalue xsiitype="BL" value="true”/> '
¢l— €. 1.9.1 Other Case Identifiers in Previous Transmissions —>
<{/investigationCharacteristicl
¢/subject0f2>
<subjectDE2 typeCode="SUB)™>
<investigationCheracteristic classCode="0BS” moodCode="EVN"™>
{code code="3" codeSystem="2. 16. 840. 1. 113883, 4. 889, 2. k. 1. 23° displayName="nullificationAnendmentCode”/>
{value xsiitype="CE" code="C. 1.1L 1" cedeSystew="2. 6. 840, 1. 1[38R83,3,989,2,1.1,.57/
€l-- C.1.11. 1: Report Nullification / Amendment —>
</investigationCharacteristic>
</subject0E2>



<subjectDf? typeCode="SUB]™>
{investigationCharacteristic classCode="085" roodCode="EVN™>
{code code="4" codeSystem="2. 16. 840, 1, 113883, 3,989, 2. 1. 1. 23” displayName="nullificationAmenduwentReason™/>
Cvalue xsi:type="CE™>
<originalText>C. 1. 11, 2¢{/originalText>
{I— €. 1.11.2: Reazon for Nullification / Amendment -—>
{/valuer
{/investigationCharacteristie>
{/sub ject0f2>
¢subjectOf? typeCode="SUB]">
{investigationCharacteristic clazsCode="0BS" moodCode="EVN™>

<code code="1" codeSystem="2. 16. 840. 1. 113683. 3. 689.5, 1. 3. 2. 1. 12" disployName="BERl& % () “0
{value xsiitype="CE” code="]2. Ia” codeSystem="2. 16, 840. [. 1138823.3.989.5.1.3.2.1.1°/>
< g88J2. 1a: MARIES (&S
{/investigationCharacteristic> .
</sub jectGr2>

<subjectDf2 typeCode="SUB}™>
{investigationCharacteristic classCede="0B3" moovdCode="EVN™>
{code code="2" codeSystem="2. 16. 840, 1, 113883, 3,959, 5, 1. 3. 2. 1. 12" displayName="8i A" />
<value xsiitype="1$" value="201301077/>
<— gaaJ2. 2. 10 {HERER —
</investigationCharacteristicd
{/subject0f2y
£subject0f? typeCode="SUBJ">
{investigationCharacteristic classCode="0G8" moodCode="EVN™>
Seode code="3" codeSystem="2, 16, 840, 1, 113883, 3. 980, 5, £. 3. 2. 1. 12° displayNane="8E AR IZMT B3 A X b7/
<value xst!type="ED7:J2. 2. 2¢/value>
<1— e80]2.2.2! MERHBIZMI S AV E —
{/investigationCharacteristic)
</subject0f2>
{subjectDf2 typeCode="SUB]™>
CinvestigationChoracteristic classCode="0BS" moodCode="EVN">
{eode codew"47 codeSystem="02. 16, B40, [, 113883, 3,980.5, 1. 3. 2. 1. 12”7 displayName="INB§$H5E 7 5 ¥/
<value xsi:type="CE” code="]2. 3" codeSystem="2, 16, 840, 1, 113884, 3,989, 5. 1. 4. 3. L. 2°/>
<l @882, 3: MBERET F & —>
{/investigationCharacteristic?
{/subject0f2>
{/investigationEvent>
</subject>
{/centrolActProcess>
£ /PORR_INO49C16UY>
¢i-- Wessage B1 —>
i Wessage H2 ~—>
<!—— PORR_INQ49016UV —>
<I-- /PORR_IKGA9016LY >
<I-~ Message #2 —>
<Croceiver typeCode="RCY™>
{device classCode="DEY" determinerCode="INSTANCE™>
<id extension="N.1.4” root#"2. 16. 840, 1. 113553, 3,989, 2. 1.3, 14"/
<I— N.1.4: Batch Receiver Identifier ——>
{/devicey
{/receiver>
{sender typeCode="SND">
{device classCode="DEY” determinerCode="INSTANCE™>
{id extension="N. 1. 3" root="2. 16. 840. I. 113883, 3.989. 2, 1.3.13"/>
lww B 1,37 Batch Sender Identifier ——>
</devicer
</sender>
</MCCE, INZ001000V01>
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.07[@xsi'schemalocation="urn’hl7-
orgv3

MCCI_IN200100UV01.xsd'VPORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT)[@moodCode="EVNT/subjecti@type Code="SUBJ']{1]/investigationEvent
[@classCode="INVSTG' [@mood Code="EVN'/subjectOf2[@typeCode="SUBJ'I[inve
stigationCharacteristic/code[@code="11{@codeSystem='2.16.840.1.113883.3.989.5.
1.8.2.1.1271[1)/investigationCharacteristic[@classCode="OBS'l[@mood Code="EVN'

J2.1b BMAEE (@%)

]/value{@x&u type:'CE][@codeSystem“'z 16.840.1.113883.3.989.5.1.3.2.1.1' ]/@code
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XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'][@xsi:schemalocation="urn-hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT"] [@moodCode="EVN'/subjectl@typeCode="SUBJ'][1]/investigationEvent
[@classCode="TNVSTG1[@mood Code="EVN'l/id[@root='2.16.840.1.113883.3.989.5.
13.23. 1‘][1]/@extensmn
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XPath

MCCI_IN200100UV01[@ITSVersion="XML,_1.0Y [@xsiischemaLocatiqnz'urn!hl'?-

org'v3 .

MCCI_IN200100UV01.xsd' IV/PORR_IN049016UVIrl/controlActProcessi@classCod
e='CACT'][@moodCode="EVN'/subject@type Code="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'/subjectOf2[@typeCode='SUBJ l[inve
stigationCharacteristic/code[@code="2'][@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.1211[1)AinvestigationCharacteristic[@classCode="OBS'] [@mocd Code="EVN"'
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Ivaluel@xsitype="TS'l/@value
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XPath MCCI_IN200100UV01[@ITSVersion="XML_1.0'l{@xsi:schemalocation="urn:hl7-
org:vd

MCCI_IN200100UV01.xsd/PORR_IN049016UV[r]/controlActProcessl@classCod
e='CACT'l[@moodCode="EVN"/subject[@typeCode='"SUBJ'][1}/investigationEvent
[@classCode="INVSTG'l[@moodCode='EVN/subjectOf2[@typeCode="SUBJ linve
stigationCharacteristic/code[@code='3'l[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.1211[1}/investigationCharacteristic[@classCode='OBS' [@mood Code='"EVN'
Ivaluel@xsi-type="ED'l/text(
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l[@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'V/PORR_IN049016UVirl/controlActProcess[@classCod
e='"CACT][@mood Code="EVN'l/subjectl@typeCode="SUBJ'][1]/investigationEvent
[@classCode="INVSTG' l[@moodCode='"EVN'l/subjectOf2[@typeCode='SUBJ] linve
stigationCharacteristic/codel@code="41l@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.1211[1)/investigationCharacteristic[@classCode='"OBS'l [@mood Code="EVN'

:,'JZ 4 k %}:E%Bu%@ﬁﬁﬁﬁ

I/valuel@xsi: type—‘CE][@codeSystem—‘Z 16.840.1.113883.3.989.5.1.3.2.1.2')/@code
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XPath /MCCI_IN200100UV01[@ITSVersion="XML._1.0'l[@xsi:schemal.ocation="urn:hl7-
orgv3

MCCI_IN200100UV01.xsd'//PORR_IN049016UV[x)/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'l/subject[@typeCode="SUBJ'}[1]/investigationEvent
[@classCode="INVSTG l@moodCode='"EVN'l/component{@typeCode="COMP'][adv
erseliventAssessment][1]/adverseEventAssessmentl@classCode=INVSTG'][@mo
0dCode="EVN/subject1{@type Code='SBJ1[1)/primaryRolel@classCode="INVSBJ'
/subjectOf2l@type Code="SBJ'l[organizer/code[@code='4'l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20M[1)organizer[@classCode='"CATEGORY'|[@mood Code='E
VN'l/componentl@typeCode='"COMP'] [substanceAdministration/idl[k]/substanceA
dministration[@classCode="SBADM'1[@moodCode="EVN'}/consumable[@typeCode
='CSM'][1}/instanceOfKind[@class Code="INSTV/kindOfProductl@classCode="MM
AT][@determinerCode=KIND'//asManufacturedProduct{@classCode=MANU"l/su
bjectOfl@typeCode='SBJ' [characteristicl[1}/characteristiclcodel@code='1"l[@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10]I[1}[@classCode="0BS 1 [@mood Cod

e="EVN'/valuel@xsitype='CE][@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.
3'1/@code
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l{@xsi:schemalocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd')/PORR_IN049016UV([r]/controlActProcessl@classCod
e='"CACT'][@mood Code="EVN")/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode='INVSTG'|[@moodCode="EVN'l/component[@type Code='COMP'] [adv
erseEventAssessment]{1}/adverseEventAssessment(@classCode=TNVSTG'} [@mo

odCode="EVN'l/subject1{@typeCode="SBJ'}[1)/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode='SBJ'l[organizer/codel@code="4'][@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20][1}/organizer[@classCode='CATEGORY'| [@mood Code='E
VN'Ycomponent[@typeCode='COMP'[substanceAdministration/id][k]/substanceA
dministration[@classCode="SBADM'][@moodCode="EVN'/consumable[@typeCode
='CSM'[1}/instance OfKind[@classCode=TNST'}/kindOfProduct[@classCode="MM
AT [@determinerCode="KIND'/asManufactured Productl@classCode="MANU"]/su
biectOf[@type Code="SBJ'[approvall{ll/approvall@classCode='CNTRCT'] [@mood

Code="EVN'/pertinentInformation[@type Code="PERT'][1}/policy[@classCode="PO
LICY'H@moodCode="EVN'V/code[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.

4'l/@code
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XPath

(value)

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi‘schemalocation='urn:hl7-
org:v3
MCCI_IN200100UV01.xsd'}/PORR_IN049016UVIrl/controlActProcess|@classCod
e='"CACT")[@moodCode="EVN'l/subject[@typeCode="SUBJ'}{1]/investigationEvent
[@classCode=TNVSTG][@mood Code="EVN)/component[@typeCode="COMP"][adv
erseliventAssessment][1]/adverseEventAssessment[@classCode=INVSTG' [@mo
odCode="EVN')/subject L[@typeCode="SBJ'][1}/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode='SBJ'l{organizer/code[@code='4"l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.2071[1)/organizer[@classCode='CATEGORY'll@moodCode="E
VN'l/componentl@typeCode='COMP'][substanceAdministration/id][kl/substanceA
dministration[@classCode='"SBADM1[@mood Code="EVN'l/consumable(@typeCode
='CSM"1[1)/instanceOfKind[@classCode='INST)/subjectOfl@typeCode="SBJ'}/obse
rvationEvent[code[@code='21[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
ll[1){@classCode="0BS'[@moodCode="EVN/value[@xsi:type="CE'l[@codeSystem
='2 16.840.1.113883.3.989.5.1.3.2.1.5'/@code

XPath
(null

flavor)

/MCCI_IN200100UV01[@ITSVersion=XMIL._1.0'1[@xsi'schemaLocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UVIrl/controlActProcess(@classCod
e='CACT'][@moodCode="EVN1/subjectl@typeCode="SUBJ'I[1)/investigationEvent
[@classCode="INVSTG'] [@moodCode="EVN'l/component[@typeCode='"COMP'] [adv
erseBventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'][@mo
0dCode="EVN/subject1[@typeCode='SBJ'|[1}/primaryRole[@classCode=INVSBJ*
VsubjectOf2l@typeCode='SBJ'l{organizer/code[@code="41{@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'11[1]/organizer[@classCode="CATEGORY' [@moodCode='E
VN')/componentl@typeCode='COMP'l[substanceAdministration/id]{1)/substanceA
dministration[@classCode="SBADM'l{@moodCode='"EVN'//consumable[@typeCode
='CSM'[1)/instanceOfKind[@classCode='INST'l/subjectOfl@type Code='"SBJ')/obse
rvationEventlcode[@code='2"[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
1[1) [@classCode='OBSNI@mood Code=EVN/valuel@xsi:type='CEl}[@codeSystem

J2.7.1° BT,

='2.16.840.1. 113883 3. 989.5.1.3.2.1.5 ]f@nullFlavm
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn’'hl7-
orgiv3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV|[xr)/controlActProcess(@classCod
e='CACT" [@moodCode="EVN')/subject[@typeCode="SUBJ'[{1]/investigationEvent
[@classCode="TNVSTG'l[@mood Code="EVN'//statusCode/@code
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XPath

/MCCI_IN200100UV01{@ITSVersion="XML_1.07[@xsi‘schemalocation="arn:hl7-
org.v3

MCCI_IN2001000UV01.xsd'I/PORR_IN049016UV(rl/controlActProcessi@classCod
e='CACT'][@mood Code=EVN"/subjectl@typeCode='"SUBJ'[1)/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN")/componentl@typeCode='"COMP'l[adv
erseEventAssessmentl][1)/adverseEventAssessment[@classCode="INVSTG']{@mo
0dCode="EVN'Vecomponent1[@typeCode="COMP*][observationEvent[code[@code='
31[@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.10"]][1)/observationEventl@c

J2.8.1
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lassCode‘—'OBS ][@moodCode—'EVN ]/value[@x&u type“'ED']/textO
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'}H{@xsi:schemaLocation="urn:hi7-
org-v3

MCCI_IN200100UV01.xsd'//PORR_IN049016UV[xr}/controlActProcess[@classCod
e='CACT'}[@moodCode="EVN'l/subject/@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="TNVSTG1[@mood Code='EVN/subjectOf2[@typeCode="SUBJ'l[inve
stigationCharacteristic/code[@code='5'l{@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.1271[1)/investigationCharacteristic[@class Code='"OBS' [@mood Code="EVN'
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I~valuel@xsi: type“"'CE‘] {@codesystem—'z 16.840.1. 113883 3.989.5.1.3.2.1.6' ]/@code
KA OBE - S -
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XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l{@xsi:schemal.ocation="urn:hl7-

orgv3
MCCI_IN2001000UV01.xsd')/PORR_IN049016UVIrl/controlActProcessl@classCod
e='CACT'}[@moodCode="EVN'l/subjectl@typeCode="SUBJ'|[1)/investigationEvent
[@classCode="INVSTG1[@moodCode="EVNI/subjectOf2[@typeCode="SUBJ'l[inve
stigationCharacteristic/codel@code="6'l{@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.1271[1)/investigationCharacteristicl@classCode="OBS'l [@mood Code="EVN'
Ivaluel@xsi: type“'ED ]/text()
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'1[@xsi:schemal.ocation="urn:hl7-

org:v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[x]/controlActProcessl@classCod
e='CACT'][@moodCode="EVN'/subjectl@typeCode='SUBJ')[1}/investigationEvent
[@classCode="INVSTG[@moodCode="EVN'l/component{@typeCode='"COMP'][adv
erseBEventAssessment][1}/adverseEventAssessment(@classCode="INVSTG'[@mo
0dCode="EVN'V/component1{@type Code='COMP'][observationEvent[codel[@code='
4'[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10')1[1)/observationEvent[@c
lassCode="0BS'l[@moodCode="EVNT/valuel@xsi:type="ED')/text(
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XPath

/MCCI IN20010OUV01[@ITSV91 sion="XML_1.0'l[@xsi:schemal.ocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsdI/PORR_IN049016UVIrl/controlActProcess(@classCod
e='CACT])[@moodCode="EVN/subject[@typeCode="SUBJ'[[1}/investigationEvent
[@classCode="INVSTG'l{@mood Code="EVN'/component[@type Code='COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="TNVSTG'I[@mo
odCode='EVN'/component1[@typeCode='COMP'][observationEventlcodel@code="
57[@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.10'111[1}/observationEvent{@c
lassCode="OBS"[@moodCode="EVN1/valuel@xsitype="EDl/text(
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XPath /MCCI_IN200100UV01[@ITSVersion='"XML_1.0'][@xsi‘schemalocation="urn:hl7-
orgv3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcessl@classCod
e='CACTT@mood Code="EVN'l/subjectl@type Code='"SUBJ'1[1}/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN')/component[@typeCode="COMP'] {adv
erseEventAssessmentl[1)/adverseEventAssessment{@classCode="TNVSTG'][@mo
0dCode="EVN/componentl[@typeCode="COMP'] [observationEvent{code[@code="
6'll@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'}][1]/observationEvent[@c
lassCode="OBS'] [@moodCode='EVN‘]/va1ue[@xsiitype=‘ED']/textO
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XPath MCCI_IN200100UV01[@ITSVersion="XML_1.0'l{@xsi:schemaLocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'/PORR_IN049016UVixl/controlActProcessl@classCod
e='CACT][@moodCode='EVN/subject@type Code="SUBJ'1[1)/investigationEvent
[@classCode="INVSTG'] [@moodCode="EVN'/componentl@type Code="COMP" [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=INVSTG1[@mo

odCode="EVN'l/subject 1{@typeCode="SBJ'l[1]/primaryRole[@classCode=TNVSBJ’
l/subjectOf2l@typeCode='SBJ'l[organizer/code[@code='4"l[@codeSystem='2.16.840.
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1.113883.3.989.2.1.1.201[1)/organizer[@classCode="CATEGORY)[@moodCode="E
VN'l/component(@typeCode='COMP'[substanceAdministration/idl/substanceAd

ministration[@classCode="SBADM'] [@mood Code="EVN'l[consumable/instance Of

Kind/kindOfProduct/asSpecializedKind/generalizedMaterialKind/code/originalTe
xt][1}/consumablel@typeCode='"CSM"[1}/instance OfKind[@classCode="INST'V/kin |
d0fProductl@classCode="MMAT}@determinerCode="KINDV/asSpecialized Kind[
@classCode="GEN'[1)/generalizedMaterialKind[@classCode="MAT'][@determiner

Code="KIND'/code/original Text/text(

T L5

R LT EREIER B0 R HE R T B,

e | BREEESERRE L TVARWESITE, EMETo L,
— &R 2N
TrAE YL
XPath /MCCIL_IN200100UV01[@ITSVersion="XML,_1.01[@xsi:schemalocation="urn:hl7-
org-va

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr}/control ActProcessl@classCod
e='CACT){@moodCode="EVN'/subject[@typeCode="SUBJ'l{ 1)/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN'l/component{@typeCode="COMP'1[adv
erseEventAssessment][1)/adverseEventAssessment{@classCode="INVSTG'][@mo

odCode="EVN'l/subject1l@typeCode="SBJ|[1)/primaryRole[@classCode=TNVSBJ'
VsubjectOf2f@typeCode="SBJ'Horganizer/codel@code="1'l[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'1[x)/organizerl@classCode='CATEGORY ' [@mood Code
="EVN"/component[@typeCode='COMP')/observation[@classCode='OBS1[@mood

Code="EVN'l[code[@code="T"][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'

J2:13%.2 ﬁ&ﬁéﬁﬁ

]}lvalue[@xm type—‘INT’]/@value '

HH ‘?ﬁ*“kkﬂ E:”&‘i‘ E% u”ﬂﬁéﬁ’bfwéi’fﬁﬁﬁ%‘ﬂﬂ&’}“é

[y AR ﬁ#@@ﬁﬂ%ﬁmbfwéﬁAﬁi HIEERT D LN TED, BB, B
EREZRE L TWRWESICHE., BREBHEIFCEEL O REEE2RET D
:&oW”@%ﬁ%ﬁﬂ@%?@ﬁ%wﬁ%%ﬁ%kTé%@&\ﬁ/??[@ofﬁ
sz,

— &8 1000J

A B HFE#E

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0"][@xsi schemalocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd')//PORR_IN049016UV[r]/controlActProcessl@classCod
e='CACT][@moodCode="EVN'/subject(@typeCode="SUBJ'1[1)/investigationEvent
[@classCode=TNVSTG'][@mood Code="EVN']/component{@typeCode='COMP'l{adv
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erseBventAssessment][1}/adverseEventAssessmentl@classCode="INVSTG'] [@mo
odCode="EVN'/subject1{@typeCode="SBJ1[1]/primaryRole[@classCode="INVSBJ"'
l/subjectOf2[@typeCode="SBJ'l{organizer/codel@code="1"1[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11']] [r)/organizer[@classCode="CATEGORY ' [@mood Code
="EVN'l/component(@typeCode='"COMP']/observation[@classCode="OBS'[@mood
Code="EVN'][code[@code='81[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'

]]lvalue[@x51 type—’ED ]/text()

ﬁ@ﬁ%

e ——

Lk B TBRAET G HEZ R L TWABEITI, RiREER T8 TE S, 2B, B9
E/ETAERHE L TWAWESICE, BIKs Lo #Egko— MEZBRL TR TS
L,

T 5 IN

HrEE Bk 5 28R

XPath /MCCI_IN200100UV01[@ITSVersion='XML_1.0'1[@xsi:schemalocation="urn:hl7-
orgv3d

MCCI_IN200100UV01.xsd'I/PORR_IN049016UV|rl/controlActProcess(@classCod
e='CACT'][@moodCode="EVN')/subject[@typeCode="SUBJ'l[1]/investigationEvent
[@classCode="INVSTG' ] [@mood Code="EVN'l/componentl@typeCode='"COMP'l[adv
erselBventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'] [@mo

0dCode="EVNl/subject1[@type Code="SBJ'][1)/primaryRole[@classCode="INVSBJ'
/subjectOf2[@typeCode='SBdl[organizer/code[@code='1"1[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'THrJ/organizerl@classCode="CATEGORY'l[@mood Code
='EVN'//component[@typeCode='COMP"/observation[@classCode='"OBS [@mood

Code='"EVN'{code[@code='91l@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
Ivaluel@xsi:type="CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.7)/@cod

e

J2.18.r.4 " w&w;ﬁm@ﬁm

IH H *ﬁﬁ:@?‘““ﬁﬁﬁﬁz}%ﬁiqﬂﬁﬁfﬁ@%ﬁﬂ?ﬁméjﬁ"
T IR a— FETIR 7= A B THYENIVAESIT MTrue=F] %, WARWVEEIT
[False={E; ZERTDHZ &,
T 5 Bl 7—L B 10A
FrAE true=+4
false=1%
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XPath

/MCCI_IN200100UV01[@ITSVersion="¥ML,_1.0'l[@xsi:schemaLocation="urn:h17-
org-vd
MCCI_IN200100UV01.xsd/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT") [@mood Code="EVN'l/subject(@typeCode='SUBJ'][1)/investigationEvent
[@classCode="INVSTG1[@mood Code="EVN'}/component[@typeCode="COMP")[adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG']{@mo
0dCode="EVN')/subject1[@typeCode='"SBJ'1[1}/primaryRole[@classCode=TNVSBJ'
VsubjectOf2l@type Code="SBJ'l[organizer/code[@code="1"1[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.117 [x)/organizer[@classCode='"CATEGORY'] [@mood Code
=EVNl/component[@typeCode='"COMP'}/observation[@classCode="OBS[@mood
Code=EVN'l[codel@code="10'l{@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.1
0]/valuel@xsi:type="BL'l/@value

Jo1di Fa - B

R . YRS RIS R RIREE D b TR CE 2 b 0T HE A

T8 B 3
Fh, T OMOBEITE L T 5, ICSRIEA D EL2.1b BWEA ./ AEFFH MedDRA
o— R) LS S, BIWEREICEM - BEEE A ET 5, (Tt ol EEED.
ABWEBNRD (8. FTOMOERBHERSHREICRE L TOEERE) o (1) 2587
AT E,)

ol B o— MEPLBIR L TRNT D &,

T— s H IN

FAE 1= 3R %N
2= BEAN

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'][@xsi:schemaLocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'VPORR_IN049016UV/[rl/controlActProcessl@classCod
e='CACT" [@mood Code="EVN'l/subject[@typeCode='"SUBJ'}[1)/investigationEvent
[@classCode="INVSTG' [@moodCode="EVN'l/component[@typeCode='"COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode='INVSTG'][@mo
odCode="EVN'l/subject1[@typeCode='SBJ'{1)/primaryRole[@classCode="INVSBJ'
VsubjectOf2[@typeCode='SBJ[observation[id]lcode[@code='29[@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19'I1[i)/observation[@classCode='"OBS' [@mood Code=
"BVN/outboundRelationship2l@type Code='"PERT"] [observation/codel@code="11"[
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10']][1]/observation[@classCode=
10BS'|[@moodCode="EVN'l/value[@xsi:type='CEl[@codeSystem='2.16.840.1.11388

J215r ARE

3.3.989.5.1.3.2.1.8')/@code

HH AL

FERE R UAERERE IR <. ABIB O CRENE R ARSI T HBA,
AREETT,
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e | Bz FrL@ERa- FEBERLTRETL 2 L.
WRBEDHS, BT/ IMEBESORBE XL, RBREREFTOELZRTR T L,
i, SEEBEBEOHE, BEEToETRETLIZ &,
HEBRSICRWT, EHEORMYUBIC L > TE—OEERZENEHE. 1 2ORB
HELLTHELTELELLY, ZOBICIIAKREY 1L FBICEREL. £V LEFH
%LT,:%QH%K%®MQ&%@%%ﬁ¢6 &
#% B, B—0HBEIME TR SN BEITE, SHAKEIRSWTENRET 5,
DEEIZ . BIERE D% #Hféw@mﬁmﬁﬁ%.%ﬁﬁT6 L, HZWmE
ARENEEHLIBETBVRLEHATLZ L,
. HFEOHEBRNERRRIESIL. BIBRELTDHIIL,

F— 2 24

Al IS0 3166-1 7L 7 7-2 DE=—F

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.07[@xsi:schemaLocation="urn:hl7-

orgv3d
MCCI_IN200100UV01.xsd'I/PORR_IN049016UV([rl/controlActProcessl@classCod
e='CACT'H[@mood Code="EVN/subject@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG[@moodCode="EVN/referencel@type Code="REFR[docu
ment/code[@code="2[@codeSystem="2.16.840.1.113883.3.989.2.1.1.27']1x}/docum
ent[@classCode="DOC' [@moodCode="EVN'l/participation[@typeCode='"AUT")/assi
gnedEntityl@classCode='ASSIGNED |/representedOrganization[@classCode='OR
G'll@determinerCode="INSTANCE')/asLocatedEntity[@classCode="LOCEVlocatio
nl@classCode='COUNTRY'l[@determinerCode="INSTANCE/codef@codeSystem=
'1.0.3166.1.2.2/@code

J2.16 HEPEOER .

W%%%&G%@%@%%@%é\‘%ﬁ%mﬁﬁwﬁm%TT

I H 7B

Rk 2L

F—y 500d

FrEE B H el

XPath MCCIL_IN200100UV01[@ITS Version="XML_1.0'l[@xsi’schemaLocation="urn’hl7-
orgv3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr}/controlActProcess[@classCod
e='CACT'][@mood Code="EVNV/subjecti@type Code="SUBJ'|[1)/investigationEvent
[@classCode="INVSTG)[@moodCode="EVN'/component{@typeCode="COMP'l{adv
erseEventAssessment][1)/adverseEventAssessment[@classCode='INVSTG' [@mo
0dCode='"EVN'l/component1[@typeCode='COMP'}[observationEventlcode[@code="
121[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10"]]][1)/observationEvent[@

J20Tx MBTRONE

classCode= ‘OBS ][@moodCode—'EVN ]/value{@xm type—'ED’]/textO
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R B #LEA e EORE. TBRRRE ) UL TPERRRER 5] OEFRT,

FOlEE | AL

F—E 1IN

e 1=ERR R, WT ot
2=FRERRAGR R

XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l[@xsi:schemalocation="urn:hl7-
orgv3
MCCI_IN200100UV01.xsd'[/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'I/subject(@type Code='"SUBJ'|[1)/investigationEvent
[@classCode="INVSTG[@moodCode="EVN'l/reference(@typeCode='"REFR'][docu
ment/code[@code='2'1[@codeSystem="2.16.840.1.113883.3.989.2.1.1.271][x}/docum
ent[@classCode="DOC" ]{@moodCOde—'EVN ]/tltie/texto

J2:18.1 EEHHRL ~ S

@E%ﬁﬁﬁ ICSR DZAEHE OMMkE & RT,

E{a ke MSIATEOE AN EIE R BRI S L ol 5,

T—5 8 100

A =l ERE s

XPath /MCCI_IN2001000UV01l@ITSVersion="XML_1.0'1[@xsi:schemaLocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT'][@moodCode="EVN'l/subject|@typeCode="SUBJ']|[1]/investigationEvent
[@classCode='INVSTG"[@moodCode="EVN'l/subjectOf1[@typeCode="SUBJ'][cont
rolActEvent/primarylnformationRecipientl[1)/controlActEvent[@classCode='CAC
T [@moodCode="EVNT/primaryInformationRecipient[@typeCode="PRCP')/assign
edEntityl@classCode="ASSIGNEDV/representedOrganization[@classCode='"ORG']
[@determinerCode='TNSTANCE' ]/name/textO

J2.18.2 BEEWL

TH B A ICSR M3 {E% a)}ﬁ%% ZART,
FCN TR HERLTHT 5,
o 5 Y 100J
PR B EERi
XPath /MCCI_IN200100UV01[@ITSVersion=XML, 1.0'l{@xsi:schemal.ocation="urn:hl7-
org-v3

MCCI_IN200100UV01.xsd'J/PORR_IN049016UV[r)/controlActProcess[@classCod
e='CACT'}@moodCode="EVN'l/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode=INVSTG'{@moodCode="EVN"/subjectOf1[@typeCode='"SUBJ'l[cont
rolActEvent/primarylnformationRecipient][1]/controlActEventl@classCode="CAC
T1i@moodCode="EVNT/primaryInformationRecipient(@typeCode="PRCP'//assign
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edEntityl@classCode='ASSIGNED'V/assignedPersonl@classCode="PSN'l[@determ

J2.18.3  ZiFHIE T

inerCode="INSTANCE'l/name/prefix[1]/text(

ICSR OF{5E D% =T,

HEHHA

SCl I R OBEEE O 25T 5,

7yl 100J

HFEE B HEE L

XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'1[@xsi:schemalocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'/PORR_IN049016UV{rl/controlActProcess[@classCod
e='CACT'l[@mood Code="EVN'Vsubjectl@typeCode="SUBJ'[1V/investigationEvent
[@classCode=INVSTGl@mood Code="EVN'l/subjectOf1[@typeCode="SUBJ"|[cont
rolActEvent/primarylnformationRecipientl{1l/controlActEventl@classCode='"CAC
T'l[@moodCode="EVN')/primaryInformationRecipient{@typeCode=PRCP'V/assign
edEntityl@classCode="ASSIGNED"/assignedPerson[@classCode="PSN'l[@determ
inerCode="TNSTANCE'/name/family[1]/text(

J2.18.4 R{ZHF A4

H H EHER ICSR OE{EH DL & T,

A BB ER DAL XM 5,

7 — 5B 100J

B B Bl

XPath /MCCI_IN200100UV01{@ITSVersion=XML_1.0'[@xsi:schemalocation="urn:hl17-
org:va
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e="CACT'][@mood Code="EVN'l/subjectl@type Code="SUBJ'I[1}/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN"/subjectOf1[@type Code="SUBJl [cont
rolActEvent/primaryIinformationRecipient][1)/controlActEvent[@classCode='"CAC
T'l@moodCode="EVN']/primarylnformationRecipient[@type Code="PRCP')/assign
edEntityl@classCode='ASSIGNED/assignedPersonl@classCode="PSN{@determ
inerCode="INSTANCE/mame/given[1l/text(

J2.19 %1 ‘ o

TH H A TR E

B A& L

F— 5 10000J

HAE B H RR

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l1{@xsi:schemaLocation="urn-hl7-
org:v3

MCCI_IN200100UV01.xsd//PORR_IN049016UV[rl/controlActProcess@classCod

14




e='CACT"][@mood Code="EVN'/subject[@typeCode="SUBJ'][1]/investigationEvent
[@classCode="TNVSTG'H@moodCode="EVN'l/componenti@typeCode="COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=INVSTG' [@mo

0dCode="EVNVcomponent1[@typeCode="COMP'][observationEventlcode|@code='
13" {@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10']]][1}/observationEvent(@

classCode='0BS'[@moodCode='EVN'}valuel@xsitype="EDT/textQ

J220 WE2 o

TH H 38 TiHER

Eo WaR 7L

F—s 10000J

FrAE B HEHR

XPath /MCCI_IN200100UV01[@ITSVersion=XML,_1.0'l{@xsi:schemaLocation="urn’hl7-
orgv3d
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r}l/controlActProcess[@classCod
e='CACT']{@mood Code="EVN'/subject@typeCode="SUBJ'|[1)/investigationEvent
[@classCode="INVSTG1[@mood Code="EVN'l/component[@typeCode='"COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode='TNVSTG[@mo
0dCode="EVN'l/componentl[@typeCode='COMP[observationEvent[code[@code='
14'[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.101][1)/observationEvent(@
classCode='OBS[@moodCode="EVN'l/valuel@xsi:type="ED'l/text(

HEHA TimE R

ROk B 2L

7 —H Al 10000dJ

TFEE =Rzt

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[{@xsi’schemalocation="urn‘hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT]@moodCode="EVN'/subject[@typeCode='"SUBJ'][1}/investigationEvent
[@classCode="INVSTG' ] [@moodCode="EVN'l/component[@typeCode="COMP'][adv
ersefventAssessment][1)/adverseEventAssessment[@classCode=INVSTG'|[@mo
0dCode=EVN/component1[@typeCode='"COMP{observationEventlcode[@code='
157 [@codeSystern='2.16.840.1.113883.3.989.5.1.8.2.1.10'11[1}/observationEvent|@
classCode="0BSl[@moodCode="EVIN'l/valuel@xsi:type="EDl/text(

RE R

H B RiA FHERE

il AiE 2L

4 Hl 10000d
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E)z:Eiwad

XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'][@xsi:schemaLocation="urn:hl7-
org:v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/controlActProcessl@classCod
e="CACT"][@moodCode="EVN')/subject[@type Code="SUBJ][1)/investigationEvent
[@classCode="TNVSTG'l [@mood Code="EVN"l/component[@typeCode='"COMP"] [adv
erseBventAssessment][1]/adverseEventAssessment[@classCode='INVSTG@mo
0dCode=EVN'l/component1[@typeCode="COMP'] [observationEvent{code[@code='
16'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.101]1[ 1]/observationEvent[@
classCode='"OBS'][@moodCode="EVN/valuel@xsi:type="ED'/text(
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